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LELAUGNME 3NN

UGwhnpy phihwG punjugwd t npujuiwi b puiwiwiw wlwihgh
pwdhGGbphg: Npujwywl wiwthqp wupqmd b wb bwpgp, pt hG; wmuppt-
nhg (Ywd hnlGuphg) t punjwguo wiunhqynn Gnipp, huy puGwiwiwé w-
Gwihgh oglimpjwip npnymd GG wyn wwppbph (hnGGph) pwiwywywl yu-
pmGwympymGp:

UGwihwnhly phdhwi L, dwuGwynpuwuby, puwlwjuywl wiwhqp, jw-
thwquwlg Ywplnp GuGwympiniG mGh ghnmpywG b wpymbwplpmpjwl
hunjwp: Lwlwjuwiwl wiwhgh ogimpjuldp mumiGwuhpmd GG dpGnpnp-
wp, oph, tipyph Ytnlh pwnwnpnipniGp, htmbnd 6 wpnmGupbpwijub
wpngliuGtph 6hyn ppwlwmd, jwwnwpmd b6 uhGphiqud nhnwimpbph,
wwpwpnwimptph L wyjGh JwppnipjwG npnynid:

Luwjupwl pwlwlwljmi wGunhqp uhubp ytnp t npuiwijuG wiunhgh
oqlmpjwip ujupqbi wewihqynn Ginh npuitpuwi pununpmpjmép, nphg ht-
wnn pGunply dhq hiunuppppnn wwpph (inGh) pwiwljwyw npnyiwG tnuGwyp:

LUTLULULUL TLULR2D BAULUGLERC

Lwlwjuywi wiwhqp punjugwd t tptip pwdhGGhphg. 1) wGwihgh
phvhwliwG inwiwybp, 2) wGunhgh $hqhjw-phihwlpub tnutwyGbp, 3) w-
Gunhqh dhghjusjul tnubwyGhp:

UGwihgh phihwlwé inuGwyGhpp hptiGg htppht pwdwlynid LG bplym
hipwpwdGh. gpuyghywthwiwb L Swywiwywihwlijwb:

IU. Qpughywhwliwb (owihG) wwhqh niypmd npoyynn wmwppp
(hnGp) momyphg Guinbglimd &6 hwiwwywwnwuuwb ndupumd thwgnp-
Jwi dlny, Gunjwopp dhpunpmy, Jublmd, jnpuglntd (Quwd hhwuglnug) L
Yynmt bG6: Uwnwgywo Gunjwdph quiqywoh L phdhwywl pwGwdlh hhdwa
Ypw juwnmwpmy 6 bwyywpy L npnymyi wlwhqynn Ginyymd mjjwy hnGh
wwpmGwympymGp:

GapwnnkGp NaCl -h dt9 CI' hnGh wwpmGwlynmpmGp npnpbim hundwp
wyl Guwnbgpty 4G Ag’ hnGGhpny L winwgly AgCl-h Gunwdp: my.q = 0,0536
q, Mugc = 0,1290 q: Gpb GYwinh mGLGwdbp, np 1 dm AgCl-md wwpmGuy-
ymu GG 1 dnj CI' hnGGLp, www

143,3 ¢ AgCl-3545qCI
0,1290q - x

x=0,1290 q - 35,45 q / 143,3 q = 0,03192 ¢



£wGh np wiwhgh hwiwp Yipgywd NaCl -h qulquon 0,0536 q t, waju

0,0536 q NaCl - 0,03192 qCI'
100q-x
x = 0,03192 q - 100/ 0,0536 q = 59,6% Cl

Nputiugh gpuyghswhwhwb npoynuip junwmih hwenn, wihpuwdbyn t°

w) Npnynn hnGp wwnp t Gunh pwlwhwybe: pw hwiwp pymd t
GuwnbtgGnn ntwywmhyh dnunwynpuytu 1,5-wupwnhy wytignly, bpbh pwgun-
ynd LG wjGuhuh nbwyghwlbp (Yndwbpuwgnpugnui, ppm wnh wnwow-
gnd U wyG), npnGp Ywpnn GG wnwe phphy rhwiummlh wdbigmimy
Guunywdph imonud:

p) Guunjwoph Yonynn dlp whwnp t hGh fuhun npoywih pwnunpmp-
w6’ hwiwwwwmwuhaubh phdhwlywl pwGuwdLhG:

@) Gunywdpp whiwnp b 1hGh phihwwybu dwpmp L htzn Shpnpynn:

12, Swyjwpuywhwywl (GwjwpujhG) wGwihqp hhdGywd & nbwlghw)h
ypw dwhiujwd nhwqtGinh hwjwnGh YnGgaGnpughwiny momjph dwywih
swithdwG ypuw:

Ybhpp pipjwd pinph wwpmGwympjul npnymip Yhpuyph wnmy Yu-
phh t yuwwwph Gwl wjuybo Ynydwo mhupdw oqlmpjunip, wjuhGp6 yw-
thtiny CI' pnGGtph Guwntgdwl hwiwp wihpuwdbn wpowph Gpunpwwuh
hwynGh YnGgtGunpwghwjiny [ndomjph dunjwypn:

bGpwnptGp NaCl-h Gnyl6 Yynjwopp opmd jmotinig htwn pinphgh
funbgiwb Ypw dwjuuyb) t AgNO;-h 18,00 dj ymdmyp, nph 1 d-md wwpm-
Gwyynud k£ 0,0085 q wn: LywGwynud t, np wipnne ntwyghw)h Ypw Swhuu-
ybip & 18,00 v} - 0,0085q/4 = 0,1530q AgNOs: Cuwn nbwljghwph

NaCl + AgNO,; = AgCl | + NaNO,
1 dnj CI' -h Guwnbgdwl hwdwp rwhuymy t 1 dny AgNO;, mphiG Yupb-
thtanty

35,45 q CI' - 169,9 g AgNO;4
xq-0,1530q
x=23545q.0,1530q/169.9q=0,03192q

Nphg htann, hGyubu Yaptaw, hwpdty Cl -h inynuwyhG upupm GuympymGp:

Bujwpwyunhwlub tnulwyh wikGwité wnwytimp)mbp wlwihgh h-
pwiwlwgiwG dbd wpugmpymG6 t, npp Yuplnp yunhwGhy t, Gpb Junnwp-
ymd t, tGpwnphGp, wpymGwpbpwlwl wpngbuh Ypuwbulymau:

UGwihgh dhghlw-phihwiwl tnubwyitpp nupdjwy hhiGjwd bl ph-
thwijwé ntwighwltph Ypw, uwlw)l wjiu ghypmyd yjunhymy t nbwlyghwjhb
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mnbygnn npbt dhqhjwlywlG qnponGh hnhnfumpymbp, ophGwly mom;ph
qnyGh, tiijwpwhwnnppujwinpjwi jud ynnbGghwih hnthnjumpmGp L
wy)|G:

UGwihgh wjl nuGwyltpp, npnGp hniGywd 6 npnywyh phdhwljwi
nbwlghwGbph htnlwlpny wGunhqynn bwiwywpgh dhqhlwlwl hwwn-
Ympjwl hnthnjumpjwl swihdwG ypuw, Ynyynud b6 dhqhyw-phihwywa tinw-
GwyGbp: Upwlg dbg 6 dnfind wlwhqh oupnpuljuil nubuyGhpp (tih-
upnl uwblijpnpw) wlwihq, wpunppghnG wybtlipnpu; wiwihq, ynwihGhught-
wmwhl Jud pymnphugbluiughG wlwihq, wnuonpwywhwYywl wiwihq, pn-
gh dnunditwmphw L wy6), hjnpuphihwiwé tinuiwyibpp (btipupwg-
pwypywhwlwG wlwihq, wnnbGghwywhnpmb, wdubpw;whmpima,
Ynpu-wiybpwsuhmp)mG, jmpbuwywhmpimb b w))G), ppndwwmogpubhw-
Ywl wiwihqg (mGunhnjuwGwyu)hG, Gppwybpum, quiquihG, quq-htinnijw-
JhG, htnniju)hl ppodwinngpuidhur b wyG): UGwihgh dhqhlw- phihwywi
tnubwyGbpp wyph b6 pGYlGmd pwpdp qquymbmpjudp, §unmpjudp L w-
pugmpjwip:

UGwihqgh dhghjwlwG tyubwyGlpp hhdGwd b6 wlwihqynn Gymph
npbt phqhjwlwi hwwlmpjwl swhiwb ypw: Uju nbypmy npny tnubwly-
Gbp pny) GG wwihu hunmwpb) wliwhq wowGg Ginp pwjpw)tint L hinwyn-
mmpjul Ypw (ntlnghGdpymnpliugGmwihi wlwihq, nunhnwlynhyjwughnt
wlwihq L wyG):

Lwliwuywui wiwihgh pjuphyjwd tnuiwyitphg dbGp wnunty hwa-
quiwGnpbG YpGGwpYtlp wliwihqh dwwiwywthwywb bnwGwyGbpp:
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ouuLuUuUoULUL ULULKQP ENME3NILL

Sunjwiwswthwlub wlwihq ynyynud t puwGwhwiwé pihwliwi ww-
thgh wyG tnuGwyp, npp bhiGwd t wjw pwGwlynipjudp npnyynn Gymph
htwn nbwlgbym bwiwp wwhwGeynn nkwimpyh hwjnGp YnighlGnpughw-
Jny 1monyph Swyjwih yunhdwb Ypw:

Gnwlwyh tmpymGp ujwlnui § Gpwlinud, np npnpynn U Gymph 1mdmy-
phG wuwhéwlwpwn wytjuwgimyi t6 2 pbwliwmphth hwpnGh YnGgtGnpuw-
ghwjny mtdmjp wjGpwl, dhG;k npw pwlwlympymbp nwnGw npnynp U
GymphG hwiwpdtp: Wyu gnpdnnmpymbp Ynpimud £ whwnpmd: U)6 uwmwp-
ymd £ wpwq, dh pwGh pnuybned, h mwppbpmpjmG qpuypswhwlub wiwih-
gh, npp wnlmd t dwdbp, optip: U)G wwhp, npp hwiwywwnwupuwlmy t
ntwlghwjh untlupndtnpwijuG hwywuwpiwGp L nph wwly pupupbgymd
t nbwywnhyh momph wytkjmgnidp, Ynypymd b hwdwpdipmpjub Yhwn Jud
whnpdw( YbpeGuytin: LtipghGu npnyymad & mhwnpynn imomyph qnuyGh thn-
thnjumpjuip jwd wpny pljwiynn npbt wy wegubwiny (Gunywoph
qnyGh thmpnfumpmG, Gunjwoph Yymugmyughw b wy6):

Swywjwwthwlwh whwihqp kp 62nnipjundp dh thapp qhenud t quuiyh-
swihwiwl tnwGwyhG, pwih np wiwhwhjuiwb Ytepnyg Yonmdp hGupw-
yop L wnwyby dho 6wmmpjwip hpwijwGwglh) pniptnnyg dwywgh swhiwb
htw hwitdwwnwd: Uwluw)G Shyw, dwipuyphhn w)uwwnwlph nhujpmd
wyn wwppbpnipymdp Yupbh b Gyuwquaqm)Gh hwugGl] L hGwpwynpmpjwb
ntypmd npnymup YJupbh t junmapt; wykih wpwgq Sunjwpuswihwiwi b-
nubwyny:

ouduULUUULUL UL ULPQNRT YhrUNdN1
neULShULELRY LEATUSUSYN MU L2UEN L

SunjwjwyuhwliwG wGwihgh Ywplnp wnwGéGwhwnlympymbGtphg
byl wyG t, np mhunpiwl dwiwlwly wtnp t wytjwgyh ntwgqtGwnh 6hywn
wyGpwl pwlwympymi, npp hwiwwwnwuhiwGmy t nbwlighwih hwyw-
uwmiwGp U phihwwbu hwiwpdbtp t npnpynn Gymph pwlwympjubp: Wju-
wtithg httmlmd t, np whwpiwG dwiwbwy wihpwdhyn t hGwpwynphl
swth dko d2nmpjwidp Shpub] hudwpdtpmpjwi Yhunp:

Npny nwypbpod pu hGwpunnp t 2Gnphhy Gpw, np gmGuynp nbwywh-
yp ntwlghwih pGpwgpmy thnjumd t qmylp: OphGwy, FeSO4-h ddpujwb
6



ppUny ppytgpwd momypp KMnO,-h momypmy wphwpbjhu pipwimd t
htwnljw) ntwiyghwb’

5Fe?” + MnO, + 8H' = 5Fe’* + Mn*" + 4H,0,

nph htwmlaubpny KMnO,-h jmpuwpwGyimp wybjwgpwd Yuph wylpwn-
pnptiG gmGwqplynud t: Pwyg htlGg np wipnng Fe’*-p opuhnuiGnus t Fe**-h,
KMnO4-h imonyph dbly Ywph wybigmyp momypp Gupymd t dnpm pug
qjiny, npG ) gnyg t wwyhu, np mhwpmip whwp t wjwpwly;: Uwlw;l
w)l wywpmimd t ny pt 6hyin hudwpdipmpywl Yhnmd, wy; nhwynhth
dby Ywph) wdtigmyh wejwympjwdp, wivhGpG whwnpiwi YipeGuytnp sh
hwiplyimd hmdwpdtpnmpywl Ytnh htin: Upw htnlauGpny wnwg t quihu
wjuyybu Ynydwd mhnpdwl ubuuy:

PpYw-hhiGwjhG nhmpmiGhp yuwnmwpbihu npopdwi wdwpnp opn) G-
im hwiwp mdmyphl wybpugimy L6 pwidnu, HtiGndpuwibha, dtphy Gwpt-
pwgnyG Yud wy Gymphp, npnlg qmyGupp ppyw)hG L hhdGw)hl dhpwyw)ph-
pmd wmwppbip GG LYwG Gymptpp, npnGp wmhnpiwl pGpwgpmy Ypmd bl
htipwn pGYwpinn hnhnjumpymb L poiy GG mwihu $hputy hwdwpdbpmp i
Ybwp, Ynyymu GG pinhYwwnnpGlip: Uwlw)G ny ponp piupipmd t hGw-pw-
ynp hwdwpdtipmpyuG Ytinh 8hywn npnynuip: Ujunnbnhg hbinlmad t, np wGw-
thqh dwjwjwswhwywi tquGwyh Yhpundwl bhwdwp wibhpwdtpn wwj-
dw@ t hGg-np dLny hwidwpdtpmpjui Yanh Phpudwl hGwpwiynpmpimbn:

UGhpwdtm wywjdwé t nbwyghw)h puwlwywijui ppwugpn:

Swyjwpmswihwiwui wiwhqmd Yupth t oquugapdty dhwyl pujw-
pwp wpwgmpjwip pGpwgnn nbwyghwGhpp:

UGhpwdtinn t, np wybjugywd nbwljmhyp dSwhwdh dhwyé npnpynn
Gymph htwn hnjuwgnbtim ypw: Uy Ytpy wuwd, mhunpiwG pGpugpnd
qutinp t ppwlw6 YnniGwyh nhwmyghwbtn, npnlp Ywpnn 6 wqnbk; npn)-
dwl 6unnmpjwb Jpw: Ghow GnyyG6 Yhpy niomjphg whwp t pugulwbt wy6
pninp Gymphpp, npnGp Juwpnn b6 huwGqupt) nhwyghw)h wGhpuidtyn nn-
nmpjwip pipwGwymb Juy by hwiwpdbpmpyw Yhnmh dhpudwip:

ouduLu2uUoULUy UvlULh2h GAUVUYLE S
Huugurenrur

Sunjuwsuwhwliwl wiwhgmd yhpwnynmd GG mwppbp whyh nbwy-
ghwltp: Gpt hinip pGymGhlGp mhnmiwG dwdwGuy ppwgnn nhwlghwjh
pGnypp, wyw dwjwpwswhwlwb npnynuiGhpp Ywpbih t puedwGhy hbwnbjun
hhiGwlyw6 tnuwGwyGhnh. ppYw-hhiGuyht mhinpnuiGop (shqnpugiwG tinw-
Gwl), Gunbgiw U YnduyipuwgnpugiwG bnwlwlGhp, opuhnuguiwG-ybpw-
YwGqlwb (Ypopu) tquGuyGtn:

fopw-hhiGwhG whnpmiGhph pudimyd pGnqpydwd b6 ppom-hinip thn-
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juwmgntgnipjuG Ypw hhdGwd pmynp npnnudGhpp.

H'+ OH = H,0

EpmGtpp npnymy GG hhdph monypny wmhwnptiny (hhdipwywhmpimb
jund wijwihdtwnphw), hhdpbpp npnpmd bG ppyh momypny wnpnphiny
(ppjwywthmpymG jwd wghnhitwmphw): Uyu bqwGuwyny Yupbih t opnpty
poyy ppoiGliph L pouyy hhipbph wntipp, hywbu Gul npulg htin tinfuwqgnon
GympLpp: bpt wlwihqymi b6 opqwGwywl ppmbtp L hhipbp, hwéwlu
opwjhG momypGuph hnfuwptl ogunwgnpdomu bG ny 9pwyhl mohyGbp:

Luntigdwl L §ndwjipuwgnjugiuG tnubwylibph db dwnlinmd &6 w)l
owyjwjwywhwlywl npnymiGtpp, npnGp hhdGywo LG npnyynn hnGp phy m-
otih (djwpwimo) shwgmpjub dluny Gunbgllym Yud phy nhungynn Ynduy-
1epup Ube Yuwtym ypw: Upwlghg wnwybi Yuwplop b wpdwpwywhmpimbp
(wpgbGwndtwphw), npp Yhpwnymd L wpowph uwd hwingtGhy hoGGph L
wpdwph htin Gundwdp wnwowgbnn wy hnGGeph npnydwl hwdwp: Opn-
2nuiGhpp hhdGywd kG htinbywy pGrhwnp nkwlghwjh Ypw.

Ag'+ X =AgXy

npnbin X -p wpon t (hGby CT, Br, J, SCN L wy hnGGbp:

Undu)jbpumgnjugiwi tnulwybtphg wpwyby jupuop b jwyG Yhpw-
nnd quuwd npnpwiuhwijub iqubGwyp yniyikpunGwyunhmpmbat t, npp
hhdGywd t opqubwiwb Ynduyjpuwgnymglng tphtinhwihGwbnpupwugu-
Juwppyh htiwn wmwpptp dtwnwnGiph hnGGGph hnfuwgpbgmpjui Ypw: Uju
ntwqbtGwp dh wipnng wpp dbkmwnGiph hnGibph htw wewowglimy t
onmy mdtih pwyjwlwGhG Juymb ynduyipultp:

Opupnw-ytpwjwlqiiwi tnwGwlyGhpp (Yup-opuwywhmpniG) hpiG-
Jwd bl opuhnuigiwmG-Ytpwijwlqiiwt nbwyghwltph Ypw: Gwhnjwd Gpw-
Ghg, pb hG; \pLom)pny & juunwpymyd wnwhwpnuip, budwuwwwnwuhiwG dlny by
Ynsymu t inuGwyp.

uiplwiquiwwwiuhmpymG, opntn Yhpunymd b6 Yuihmdh wbp-
dwlqubunny opuhnugiwG ntwyghwbhpp,

JnqusunhnipymG, npnbn Yhpwnymd b6 J;-ny opuhnugdwG L J° hnGGb-
noy YpuwwGqGiwb ntwyghwitpp,

bpyppniwnw swhmpymG, npintn Yhpunymd GG juhmdh tplppadw-
uniny opuprpugiwG nhwlghwGhpp,

ppodwwwyuhmpymi, npmbn hpuwnymd &6 juhmdh ppondwinny op-
uhnugdwb L wj nhwyghwitp:

Cuwn mhunpiwG juunwpiwG duh mwppipmd 56 whnpwywhwywl w-
Gwyhqh htwbyw; bnuGwuyGtpp:

Nunuyh whupiwé tnuGwy: Uyu nbwypmd npnynn hnGp pupmd b6
ntwqbGunny] (Yui hwijunuyp):

Stnujuwpiwi ipuwGwy: Uju tquiwyhg oquymd b wj6 nhwpmy, bpp
wju huwy wyl wwmbwnny nnnwith whnpmyd hpujwGugGby hGuwpwyap st
(mdwp t npnpb) hwdwpdtpmpuG Yownp ud npnpjnn Shwgmpmép wiyw-
8



ymG t L wyG): OphGwy Cr**-h npnuiyh npnymip hGwpuynp sk, pwGh np wyG
htipnnmipyunip opuppuGmud t onh ppYwotny: Fpw hwdwp tp npnymdp Yunw-
pnud G htunbywy dLny. Cr**-h \momyph npnpwlh dwfwihG wybpugGmd L6
Fe’ *-h hwpnGh YnGghGunpughw)ny nidnyp (wybigniyny), pGpwlm t

Cr* + Fe’* =Cr'* + Fe”

nbwyghw@, nph wpymGpmy wnwewGmy t Crz"-hﬁ hwiwpdtp pwlw-
ynipjusdp Fe**, npp whwnpnus 56 KMnO, —ny L wyn 4Lny npnymd Cr**-h wyw-
pmGwlynpymbp:

<twn (twn) mhwnpdwG nwlwy (mhnpnud pun wdtigmyh ud dGwgnp-
nh): Uju inuiwyp Yhpumimd t, Gpp jjw hwpiwp hGnhwannp jwd nbwg-
ghwil pipwGmu t ny w)fpwl wpwq: OphGwy CaCO;-h npnpdwl hwdwp
zojwdpp dwimd 6 wnwppyh mhwnpwd momjph wytigmyny’

CaCO; + 2HCI = CaCl, + H;0 + CO, T

ntiwyghwjh wjwpwhg htun dGwgwd HCl-p mhunpmd GG hhiph jmomy-
pny L npnymy ppyh w)l pwGwympymGp, npG wybigmy tp: huwGwnyg ybpg-
Jwo HCi-h pwlwympymbp, wwppipmpjudp npnymd &6 nbwyghwyh Ypw
dwjuuwop L hwpnd whughqynn Giniymyd CaCO;-h wwpn GuympymGp:

LANONF3e LG OULUL VEMh 2UOUUYL LUUUr
Lhrundnq unever (Uunlubbuy)

Lwlwywlwul wiuwhqnd mdnyph wdwih hywn yunpdwb hwidwnp
oquimui Ll pymptnGbphg, whwbwGbphg L suhdwb Ynppwlitphg:

PAimptwnGhp: £ympbnGipG oqunugnpoymd bl wnpwnpdwG huniwp (GY.
1): Upwlp wuwhSwGwynpywd () b dj-h mwuappujul dwu) qruiuél w-
wwht junnodwyGbp b6, Gepplh dwup Ginugwd t, nphlG ntnhGt funnngwiyh
oglnpjwip dhwgymi t dqwd dwypny wwwybt pwpwy junnojuly: QHinhGb
tunnnjwyh wqun SwuhG hwqgymd t shnwnuiwb ubndhy, nph6 bpyo dw-
wnny ubnibiny Jwptjh t pympbnhg hnukglty htinmyp (GY. 1, 2): dw-6whu
ubnihsh thnjuwpl@ nbnhGd ungmjwh dhe ntnpunpmad b6 wupwyb thopphy
qlnhy, nph Yanphg dwwnGtpny utinibjhu, Gnhyh L nnhGh wpwbpmy wnw-
owlmd t Gtn wgp, nph dhemy pymptinnhg hnunwd t htinmip (GYy. 1, 3): Gpt
pymptiwh Sb9 gyt t Gymp, npp Yuwpnn t puypw)ty ntinhGp, wuw oquaymy
b6 pymplwnGbphg, npnlp mGEG wuwyb onpuay (GY. 1, 1):

£jyniptnh wunhéwGwyapmip Yunwpyoud t ybplhg Guppl. quonjwywb
Jbwnp gunGymy t pynitptimh Ybplh dwunud:



’ 2 3

LY. 1 PimipbinGbp Uy 2 Thybun Ul 3 Qwipng Dpwybn

MhytwGhp: Nhybnibpp Swnwmd Gl htwwqnugon monyph (Yud
nbwlywnhyh mdmjph) npnwlh dwywih 6hywm swhdwé hwiwp: Apwbp bp-
Yuwp, Gbn, YaGupnGwywl Swumd jwjlwgud lunnnyuylbp 6 (GY. 2): Jk-
nhé Gn dwuh Ypw wpgwd b onuijwdl 6w, thGsh npp whwnp t 1gGhy hinm-
Yp: MhwbtwnGpp thGmd LG 100, 50, 25, 20, 10, 5 L 1 v} -ng:

Pwgh unynpwhwl whybwnitphg hwéwh oquuugnpdmd LG wjuybu
Yyoyjwd yunhnng whytwmGhp (6Y. 3): Unwlp Gdw6 46 pympbwnGlphG L mGuG
Gnuyf duh wunhGw lwynpmu:

-a .

rayyaawaaak

fmeasadhos-nw_"

K

UY. 4. Qunpdwl §mpuwGlp 7.1. 3. QuupwG quulGbp

Quthdwl YmpwGlp: Qwihiwb YmpwGhphg ogqumy b6 wnpwnpwd -
onypGhp Wwwpwuwnbim, hGywbu Gwl htwwqonynn imonypGbpp dhah n-
powlh dSwywy GnupugGhim hwdwp: Upwlp hwppwhwwwly, Gplwp, Ghn
Yqhyny wlnpltp LG (GY. 4): dqhyh Yypw Yuw Ynp onwy (GawG), dhGsL npp
10



whwnp t Gonupuglby monypp U hwiwwwwnwuhuwubtgity Yopwh Ypw
Gaywo owyjwihG: Pugh Gydwd hwpdwpwlpGhphg, monyph dwyuyh sunh-
dwl hwiwp Yhpunmi 66 Gwl yjunhdwG qubGlhp (GY. 5), npnGp whwwGh
s 6hn dowwy swihbint hwdwp L oqunugnpdymd b6 odwnuy nbwlwnhy-
Gbph i monyphtip Ytipglatyhu:

Smpwpwbymp ywihhs winp wunhSwGwynpymy t fuhuwin npnywiyh k-
pwunhwimy, unynpwpwp 20°C-mu, np b Gymd b hwdwwwwmwubuwb
winph Yypw: Fpw huniwp by 62qphn wyhwnwiph nhuypmd wihpuwdbyn t
momph etipfwunhéwbp hwuglly 20°C-h: Uwlw)6 unynpuljw wGwihwnp-
juwjwl wpluwinwblpGiph hwiwp dh pwlh wuewnhdw6h wwppbpmpmbp
GywlGwlympymbG ymGh:

ShSPUo (USULAULS) LNNONFSPLENR MUSIrUUSNMNT

ShunpwsunhwiwG wGwihgmd hhiGwywb jmonypn GjwjhG nbwlnhyh
|monyph t, nph oqimpjwip, mhnpiwG qnponnmpymb Ywwmwpbiny, npny-
ynud t wGwihqinn Ginymd nplt pwnunphsh wwpmiwympmGp: Wn ym-
onypp Ynnud t mpunpwd Juwd vnwbnpn: dnmpymb mGh whnpwd m-
onyph wwwpwumdwl Gpym Gnwluy:

I. UGwihwhy YPhnph ypw dbpgbmd GG hwdwwwwnwuhpwb Goph
Ghyw Yrnjwop, 1gGmd GG ywiniwG Ynjpwh dby L onny imomyph dSwjwip
hwugfinid dhGsl Ghyp: hdwlwny moywd Gymph qubqiuop (q) L wwnwg-
Jud g_ubm;p\l/x Swywip (V), uptih t hwpyby ymomjph nhwnpp.

=q

Wu Yhpy wwnpwunwd nhnpwd mom)pp §nyynud § ywwnpwuwnydwmd
whupny jwd uvnwinupn pdm)p: Shupwywhwlywl wiwhqmyd wyu ym-
onypltipp oquwgnpomy Ll wwpphp Gymptph pwlwiwywl apnydw6 L wy|
monyphtph wnhinph bwunmwwmdwb hwiwp:

Lwpy t Gb), np Gqwd dlny whinpwd momyp Jupbh bt wuwnpuwuwnb
thw)6 w)G Gympbphg, npnGp pwywpupmd 6 npnywlyh wwhwGelbph:
Hpwbp &G.

w) Gymphpp whwnp t (hG6G phihwwybu dwpmp’ fuwnGmyGlpp jwbtnp t
qipwquighb 0,05- 0,1%;

p) Gymph pwnunumpymbn whwnp b juunnpbi hwiwwunwueuwbGh ph-
dhwlyw6 puGwdupb;

q) Gynpp wtnp t YuyymG 1hGh dwdwGwlh dbe hGywbtu whin (héwlymuy,
wjlybu b ymomypmy, tpb ny, Jupnn t fuwhnnyt) pwGwdlh L punwnpmp-
Jwl hwiwwwuwuiwlmp)nbp;

n) wju wwhwdgp ny pbt wwpnwnhp, wj gwGywih t: Lwy YhGh, np
Gympp mGLGw d6d hwiwpdtp, hityp YutiowgGh Yynyny Gymph qubgiuop b
npwiny YthnppugGh YyndwG ufuunp:

11



Uyu yuwhweGtphG pwjwpwpnn Gympp Ynggmu t Gubimp Jud uunwG-
nupw, pwGh np npubhg oguytyny hwuwnwnmd bG wy Gymphph momphb-
ph wpunpp:

2. bpt Gmpp ;h pwywpwpmd Jupp GYwd wwhwbelbphG, wuw
ujgpmyi wyuwnpuwummyd b6 gpw dmnwynp YnGgbhGuopughwsh monyp, qm-
qwuhtin wuwwnpwunmy bl hwiwuwpwnmuujuwd hulmph npnpwd monyp,
npny L hwunwinmy &6 wwwnpwunjwd pdnyph 6hyw YnlghGnpughwi:

Shwpwd mom)pGbpp, npnGg 6hpwn YnGghGumpwghwl quGmd b6
whnpdunip Juwd YonughG wGwihgny, Yngjmd b6 vinwGnupnugywd, Yud
hwunwwywd nhunpny pom)pltp: Lwdwh npuig wijwemd b6 «uyfuw-
wnwipw)jhGy monyplhp:

3. Shwpwd momyplGhp wwn hwéwh wwwmpuwunmd GG oquytiny
«bhpuwGuyGphg»: dbpohGfibpu wWwwpwuwmymd b6 phihwliwl gqopdw-
pwGGtpnid und hwinmy jwpnpunnphwGspmy htwnbjw) duny: Gpb Gympp
wh(n b, yipgGmd G6 npw phihwutiu Ywpmp dhwgnipywG Ghywn Yyndwopp,
tipt htinniy t, 6hyw junhijwd dwup, mbnuiynpmy b6 wwwlt wdwynwls-
ph dbg L qnymui: dhpuwGwyh Ypw Gymu t Gympp L hwiwpdbptiph dnitph
phyp: Unynpwpwp wiymjuwbtpp wywpniGuwymy b6 0,1 dng hwiwnpdtp Gymp,
wjuhGplG w)Gpwl, nppwl wwhwboynul t 1| 0,1 mdInyp yuwwmpwuwmbim
hwdwp:

EEJdU<LhULUSHhYL ShSLUTL BATLUY

©pyu-hhiGwjhl nhapnuip ppywjhl Yud hdGwihG bunympimGGup
mbgnn Gympbph npn)dwl wpug L Shyw nubwy t: Uju bnubGwyny npn-
nud LG whopqubwmijwG L puqiwphy opqubulwG ppmGtp L hhGptp, pln
apnud opqubwlwl shmwgmpymGGbph W6d dwuh npnynudp junwpyma t ny
gnwyhG dhowsywypma:

OpmGtph npn)dwl hwiwp oguuwgnpdmyi b6 mdtn hhdptp, ophGwly
Gunnphnih bhnpopuhn, hul hhdptph npnydwG hwdwp’ ppnilbp, ophGwy w-
nuppm: hGywbu Gunnphmudh hhnpopuhnh, wjGwbu ty wnwppyh 6hywn Ynd-
giiinpughwjh monyplitp dhwlquihg hGwpuninp 3t yuwwnpuwunby: Uy
wuwwnSwnny ywwnpwunmd b6 wwhwloynn imdémjpp Snnwygnp YnGghlun-
pwghwyny, nphg htwnn hwiwwwwnwuhiwG vwnwlnupnGsph dhpm YnG-
ghGupwghwjih momjpGtpny hwunwunnd ngnuig wpwnpp: ShupdwG hpe-
Gwybwnp dhputint hwiwp wykjwglimd 66 ppyw-hhdGw)yhG hGnh{uwwnnp, nph
qmGp thnthnjunipyundp npnyoud b6 nbwyghw)h wywpup: ‘

Unynpwpwp ppyw-hpiGwhi whinpmiGbph dwiwiwy hwiwpdbpmp-
Jwi Ytnh pH-p bujwuwp 3t 7-h (siqnp dhewyw)p), w)| qulynd t ppiurhc
Ywd hhiGwjhG dwpqmd: LbpehGu Ywiugwd t hnjuwqnon Gymptph pGny-



phg L YnGghGupwghwjhg: Ujumbtnhg wnwy t quihu ympwpwGyymp wpnp-
dwl hwiwp hGphjwwnph hpwn plpmpjulG wGhpwdtymmpmbp’ wjyG
wbwp t hp gmjlip thojuh hwiwpdbpmpjuG Yhnmu:

PEIULPULUSPL GAULVUYA AU ARUSArVEN

{wjunGh t, np siqnpugiwl ntiwyghwGhpp unynpnpup 366G ninbygymd
wypny GYwintih nplt ymhnfumpyunip, ophGwy imdmjph qniyGh thothnfunp-
Jwdp: Shupdwi hwiwpdipmpywb Yhwp npnptym hudwp wihpuwdtyn t .
1monyphG wybjwugGty nput hwpdwp hnhjwwnnp:

Ppyw-hhiGwihG hGnhjwwnpGbpp Yhpwnylt) 66 Junmg, uvwljwjG
Bh6;u XIX nwph yupetpp npuGg oquwqnpomip hhiGgwo tp qouan thopdh
ynw, wnwig hGnhywwnnpGlph gnyyGh hmhntumpywG hhdpnud pGYwd phqh-
Yu-phihwljwG wpngbubtph tmpymGp pwguwnpbim:

Stumpymip, npp pmy; wybkg pwgwwptim ppyw-hpdGwihG hGnhljw-
wmnplGtiph qnpoénmmpjwb dtpuwbGhqip, UptGhmup taywnpnhnhy nhungiwG
nbumpjwl ypw hhiGywd b Ounguynh Yandhg wnwowpyywd hGohjwwnp-
Gbph hnGwywd nbumpymG6 t (1894 p.):

Cun wjn nbumpjwl ppiw-hhiGw)hG mhnpdwi uwGwyh hGnhyw-
wnpGtpp opqubwlwG pni) ppoiGlp Ywd hhdptp GG, npnGg snhungywd dn-
1bynGhpp L hnGGEpp mGLG wupplin qoyG:

bGpwnpkGp mGhGp ppyw)hG hGuhijwwnnp’ Hind: LhGhny pmj; ppm,
w6 wtwp t nhungyh, huy nhungiwG hunjwuwpwyynmpymGp whiwnp t pan-
pn2yh hnbwgiwG hwunuwnmGny.

HiInd < H' + IndK,, = [H']  [Ind’}/ [HInd]

Hind-h L Ind’-h qmGtipp mwppbp 5G: Unynpwpwp dwpnym wypp pnm-
iy t pGYuntym gmybh thmhnjumpymGp dhw)G w6 nbupmy, bpp tplgnyya
hGnhywwinph dh duh qmyGh hGubGupympymbp gipwqubgmd t dymuhGp
wnGjwqb 10 wlqund:

U)n wpdtipltpp nbnuygpbiny hnGwgdwG hwutnunnntGh pwGwdlh dby,
Junnn bGp hwyb) pH-h w)G wpdtpGbpp, npnGg whpmjpmyd YGjwwnygh hGnh-
Yuunnph qmyGh (hinthnjunipymGp:

Kyp=[H+]- 0,1; [H] =K,, - 10

-lg [H+]=-1g Ky, -1g 10,
pH PK;

pH:prp" I;
13



Kyp = [H+] - 10; [H+] =Kpp / 10; pH = pKpp + 1

Uwnwgytg, np hGnhjwwnph qoyGh wigdwé whpnypp pngpymd t pH-
h 2 Shwynp.

pH=pK,, 1 1

Gpt Gywwh mihGwdp, np joipuwpwbyjmp highfuwwmnp ppm (hinip) mGh
PK-h npnywijh wpdtp, wyw wwppbp héghywwnnpGeph hwdwp wwppbip Yih-
Gh gmjGh whgdw6 (hmhnfudwG) pH-h whpnypp: Uy wpdbpGhpp dh pwbh
wnwyty hwéwh Yhpwminng hnhYwwmnpGtiph hwdwp pepynd 56 wymuwly
1-mua:

Unymuwly 1
Uh pwGh juplnp ppyw-hiniGw;hG hGnhyunnnpGph wGgdwG whpopp
pH-h wigdwG qnu)Gh thmhnfjumpmép
UGYwlnuip whpnypp
ppyw ihG &L hinipwhG 4L
SpnwbinihG 00 1,4-32 Jwpdhp nbnhG
Utiphy GwpGowgnyyf 3,0-44 Jwpidhp ntnhG
Utphi Ywmihp 44-62 Ywpdhp nhnhG
£pniphin hwwmjn 6,0-7,6 ntinhG Jwwnijn
Shin} Jupshp 6,8 - 8,0 nhinhG Yuwpdhp
Qtgnp Ywpipp 6,8 - 8,0 YJwpihp GwpGow-nhnhG
ShlimpunwithG 8,2-10,0 wlgmyh Ywpihp

Gpb ppyw-hhiGuyhG hnhiwwnph U ppyw)hG (Hind), U bhiGw)hG (Ind),
autipp gmGwynp GG, Yngymud Lk tpygm)G, ipt gmGwynp £ dhw)G vty 4Ly’ dhw-
qouyh hGnhywwnnp: GpygnyG hnhYunnnph ophGuwy t dtiphy GwplGewgm)lp.

lupdhp nbho

UhwqmjG hGnhjwwnnpGph fudphG t wwwliwimd hGnppumwthbp.

ROUS G r
™~ v 2H0 == + 2H;0
O~ -
whqnL G Ywndpw - dulnzwlugnG
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hGnhjuwwnph gniyGh dhewGljwy bpwbqlbphg wnwyk) Juplnp t wy)G,
nph wnwy wyjwpnmd G whnpmdp: OphGwy, Lpl 0,1 b NaOH-h mdmypp
(pH=13) whwpnud kG wnuppynmy, npytiv hGnhhwwnp ogunugnpdtyny dtphy
GupGowgnyGp, wuw yGwywmd Gpwb, np ppyh wybtpugdwlp qmqplpwg pH-h
wpdbpp wumphSwlwpwp hpGmd t, hGnhywwnph gmjGp YGdw ntinhG dhGyl
pH 4,4: Ujn wwhhg hGnhwwnnph gm)Gp uyund t hinfugty L inginfump;niGp
nunlimd t hunwy tplwgnn dhwjG pH 4-h wwly, tpp jmomyph qmyGp qun-
Gnud £ yupnubwpliowgm)G: Shupmudp JwpmGulymd G dhGsl wyn qoyyGh
hwjnGytp, nphg htiunn qunupbgimyd &G HCI-h wybjugnuip:

pH-h w)@ wpdtpp, nph wwy tzwwyh thojuond t hGnhjwwunph goGp
L wywpnymy & whnpmdp wyjwy hGnhywnnph Ghpjwimpywdp, Ynnmd t
wyn hGnhjwwnph whnpiwG gmgh; L GyuwGuyymd t pT-ny:

Unwyty Yhpwnynn ynpu ppyw-hhdGuyh6 hGnhjwwmnpGhph bwdwp pT-h
wpdtipGlpG GG.

Utiph GwpGowgny' 4,0, Utiph Yupdhp' 5.5; Lwydmue’ 7,0; DulmdP-
wnwtihG’ 9,0: ,

Gpt hGnhyunnph pT-G hwywnGh b, wuyw wyG Ywpbih t pgmil -
Juuwnp gni)Gh wigdwG wnhpmjph dhohG wpdtphb:

hGnhywwnph gmgimGpiaph Ypw fupnn L6 wqnb) gbpdwumnhwGh
thmhnjumpimGp, (mdmypmy opqubwywmG ymdhyGtph (uwhpun, wgbwnG L
w)1G6), vwyhwnwymguwjhG Gyuptph L Ynnhnltph wnjwmpymbn, hGyp whunp
t Gyuwwnh GGy w)fuunnwbph pGpugpmay:

Shwpmiltp uwnwpbihu Yuphp shw wwn hGohjwwnnp oguiugnpdty: |
Unynpwpwp wnhnpynn imdmjph 25 §-h hwiwp pujwpwp b wybpugGhy 1-2
Yuphy hGnhjunnnp:

ShupdwG wywpwnp 6hpwn npuwm hwiwp hwpdwp & oquit] wjuwbu
Ynswd Yyywjhg: dhpohGu wwwmpwuwnmy 6 wnhnpiwb Ynjpujh e Yhpg-
Gny dnnwynpuwwbu wyGpwl pnpwd gmp, nppw bipwnmmy t ipidm;ph
dSujwip whwnpiw6 Ytpemy, wybkpuglinmd GG wjGpwl Ywuph hGnhyunnnp,
nppwl wybjugynd t wmhupynn (mdmjphG L pympbwnhg Yuplglnd GG 1-2
Juph nbwywnph jmomyp: dwjnGynd t npnywlh gmGuynpmdy: {hnwqma-
ynn imomjph wmhnpnuip Yuwwnmwpmy b6 dhab wjn qgm)Gh hwjnGytyp:

YYwjh oqunugnpdmdn YGuwwunh Gub mhnpdwl §)unmpymbp dhdwg-
GmG" dowhujwd dwywihg hwmd GG nbwiwmhydh w)G wytigmyp, npp
owhuuymd t wmjwy qoijGp unwGuym Ypw:

2b2NLRUBUUL GAULUYN ShSPUUYL UnNresr

ShnpdwG gnponymp)jnil Ywwmwpbjhu wGwihqynn mom)phl ntwiwmh-
th imonyp wytjwglbihu jbgnpugiwGp hwiwwwwnwuluwi hnjuymd t m-
onyph pH-p: bpt wpughuGtph wnwGgph Ypw wbnuopih wydtjugqud
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nhwlnpjh Swjwip Ywd nhunpdwl wwpptp wwhtphl pomypmd dGwugwo
hpiph Yuwd ppyh wnynup, huy opnhGwwmbph wnulgphG' npwGg huwdwujw-
uwujuwinn pH-h wpdtipp, Yyunwgyh Yuwmbph wpp, npnlig dhwgmip ujunn-
yupwgmi unw jiqnpugiwl pGpugpnid pH-h Ypwd thmpnfumpjuG duuhG:

Npwbugh Ginppwgyh Yhwnbtph pjupwGwiyp, mhwpdwl Ynph Ypw Yu-
ntth b wwy wybh pnpny hwnygwoltpp' ppyh Ywd hhiph 10% dGwgnpn L
10% wyybigmy wywpmGwynn ypéwlyitpp, npnlGp dmn b6 bwiwpdtpnipjwi
YtwnhG:

Shupiwl wwpptp wwhtphG hwdwwwwwuhuwing pH-h wpdtplbpp
Juwd Ywphih t bwyywpyly, Giwnh mGeGwny mompmd Gepyw Gymptpp,
Yuwi by junpty pH-dtnp Ynginn qnpohph oqlmpjudp: ShwipdwiG Ynpbpp
hGwpwynpmpmG b6 wwihu hinbb] whnpiw6 wwppbp wywhtphG NYmyph
pH-h Ypwo thninjumpjwubp, muntiGwuhpty thnfuwqnnn Gymptph YnGgtlGnm-
pwghwGtph L oipdwuwnhbwGh wanlignipymGp yhgnpugiwG wpngtivh ypw L
Ywwwpbi hGnhiwwnph 6hwn pGinpmpymG: Shupdwl Ynptph pGGwnpydwb
duiwbwy nhnwpyymd t hhiGwiwimy ynpu ghyp,

1) Mdtn ppyh mhupmip mdtn hhdpny Yuwd hwlwnwyp,

2) om); ppyh mhunipniip mdtn hmipny Juwd hwiwnwlip,

3) By hpiph wpunpmdp mdtin ppyny, Ywd hwljwnuyp

4) fom); ppyh mhwpnudp pnijy hhipny Yuwd hwijwnalyp:

d &1 Blodh ShSPNMNP NFFH LhURNY
auuUiuLunuyr)

Qnipu plipklp 100 § 0,1 L HCI-h imonyph whwnpdwé Ynpp, tpp w)l
whwnpymi t 0,1'v NaOH-h ymonypny: {dwquplbbpp wupqtgihm hwdwp
whnpiwl pGpugpmi [monyph dwywih thnhnjumpymbp Ywpbih t wlwnb-
ubi: Lwlupwl whnptip Mémyph pH= 1, pwlh np mdtn ppyh hwdwp 9pwd-
Gh hnGh YynGgLlwnpwghwi Yupbih t pnpmG ppyh YnGghGuinpughw;hG hw-
Juwuwp: 0,1 L NaOH-h 90 ) imdnyp wybjuglbinig htivan ppyh 90%-p sbqn-
pugymi t, ppyh UGwgwd pwbwyp uyqpluliwubGhg 10 wiqud wwijwumi t,
Gywlwynud t 9pwdGh hnlh YnGgtGupwghwi nunimd t 0,01 dny, huy pH =
2: bpp whupynn MdnyphG wybjugymy t 99 ¥ NaOH, wquw ppyh YnG-
gliGwnpuwghw6 nupdjuy 10 wiqud thnppwGned t, huy pH = 3:

NaOH-h nidomyph 99,9 4 wybjuglibihu pH-p unlmy t hwjwuwp 4-h:
bpp 100 ¥ yipgpnwd ppyh 1ndnuyphl wykjuwgymd t 100 ¥ Gm)G YnGgLGn-
pwghwjh NaOH-h imomyp, hwulimd & hwdwpdtpmpjwG Ybnp, tpp medmy-
pnud wnlw b dhwyG NaCl, npp 3h hhnpnthqymuy: Lmdmjph pH-p hwiwuwp-
ymud t 7-h: ShuapdwG Ynph YtpeGwlwl wwwmltipp mGkGwgm hwiwp pwpm-
Guymd L6 nnpnpmuip, wwny hhdph 0,1 ) wybigmy’ 100,1 4 0,1 b NaOH:
Lmdomypmd OH-hnGh YnGghGupwughwi qunGmd t 10* dny/f, pOH= 4, huy
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pH =10 (pH + pOH = 14): Um}G dLny 1 4 hhiph wytigmyh nwypmd pOH =
3, huy pH= 11 L wyG:

bpt unwgywd umjpulbp wpnmwhwynytli Yoph nbupm|, Juunwgyh
GYy. 6-p:

% § v § 0 24 5 8 a%
Spik Lpiph
mybgmy wbigmly

Uq. 6. HCI-h imonyph infunpnisp NaOH-p ymonypny
1D 0,1 U monyplGp
2) 0,01 U pmonypGbp

Lwjm] nhwnpdwG YophG (1), mbuGmd LGp, np hwiwpdtpmpjub Yh-
np hwipGylmd b shgqnpmpjw Ytnh htin (pH = 7): Pugh npubhg, wnhnp-
dwi YhpgGuytnh dnwn wmbnh t mGGEGmy pH-h uuipmy prhyp 6 dhunjnpny’ 4-
hg dhGsL 10: bph GG whwnpmip uumwpytp YytpgGhny 0,01 v HCI L 0,01
U NaOH, wwyw wmhwpdwG Ynph mbupp YhGbp Gm)Gp wyG mwpphpmpywdp,
np pH-h prhyph dwpqp YhnppwGuwp bpym Shwynpny® pGngpyting 5-hg
UhGsL 9-p whpnypp (2):

L2wGwymd t, np pH-h pnhyph whpnypp Ywjudwd t ppyuh L hhdph Ynd-
gbGwpwghwbtphg: ShupiwG Ynph Ywnmgnuip oqmd bt hlnhljunnph
6haw pGwnpmpjwp:

hiinhjwwnph pGunpmpymGp pew nhnpiwé Ynph juwnwpdmd b w)l
uyqpmbpny, np jmpwpwlyymp whupdwG hwiwp Yuptth b Yhpwnby Shw)G
uwyG hGnhYwwnnpGbpp, npnGg qniyGh wigdwG whpmpp (nhwpdwé gnighsp)
pGYwd t whwpdwa Ynph ypw ghuyon pH-h prhsph whpmjpnd:
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Mupqymdu t, np wnuehG whwnpmip hpwywbGwgGbjhu (GY. 6,1) npujtiu
hGnhywwnp Juptih t oqunuignpdt ny ShwjG puldnwup, nph pT = 7, w)ih k-
Phi GupGowqniyGp (pT = 4) L PuGmypwnwythGp (pT = 9): bpypopy whwpdwb
dwiwGwy (GY. 6, 2) sh Jwphih oguwugnpdtiy Utphy GwnplowgniyG, puy dymu-
Gbpp Ywptyh t:

UGhpwdtiw t. G2, np pH-h pohyph whpmpp huwiudwd t Gub gbpdwu-
wh6wbhg, pwGh np ghpiwuwmpswih himhnfumppulb dwiwGwy hnjuymd
onh hnGwgiwl wuwnhSwbp: Lepdwuwnhdwbp pwpdpugltihu pnhyph wh-
pmypp thnppwGnd t:

PRSL BRIh ShSCAMNT N6 LhULNY
uuUiuyunuyl)

Uju nhinpmuGhph dwdwGwly momyph pH-p hwpybihu jhGp Yupnn H*
hnGh YynGgtGinpughwl pnmGt] pdnypnwd ppuh pGnhwimp YnGghbnpu-
ghwjhG hwywuwp, pwGh ap ppyh bhiGuwywG dwup qunlGymd b nhungywd
UnjbynyGph whupny L dhw)G 3G5h6 dwub t nhungymd, wrwgwgGlng H*
hnGGhip:

“pw hwdwp b} wyjuntn pH-h uyqpGuwlw6 buwpyp wybnp t junw-
nty pny ppyh hnGuwgdwl hwuwnwwunmGh hhdw6 Yypw®

pH = 1/2 pK,, - 1/2 1g Cpp puGuadlumy:

bpp wiwihqynn ndmyphl wytjugymad t nidtn hhdp’ ujuymd t mhup-
dwl gnpdnnmpimin, ppyh htw hajuwqnlignipjwl nbwlyghwih wpymGpnud
wnwewiny t wn, npp gnlu jnpnpjwd ppyh htivn wnw9wglimu t ppyw)hG
pmpbpuyhG uwnGmpn, huy monyph pH-p dhGsu hwiwpdbpmpjwl Yhwmhb
hwuGhjp npnyymd t

pH = pK,, - 1g C;;/Cuuy puGwélny:

Qwiwpdbipmpiwl Yiinmy pomypp wwpmGwlymyd t Shw)G wn, np6 w-
nwowgh) t pnyy; ppdh L nidtin hhiph thojuwmgnigmpjmGhg: <wjwGh t, np
GiwGl wnbpp 9pmd kGpwpyymd bG hhnpoihgh, huy yonyph pH-p hwzymd
b6 htnbyw) pwGwdlny.

pH=7+1/2 pK,, + 1/21gCuy

Judwpdipmpjui ybtwhg htwnn mdnyph pH-p {uwjiiwlwynpyh
nywd hhiph wybigmyny, Gyuwlwymyd t hwygupyibpp yupgt6 hGywbu Gw-
funpn, whwpdwi nhwpmy: Gph npugtu poy; ppm Yinggwd t CH;COOH-p,
hulj wnpnpoip juwnwpimd t NaOH-ny, wujw whopiwG Yapp mGhGw
htinlywy wbupp (GY. 7):
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Do pmwibhi

ﬂ
227 %

77

s 5 2 0%

PUb {hiph
anjbygary wybigmy

UY. 7. CH;COOH - h 0,1 U pmonyph mpuinpmdp NsOH-p 0,1 U jnonypny

bGywbtiu kplmd t whinpdwl Ynphg, pH-h prhsph whpmpp pGYwd & pH
= 7,76-hg uhl;L pH = 10, siqnpmpjwb Ytwnp noipu & wju wnhpmjphg L npuytiu
hGnhluwwnnp Jupbih t ogunwugnpoty Shw)G ubngdunwithGn, oph pT =9:

Ujuintinhg wpymd t dh juplep hbnlmpymG. nppwG pmy; & whnpinn
ppntG, w)Gpwl thnppwGnd t whnpiwG llnpll Lpr pH-h pnhsph Swpqp:

Bpt ppni6 (hGh junhwquig pmy (K = ), wujw whnpiwG Ynph Ypw
pH-h pnhyph dwipgp pGrhwGpwwbu sh nlnntlh

RPNFSL PURGLh ShSPIMNUD NEd'61 RN
auULuLuUnuLL)

Liwl whnpnudGlph hwdwp mhunpiwG yop unmgbjhu wtnp t Giw-
wnh mGtGwy, np gopd mGhGp pmy| hhdph htn, opp mhnpymy t mdtn ppyYny:
UyqpGwlwl fhnmy monypmd Guplw t pniy bpdpp, nph hwdwp pOH-p L
pH-p hwygwpyymy k6 htanbyw) puwGwdlbpny.

pOH =172 pr]u!p -12 lgChhdp

pH = pKH,0 — pOH = 14 — 1/2Kypp + 1/2 1gCupsp (PKH:0 = 14)
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Uhl;L hwdwpdtpnipjwG YwmpG buwuGbip, mhnpiwG Shewyywy Yumb-
pmud momypp YujuwpmGuyh ympnpyud bhiph dGwgnpnp L wnwowd wnp’
hhdpwhG pntipwyhl juwn-Gnupg, nph pH-p hwpgwpyynid k

pH = pKH:0 — pKpsp + 18Chpsp /Cusq PauéLliny:

Qwiwpdbpnipjul Yanma (monypmd wnlw t wn, npp hhnpnihqyma ¢
L npw hpdwG Yypw £y hwyymd GG imonyph pH-p.

pH = 1/2 pK#,0 — 1/2 pKypgp - 1/2 18Cug

Ltwwqu Yhwnbph pH-h hwyywpyp Yunmwpmd b pun mpjwd mdtn
pPUh wytignijh wjGwbu, hGyubu wpdb) t Gwunpn mhunpmdGeph dwdwGwl:

Gpt jumnwnpymd £ NH,OH-h 0,1 U imomph whwnnpnudp HCI-h 0,1 b im-
onypny, wuyw wphinpdwG Yynph wmbupp Y[ h6h GY. 8-nud wunltpywod wbupny:

Ppik Lpd
myingmly -dtu’-hlh

Uly. 8 NHOH-p 0,1 U pmonyph wipinpmdp HCI-h 0,1 U pudnypny

hGywbtu bplmd £ whnpdwG Ynphg, pH-h pnhspp pGngpymd t pH 6,23-
hg dhGst pH 4,0 mhpm)pp, wjuhGpG pGngpymy t pH-h pGpuitGp 2 sShwynp L
bwdwpdtpmpjul Yuwmh pH-p thnpp t 7-hg’ 5,11: Npwbu hGnhjuwwnnp wyu
nhwypmyd whnwh b6 dhph) GwplgwgqniyGp L Suphy Yupshpp:
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PARSL oI ShSPART BNF3L LhURNY
auuugunuur)

fomy ppmG poy hipny Ywd hwiwnwlyp whnpbihu mhupdwi Ynph
ppYwyhl dwup hwiwujwnwuhunuwimy t poy; ppml nidlin hhdpny whipiwG
ntwphG, huy hhdpwjhG dwup’ pmy hhdpp mdtin ppyny whupdwl nbuwphG:
UhG;L hwdwpdtipmpjwG Yinh6 hwulbip iniomjpmy qnpomd t ppywjhl pmi-
$tpujhG fuwnGmpnp pogy ppm + poyp ppdh wn, hwdwpdbipmpywul Ytinhg
htnn' hhdpw)jhG pmblipuhl fuwnGmpnp’ pmy; bhdp + poyyy hiwiph win: Ghywn
hwdwpdtipmpjul Yhnmd monypmyd wniw t wn, npp wnwewgty t pmy
ppuh U payy| hiniph thnfuwgqnbigmpymGhg: UWynuwhuh wntpp hhnpoihqymy GG L
mdmph pH-h huyyupyp hhiGywd t hhnpoihgh hwjwuewpwiynmpjwi ypw,
puw nph momp kG wiglni hwiwwwwmwuhuwuG pntj) ppni L poyy hhdpp.

pH=7+1/2 pK,p, - 172 pKppgp

Lpt mhwnpymd t pwgwhiwppmG winGhmdh hhnpopuhnny, wujw shywn
huwdwpdpmppui Yhinmd, wijwh wnh YaGghGunpughwihg, imomyph pH
= 7, nnnyhtanb pKcH,cooH = 4,76 L pKNH,0H = 4,76

ShunpiwG Ynph nbupp pbpqwd t GY. 9-mu:

R v
anjbigmy mqlhg!nhlh

Ul 9. CH;COOH-h 0,1 U pmonypfr infunpmdp NHOH-p 0,1 U imonypay
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hGywybu tpunwd b GY. 9-hg, wjyunbn pH-h pnhypp pugwijwmd t: Uw
GywGwynud t, np GiwG wphinpmd hGwpwynp 3t hpwlwGwgGliy, pwlh np hG-
nhijuwwnnph gnylh Yinpny hoginjunipym wnbinh sh mGhGw: Wyunbknhg Yu-
pbih t wlb) hinntmpymG, np ppyw-hhd6wjh6_tnwGwyny wmhwnpmiGhp Y-
uuptithu (infuwqnon Gymptphg qnGh dtyp wbwp t \hGh mdtn_kswpniha:
Wn yywwlwnny by Gaywd inwiwyny w)hsunnbihu npujbie wjuwmnmwGpuhG
1mom)plhp oquuqopdmy 4G mdun ppyh ud mdtn hhdph mdnypGlpp:
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PEdqU - {hULUShYL ShSLUTL bAUTLUUNY
neacudyu orpuliuLbr

HCI -h UCRUSULRU3h Y LNFOMNR36Hh MUS,UUSNMT
L ShSCh (LANPUULNMNG3UL) NCNCART

Opw-hhiGwjhG whnpiwb tnuiwynid npybu ppyh wouwnwGpwjhi
mom)p ogunugupomu L6 wnwppdh mdnypp: W6 wywwnpwuwnmy t6 fupn
wnuppyh hwiwywwmwufuwl mom)pp Gnupugltinyg pnpwd opny: UhwG-
quuihg wjumpwuwnb] wquppyh 6hyw YnlgGunpughwih momjp puwwijw-
GhG ndJwp t, ppw hwdwp b} Gwh Wuwnpwunnd GG dnnwyop YnGgkGumpu-
ghwjh \mdmyp, nphg htmn hwuwmwinmd LG npuw whupp (GnpdwmpjmGp)
unwnwupn Gymph mdmpny:

w) Unwppyh imonyph wunnpuwuwnmip

Glipunpllp wwhweynui t ywwmpwuwnt; wnwppyh 0,1 L 1] Mdmp:
Qpw hwiwp wibpwdbym t mGhGw) 3,646 q (~3,65q) HCL: Lwbh np wn
quiqqwdp wliwnp t Ytipglhy wnwppyh fuhwn jmdnyphg, whwnp t hwoyty wya
ownjuwyp, npmyd wwpm Gwyymd t wynpwl HCIL:

Uluwnwlipp ujumd &6 wpkndtwmph (junwswgh) oglinipjwdp fuhwn
|mdm)ph juwnmpymGp (P) npnzbiny: GGpwnptbp P = 1,19 q/uti’: {dwdwuwyw-
nwujuwG wnjmuwyhg qulnd G P-h wyn wpdtphG hwiwwpwwnwufuwGng
unnynuuhG wwpm Gwympymba, npp hwyjwuwn t ~ 38% HCl-h L junwpmd
hwywnyp.

100 HCI ymo. - 38 q HCI
x =100-3,65/38=9,64q
X - 3,65¢q

Quwjwd qubqyuohg dwywih wighhim hwiwp wil wyhwp t pudwGly
PPYR luinmpjwl Ypw.

V=m/p=96q/1,19 qui’ ~8,1 4§

Uwwljw thnpphy quuibh oglmpjwip puthmd 6 8-9 ¥ wnwppyh juhn
imomjp L thmpwing quuGh st Gnupwglnid pnpwd gpny dhGyk 1 1 Swuy:
Unwgywd monypp tuGwipny fuwnGmd GG, nphg htwnin hwuwmwnmd GG
whwupp (GopdunnpymGp): Unwppyh imomyph mhwnph hwunwumiwG hwdwp
npybu unwlnupnGhp (Guwlmptp) Ywpbih t oqunugnpdli Gwwnphnuih
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nbwpwpnpuwunp' Na,B,07.10H,0, wigmp Gunphnuih uppnGunnp' Na,CO,,
Yuihnudh jnpwng’ KJO,, Gunphnuwh ppplelunnp’ Na,C;0,, ulinhyh opuhnp’
HgO L wy) Gymptp: Upwlghg wikGuwhwpiwpp Guwnphmih mkmpwpnpunl
t: 60°C-nud Ytpwpmptnuglkiny L onmu jnpnglGtiny Yuwpbih £ uvunwGuy ph-
dhwwbiu dwpmp, hp pwlwdlhG huniwyunuufuwéon wr, hwiwpdtpp pw-
Julwa dud t (190,7 g/iny):

Stupwpnpuwnp opmy moytyny hpnpnihqymd £, \monyp mqmpllhlnq
hwiwpdtp pwiwymppudp mdtn hhdp L pppwppm (K=6,4 . 10° 19,

B407 + 7H20 = 20H + 4H3303
OH’ - hnGGbpp ppyny njwnptiny hhnpihqp bwugynu & dhGsl Ytpg.
BO; ¥ + 2H' + SH,0 = 4H;BO,
Na,B,O, + 2HCI + SH,0 = 4H;BO; + 2NaCl

hGsutu Gplad £ nwlghwjhg, Gunphnudh wkinpwpnpuwnh hudwpdt-
pn bwyjwuwp t dmbynywihG quGqywdh Yuuhl: LMYGE nbwyghwjhg
htinlmid b, np hwdwpdtpmpjuG Yenmd momypp ybhwp t mGhGw pmyy
ppywyh6 nbwlyghw, npp wwydwlwynpjwd t H;BO;-h wnwympjunip: bph
wlwbuyh nhnpdwi htnbwipny mdnyph Swjwh hninfumpymGp, wujw
hwidwpdbpmpywl Yanmyd mdmyph pHep' YihGh.
pH =12 pK,, - 121gC;, = 9,24 /2 - 112 Igl0 1=462+0,5=5,12

Cun mnwigywd pH-h wpdtiph, nhupdwG hudwp wibGupwy hGnhljuwmn-
pp dbphy yuphpG E, nph pT = 5,5: Uwilw)G, bph Gjunnh mGhGwGp, np wnpnp-
dwl dwiwbwy pH-h pnhyph whpnypp plngpynud & pH = 4,0-6,2, wuyw npwbu
hGnhywwinp Yupbih t oguugnpdty Gwb dhph GupGowqnyGp (pT = 4):

p) Lwwphmih whnpwpapwwmh MOMph Wunnpuwunmdp
Gipunnbbp wwhwioynui t wuwnpwuwnt) Gwwnphnuih mtnpwpnpuwnh

250 iy 0,1 ‘U MOmyp: Ubtpmy G2k LGp, np wbwmpwpnpuwnh hwiwpdtpp
hwjwuwp £ 190,7 g/ing:

1000 ¥j jmomyp - 19,07 q Na,B,O, - 10H,0
250 4 - X
x=19,07 - 250/ 1000 = 4,7675 q
UGuywnhy Ypbnph ypw Junglty Gagwd qulqudh 6han Yomjwdpn h-

dwuwn ymGh, wnwyb Lo nw YupwhwGeh bpwp dwiwGwy: Hpw hwdwp £
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wmbwmpwpnpuwnh dnnuninp Yynduopp (4-5 q) Yepglimd b6 wmbluGhyjuljub
Yptnph Ypw, whnuithnfumd pympuh k9 Ywd dwdwmgmjgh wywlm Ypw b
6hzw Yznmd whwihnhy Yotinph Ypw, Ynywopp qenizmpjup, snp dwquph
oqlmpjunip thnjuwnpmd &G Gwjuopnp dwpnip Ywgwd 250 dp-ng suhdwb
Ynjpwh dbe: £ympup fund dwniwgnijgh wupwlyhG Gnphg Yopnmad &G L mwppk-
pnpjwdp npnymd Ynjpwjh dke 1gywd Guwwphmih wmbnpwpnpuwmh quilg-
Yuop: Lywgnn 22hg wmwp eph 2hpny uilnd GG dwqupp L hwGmd ynpw)h
Ypwjhg: Wytjwghnid GG Lu wwp 9mp (vwnp opmyd wmbnpwpnpuwnp wn b
moynud) dhGsb Ynppwgh dwjunh 2/3-p, Ynjpwl hwdwywh upnnbimy] pomd
kG wipnng wnp, vwnbglimd hd (monypp GhGyk vhGjuiwihl gbpdwuwnhéws
L pnpwd opny Gnupuglmd dhGsl Ghyp: UnjpwG thwimd 6 wuywult fugw-
Goy L dh pwGh wiqun ymn nwny L pwhwhwpbiny unGmy 66: {wyymd
6 wuwnpwunywd mdm)ph mhunpp L Gnpdwympmbp: OphGuwy, Lpt Gww-
nhmdh mbwnpwpnpwinh Ygmjwodpnp tink t 4,6812 q.

T=4,6812 q /250 4] = 0,01873 g/

Npwbugh vnwgywd nhwnphg Yuwwnwplh wigmyd Gnpdwmpjub, wyhnp
L mhupp pwqiwujwnyty 1000-ny (1 | Swyjwy) L pwdwll] Gwwnphmdh mbn-
pwpnpwnh hwdwpdbph Ypw.

L =0,01873-1000/190,7 = 0,0982
q) Uzluwwnwlpu)hG imdmjph whnph (GopiwmpjwG) npnznuip

UGhpwdtyn momypGtnp yuwnpuuntimg htnn ujumy 6 nhupmin:
Amptunp fpGwdpny pulmd 6 opny, bpym wlqud nnnnnud HCl-h wwwn-
pwuwwd monypmy L 1gGmy HCI-h imomypp dpGk YiphG uwhdiwp, pyoipk-
nh nwy ntnuppnd Ynjppw L ubndhsh oqGmpjudp bnubgGhiny momypp
196md LG pympbwh dwjph 4qwd hunnpojwip wjbybu, np Gpufimd onh
wnuewy yiGw: Uwpnmp qugwd L Gwwphmih wbwpwpnpumnh momjpny
nnnnywd 25 d)-ng whwbwny GmyG (mom)phg thnjuwnpmy 4G YnGwdl yng-
Pwjh it (nhwnpiwé Ynmpw) L wykjwglimyd stph) GuwpbGowgnyyGh 1-2 Huphy
mom)p:

LiwG dh wy Ynppwgh Sbe wunnpwuwmmy 6 YYw. JapgGmd kG SO o) -
pnpwd gmp, wbjwglimd GG -2 uph) stph Guwplowgm)G L pymptinhg Yu-
pigimd &G | Ywphy wnwppyh ymom)p, npubugh hwjwnbyh pmy ywpnw-
qnyG gmGuynpmyd: (Iphg htwnn wnuppyh mdnyph swhwpnuyp pjnipt-
wnud pipmd 4G qpn Ghph:

‘Lwwnphmih wbwpwpapuwwn wwpmiwyon Yoppwl nbnuyopnid GG
pniptnh wwy, Ynpw;h nmwy nGmd 46 vyhwwy pmnp L pyoiptnhg phy-phy
pwdhGGtpny wbjwglimy b6 wnwppyh 1nwdmyphg, Ynpwih yupmGwymp-
Jnifip wlpGnhww, hwpp, wunninn pupdminy pwnGbm wuwydwGGbpmd: U-
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nuppyh jmdnyph wybjugnuip wpmGuymd 6 wilpwb, dhisk Yepehl Yfuw-
phihg Yojpwyh momypp dtnp ptph JwprugnyG tpwlq dywsh momph
qm)Gp: Uynud GG pympbwnh gmginiGpp' dwhuujwd wnwppyh ymomiyph dw-
Juyn:

®npdp (o6 duny YplGmu b6 wikGuphyp tptip wiqud: Gpt wnwppyh
owhuuywd dwywGpp nmwpptpymd 6 0,1 d-ny, www Ywpbih t Ytpgliby
uhohG pywpwlwlwbp b Juwwnwpt) hwygupyGepp: Gph wjwyGtph dke Yw
dho wwuppbpmpymG, www whopmiGhpp Ypyimd 66 wyGpwb, JhGsh wnG-
Yuql btpip whwupiwG wyjuyGpé hpuwp hwdpGyGhG: Uwnwgywd pnonp
wwGbpp whwnp t gpuGgytl whwnpod: dwyywpyllipp juwwptiim hw-
dwp LpunplGp, np Gwnphmih mbnmpwpnpwinh Gopiwmpimbp hwyw-
uwp £ 0,0982-h: 25,00 O nomyph whwnpiwG hwdwp dwluuby k23,50 dy;
23,45 L 23,40 §) wnuppyh imomjp: Unwppyh dhohG dwhuup YihGh.

Ve = (23,50 + 23,45+ 23,40) /3 =23,45 0

Unwppyh momyph GnpiwympymGp Yupbih t bwyyl) pun pwlwdélp’
N|V) = N2V2

0,0982 .25=23,45 .x
x=0,0982.25/23,45=0,1047 Ny = 0,1047
LmyG hwyjwpyp Yuptyh t junwpt] Gwl hoibdwanmpym G uqiting.

1000 4| nbwpuwp. jmd. - 0,0982 \inj-hw.
254 - X

x = 0,002455 dnj-hwd.

23,45 4 HCI ymo. - 0,002455 ¥nj-hw.
1000 4 - U g

b =0,002455.1000/23,45 = 0,1047
Lmonyph GnpiwmpymGp hwyybihu hwyywupyltpp whwnp t junwpl)
unnnuljtinhg htwn snppnpn pyh 6wnnipjunip:

Lrh GUrLNLUSUSPY (FUUTLUYUYAN)
uncsnre3UL NracnrT

2pp Ynuumpimip jwhjwd t Gpuimd Gpyjwibn dhwwn-hnGGhph,
wnwybjpuwtiu jughmip L dwqltqhmih (npny nhwypbpmd Gl tpljwph) w-
niph wwpntGwympymbhg: Gpt wyn wnbtpp bhnpnjwppnGuwnbtp 66
Ca(HCO;), L Mg(HCO;);, www YnpwumpymGp Yoydma t JuppnGuinwghG
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(dwiwfwlwynp) L nhwGhg htnmpyudp Yuwpbh t wquuyk) empp nwg-
Guny.
t
Ca(HCOs); — CaC0Oyy + H,0 + CO,

t
Mg(HCO;); - MgCO;y + H,0 + CO,
t
2Mg(HCO;); —» Mgy(OH),COs4 + HO + 3C02T
bpt wyn wnbpp unydpwinlhp L pinphnGhp GG, Ynywnmpymbp Ynyyma t
diwymG L inwglbihu jh Yipmbmad:
YuwppnGunnwjh6 L dGwymé YnyunmpmbGGtph gmuibwpp juqimd t opp
pinhwGmp YynywmmpymbGn:
2ph §nyuimpymGp wpwmwhw jnmyd LG mwpptp Thunnpltipny.
wuwhSwiGbpny 100 ¢ pwlwb 9pnud CaO-h qpuniGtiph wwpmGu-
ynipjundp, pGry npnid 10 ¥g CaO-G hwiwuwwnwufuwGmd t 1°-h:
ujhhwdwpdtpGtpny 1 | opmd wwpmGwiynn Yuighnidh L dwqbh-
qhnuih hnGGaph S hhwiwpdtpGhph gnuiwnpny:
Utip wfuwwnwGpmd 9ph YnzunnipjoiGp wpmwhwjnbim tGp dhihhw-
dwpdtiplGtpny:
2ph Ynyunmpjul npnpdwh wowyby Yhpwnynn nuiwyp Yndwitpun-
GugunhwywG6 t, npp pmy; & wwihu npnpty pinhwGmp Ynynmpymbp L nph
htwn dbGp Yowlnpwlwlp wybtih my: ph YwppnGwwnmwhG Ynunmpyub n-
pn2dwl hhipmd pGYwo b6 htimbjw) nbwyghwitpp.

Ca(HCQ;); + 2HCI = CaCl, +2H,0 + 2CO,
Mg(HCOs); + 2HCI = MgCl, + 2H,0 + 2CO,,
Yuwd hnGwywl nbupny.

1

HC03 T+ H+ = H2C03
H,CO3;— H,0 + CO; (imom)p)
TN

co,t

Wyuinbinhg tplnud t, np hwiwpdtpmpywG Ywnwmy ymontjph pH-p thnpp
t 7-hg, pwGh np npulmd wnlw t pmy; ppm wdtawppmb: UbpohlGu npujbu
tpyhhdG ppm nhungymus t tipym wuwnhGwny U pnpnyymd t bpym nhung-
dwl (hnGwugdiwaG) hwunwagGny.

Ki=23,5-107 uK;=4,8 - 10" Wawnbubjny bpypnpn wuwnhbwéh nhun-
gnuip, w)G Yupbh t-ghwby npugbiu dhwhpdG pmyp ppm L hwpyty hwiwpdb-
pmpjwl Yhiinmy ymonyph pH-p punn htnnlyw) hwywuwpdwG.
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pH=122pK,, -121gCyp =6,352 -1121g5.10%
pH=3,175+1-121g5=3,175+1-0,35=3,83
Uju wywhp Yupbiht $hputy diph) GuwpGewaqm)iny, nph qm)Gh wGgmdp
wbnh t mGtGmy pH 3,0-hg pH 4,4-h wmhpnypm:
®npdh plpuwgpp 50-100 v-ng whybwn] nhwnpdwi (Yoiwdl)
ynpwyh dhig 1gGmy L6 100-200 §) htwmwqnuuynn 9nhg, wytpnglGnd 2-3 Yu-
phy dbphy GuplGowqm)G L mhinpoud G HCl-h wluwwnwGpwyhG inudompoy
dhGsl Yympuwymd mdmyph qm)Gp ntinhGhg nunlw Gwplewqnyl (pug
GwplGowgnt)G): Shunpmup YplGmd GG 2-3 whqwd L dmnhy umjjw)Gbphg hw;-
ymd wnwppyh mdmjph dhohl dwhuup:
<uywpyp Ywwwpmd b6 bbnbjw; duny: BGpwnntGp 100 & eph
whnpiwi Jpw dwiuudt t 3,25 ¥ 0,0982 G HCI-h imomyp: Lywlwynuit 1
oph whupiwG Yypw wnwppyh |mdnyph dwjuup YhGh 32,50 4y, npb b Yhw-
dJwywunwuluwGh'
q-hwdwpdtp Ca?* L Mg = 0,0982 - 32,50/ 1000 = 0,00319

U =0,00319 - 1000 = 3,19 dg-hwi./, Ca®* L Mg®"-h hhnpnljwppnGunnGbp
NaOH L Na,CO; WUNRUNH P NPNCNIUT

Lwywih t, np wijuihGtpp whGn yhdwymy puimd 6@ CO; thnjuwply-

Jny hwdwwwwmuuhuwG YuppnGunnh, ophGuly
2NaOH + CO, = Na,CO; + H,0

UpwGhg htnlm t, np NaOH-h jmomjpp dhwn wpwpniGwymd t Na,CO;
L 2wwn hwwju wihpudbyn t (hGmd npnt) monypmd ny dhw)G NaOH-h,
w)p Gwl Na,CO;3-h wpupm GwynipymGp: Uyu fuwmnGmpnh npnyoudp upbh &
Jwwwpl Gpym tnwlwyny: Fpwlghg dtyp hpiGwe t tpjm hwiwpdt-
pmpjul Yuwmh dphputwG ypw, GYwwmh mGGwmy tpynm hwdwpdtpnipjwl
Jtwmh wnfuwympimGp Na,CO;-h wnhpwnpdwG Ynph ypw: bulj dymu tnwGwlyp
hhuGywd t Ba”-[mﬁﬁhpm[ YwppnGww hnGGtph Guntgdwb Yypuw:

w ) bpym hwhwpdbpmpyul jwnh phpudul bnuwbwly

Ljwwh mGhGwny, np Na,COs-h wmhnpdwG Ynph ypw Yuw tGpym hw-
dwpdipmpjwl Y, wyn wnp wwppbp dumy t wmhwpymy npubu hGnhljw-
wnnp ptiGmdpwwthGp L dtphy GwpGewagm)ip oguwgnpdtihu: dhlGmdunw-
tihGh GipYuympyjwdp whnpnuip wjwpnymd t wyl wwhhG, Gpp wdpnne
Na,CO;-pn thnfuwplyymd t NaHCO;-h.

* %) Udtuwppyh hwqbigwd imdnypnul ppih YnGgbhinpughwt ~ 5+ 10 dny t
(wytgh 6hyn 3,8 . 10°%):
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Na,CO; + HCl = NaHCO,; + NaCl
Uju hwiwpdtpmpjwG Yhwh pH-p Yh6h.

pH=(pK, +pK,)/2=(6,35+10,32) /2 =8,34,

npp guiymd t ptGngpwnwthGh qmyGh wlgdiwmb whpmypmi: Utipihy
GupGowqgm)Gh GapYuympyudp whwnptijhu momyph qnylp ntnhGhg Ynwn-
iw YwpnwqmjG tpp whwpyh wipnne Na,COs-p:
Na,CO; + 2HCI = 2NaCl + H,CO,
Lowdnyph pH-p hwpuwpyyouwd £ pun H,CO;-h.

pH =172 pK,, - 172 1gC,p = 3,83
(hwqwnyp Gwjby Guwhunpy w)uwnwlpmd):

buy pH-h wju wpdtipp quuGymd t diph Gwplowgm)jGh gnyGh wGgdwb
whpnypmy: Cwpwnpwdhg wwupq tplmd t, op phlGngpmwikhGh Ghplw-
Jmpyudp whnpmyd junnwpbijhu ppniG Swhuuymy t bpym wlqud phy hwdb-
duwnnwd dkph Gwplowqgnijih htiw: LywGwymd t qupbh t wub], np wow-
ohl nbwpnud JuppnGuwwnp nhwpymd t Yhuny ywih, bpypopg gbwypmd” wd-
ponempjwip: ShuupiwG Ynpbphg qhwntGp Gwl, np wilwiu GpuGhg, pt wyu
hnhywwnpGphg npé t Ghiplw momypmd, NaOH-p whwpymd t wdpnn-
onipjunip: Uju hwlGquiwipGhph ypw t hpdGgwd NaOH-h L Na,CO;-h juwn-
(mpnh npnynudp pun bpym hwdwpdtipmpjwG Yhwh: {dwiwwyunwuwb
wnpnpdwG Ynph wbupp ppjwo t GY. 10 - mud;

o

O - ot hth N ™ o & X
7

[ NaOM ; ]
sbangmgmd ic!!ct,.“g‘:&'a

: s -+3.4q....3,mlo=

T 6 d W R
V. 1M MCl dujunp,
Ul. 10 NaOH ~}» b Na;CO; - JuwunGnipnh npapmip HCI - imonypny

[~
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UhG;L woweohlG hwiwpdtpmpyuG Yhwmp (pun pubnipunuthGh) inpup-
ymu t wipnny NaOH-p L Na,COs-h Ytup.

NaOH + HCl = NaCl + HO

Na,CO; + HCI = NaHCO; + NaCl (puwn dubnidunuythGh)

UnwohG U Gpypnpn hwiwpdipmppuG Ybwbtph Ghel wmnpimd t
NaHCOs.pn" wjuhGpl Na,COs-h iGwugwod Yhup.

NaHCO; + HCI = NaCI + H,CO; (puw dbpjhy GupGowqm)Gh)

Glpwnptlp wnwehl hwiwpdhpmpjwb Yhwmnd Swhuudl) t 9,1 iy HCI,
huly tipypnpn hwdwpdtpmpjwt hnmd' 12,5 4 HCL, wmyw 12,5 - 9,1 =3,4 4|
HCl-p dwhuuyty t Na,CO;-h Ytiup whwptim hwdwp, 2 - 3,4 dp-p° wdpnng
Na,CO;-p mhuptim hwdwp, huy NaOH-h wmpupdwG ypw dwheudb £ 12,5 -
2- 34)=5759HCl:

®npdh pGpwgpp: UGwhqynn imdmjphg whwtnny ypgGmy L6
25,00 4y, pnfumnpmd YnGwdl Ynpwgh ik, wybjuwgmy 3-5 Yuphy $hlngd-
wmwithGh 0,1%-ng mdmyp L mhupmd wnwppyh wyluwmwlpwhG |puwomj-

pny vhGlL Jytpehl dbY Ywphihg 1meonyph Yupdhp gniyGp wihtimwGw: Lymy
b6 dSwiuugwd wnuppyh dwywyp (9,1 vj), GnryG momyphG wybjwglimyd bG 1-
2 Yuwph) dtpht GwpGowgnyl L ywupm Gulynyd nhnpnudp dhil ;modnyph qmy-
Gp ntinhGhg nunGw swGhtwmwgnn JuppuqgoyyG: Fwpdyuy Gmd GG wnwpp-
yh dowhuup (12,5 dp): Shunpnudp GmyG Loy YpyGmd GG Lu 2-3 wlqud L pun
thohG dwjuubiph jwwwpmy hwyquplyGhpp:

Na;CO;-h GopdwimpymGp L quiqwop hwyymd GG htnntjywy dloy.
U NayCO; = 0,0982 - 6,8 /25,0 = 0,0267
m Na,CO; = 0,0267 - 53,00=1,4156 g/
NaOH-h wywunm Guynipjm Gp hwpymy GG htinbyw) dLay.
U naow = 0,0982 - 5,7 /25,0 =0,0224
m neon = 0,0224 - 40 = 0,8955 g/
<hip-JuppnGunn juwnGoipnh npnymdp wju tnwGwyny w)Gpwb tp

6how st, payyi & wawhu ~ 1% ufuwy, bwpdwp £ Yhpwnety wyG ghwypbpmd, tpp
YJuppnGunnh wwpm GwympymGp thnpp t hhvph wwpmGwympymGhg: Shwp-
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dwb pGpugpmy onh CO;-h Jwblmihg junmuwthtim hwdwp Ypgpwd m-
omjpp widhpwwtiu whwnp t whnpby, ipdnypp pwwn mdtn jJfuwnby:

p) COs*-hnGGhph GunbgiwG tywGuy

Ujyu tinuGwyp hwiidwnwd Gwhunpnh htun wytih 6qphn t: WGwihg-
ynn i monyph dh pwdhip mhupmd G6 wnwppyny npytiu hGnhjwnnp wyt-
(wgGtiny dtiph) GwpGowqm)Gp (mlnnpllnui L wipnng huwnGnipnp): Lomomj-
ph Ujnwu pwdGhg Guintglmd LG CO;*-hnGiGtpp BaCly-ny L wnwg Gunywd-
pp dhpnplint whinpmd &6 HCl-ny $tGnipwnwthlh Guplpuympjudp (nhnp-
ymu t dhw)G NaOH-p): UnwghG L tpypnpn mhnpmiGhph dwjwyibph wwp-
pipmpymGp jhwiwwywwnmwupjpwéh YuppnGuwwh jhqnpugiwd ypw dwjuu-
Jwd ppyh(:

®npdh plpuwgpp UGwhqynn mdmyphg whutnny Jupglimy &G
25,00 ¥}, thnjuwnnmd YnGwdl Yopugh dbe, wybjuglimd 1-2 Jwphy dtph
GwpGowqgnyG L nwhwnpnud wnuppyh wuunnwbpwhl montpny: Shinpnuwip
pyGmyd b6 2-3 wlquu L hwymd wnwepyh dhohG dwhuup (hwiwwyuwwnwu-
fuwGnud bt wipnne huwnGmpnh whnpdwip): UnGwdb Ympwyh vk whuyb-
wnny Yepglmd GG 25,00 §) wGwihqyon puomjp, wybjwglimy 8-10 43 0,1 L -
puphmuidh pinphnh monyp L 3-5 Yuphy phbnjpwwithG: Unwbg Guinjwopp
dhmpm mdmypp whupnid 66 wnwppyh wfuwwmwbGpuihG momypny
dh63L Yuwmihp gm)Gh wGhtwmwgnidp: Shupnuip Ypyimd GG Lu 2-3 whqud L
hwzynid wnwppyh dhehG dwhuup (hudiwwwwnwufuwind t NaOH-h wnhup-
Jwip): ClnhwGmp dwiuuhg hwikny NaOH-h ypw dwhiujwd wnuppyh
dwyjwip npnymyd GG NayCO;-h whwnpdwl Ypw dwjuudwd ppm: {dwpqwny-
Gtpp jwwnwpmd G6 hGywbtu Gwiunpg mwppbpuynad:

NaOH -h UCKUSUL-RUSh L ShSPUD LNRONF30h
aUSrUUSNrL

<mipny wnpuinpmiGlip Yunwptihu npybu w) luwmwGpwihG mdm)p Ju-
nbth t oqunugnpdty Ywihmidh Ywd Guwwphmsh hhnpopuhnh |monypp: lpng
ntiypbpmi oquugnpoymd t Gwbl pwphmih hhnpopuhnp: Upwighg wibGw-
hwplwpp Gwwinphmdh bhnpopuhnG t, npp htaw t wnwGuy JuppnGuwGhph
hownGnpnhg wqun Yhdwyms: Ba(OH),-h mdmypp GoyGujbu YuppnGwn sh
wupmGuynud, wwjuy6 wju ghupmy wowy t qm;hu Yhpwndw( vwhiwGw-
thwymd. bpb whnpynn momypp wWwpmGwyh Ba*-hnGGuph htw Gunjwdp
wnugwglnn hnGGtp, wuyw YpGpwlwb ynniGwyh ntwlghwbGbp L dwjuup
Ydtdwlw: Ba(OH),-p onhg JwbGkiny CO; Ywpnn t Yspwoyty BaCOs-h, nph
wunnéwnny Yginfuyh imdmyph GopduwympjniGp b wGhpwdbymmpma Junw-
wlw dwiwiwy wn dwiwGwl wnmgly momyph GopiwnipymGp:
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Lwwnphmdh hhnpopuhnp tiwniph hwwnympymbibp ymGh" onhg Yw-
intd t CO; L gmip, nph htwmbwGpny dhywn wwpmGulymd b juppnunbtp L
tunGwynipymG: Fpw hwiwp b Gwh wwnpwuwnmd &G NaOH-h ~ 0,1 U m-
omyp, nphg htwnn nplt unwlnupnny hwunwnmd GG 6hyn YnGghGunpu-
ghwG: YwppnGuwinh wwpm GwympyniGp NaOH-h monmypmd wnwyg t ptpmd
whnpiwl pwpnnipymGatp, Juwwwd hGnhjwwnph pGnpnmpjw6 htwm: Gn-
jmpjml mG66 JuppnGuwwnGbph fuwnGoipn supupmGuynn NaOH-h wpluw-
wnwlpw)jhl mdnyp wwwnpwuntiim dh pwlh inubGuyGhp:

puGghg dblyp hhiGywd t wyG hwiquiwlph Jpw, np Guwmnphmdh
bhnpopupnh jupwn momypnid Gwwphmih YuwppnGwwnp wlmdtih t: dbtpg-
Gy LG 50 g Yimunnunyjwd NaOH, nidtin juwnlbiny pomd GG 50 Uy 9ph dby,
unwgywd mompp hnpuwnpmyd b6 wwwyt quubh dhe L thwimy ntwnplb
lugwGny: Npn; dwiwiwy wig Na;CO;-p Guwnnid t qquGh hwwnwhG, uwnwg-
ymu £ pwthwGghy, dwpmp NaOH-h iméomyp: Unmwugywd nidmjpp upbih t
pGnmGb| 50%-ng: Uyn 1mdmjphg whwbtwny qgmympjudp Jupbih t Yupglty
wihpudbyn Swjwip L Goupwgllyny pamwud 9pmy ujwwmpwuinty gwlywgwd
ynGgbGmnpwghwjh, tipwnpGp ~ 0,1 L, MOmM)p:

YuwppnGwwinGhp yjujwpmGuynn hhdph mémyp Jupkh ¢ wwwmpwuwmty
Gwbl hbwlywy dLuny: Liwwnh mikGwim], np Na,COs-p wnwowlmd t Gunn-
phmudh hhnpopuhnh pymplnGiph dwlybptuhG, whluGhywiywG Yueph Ypw
Yapglimid GG Yrnwop wyuwhwloywohg dh thnpp wytih, Gwhupwb ymdbp 2-3
wlqwd nnnnmdé LG ¢pny, nphg htwnn GnupwgGmy: Gpbt wwhwloymd t
wuwnpwuwby 1 | moémjp, wwyw 4 g-h thopjuwpt6 Ypnmyd GG 5-6q NaOH L
Jupynud Gupuwgpjwud dlny:

Uuppnfww juywpmGuynn bhdph modnyp tpphd6 wunpuwunmd L6
dhnwnuiwl Gunphndhg, thwy wlnph dke wyl Gepwpytyny 9pwjhG gn-
np2hGtiph wqntgnipjuip Juwd t) pomy 6 uwhpunh dte L unwgwd -
onypp Gnupwglmd CO; sjwwpmGwynn opny (popwd 9mpp LnwgGmu LG
CO»y-hg wquujtiint hwidwp, nphg htwan Gop oguwgnpomu):

‘Lwwphmdh hhnpopuhnh (mémypp wwhbihu whwnp t ww)wnupwily onh
COy-hg: UGnpy, nph b9 jgdwd t wyluwmnwlpwjhG jmdm)pp, whwp b thw-
Yty GuunpnGuynpny gywd lugwlny L rtwnpGt fjunnnywiyny mom;pp hn-
fuwnpb) pyniptitnh ke w)Guybu, np onh htiwm 2hmd ymGGGw: Liwl hwpdw-
pwipp Gphujwgymd t GY. 11-nud
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Ul 11. Ainiptnaf dhwgmdp wwhbuwmp wyfuvunnwpuhG pmonyp
wwipmbuwinn wlnpp hthn
1-2b2 4 - ubmilpy
2 - pyoipln 3 - wuypwlyw funnafwl
3 - GwwnpnGwlipm{ 1giwd funnoywybop

Vwwphmih hhnpopuhnh momyph whwpp (Gnpiwimpynilp) Gupbh b
hwumnunnty wmwppbp uvnwlnupniepny. pppleyuppm (H,C,04 - 2H,0),
pGqnuppm (C.H;COOH), uwpwppm (H,CH,O,), juihnwih ppot pnnwjun
(KHCgH,O,4) L wiy)G:

PpploljuppmG npubiu unmwlnupn oquuwgnpdtihu whwp t hhyk), np
pjup d6wimg npw dnpbymimyd tnon pympbquenipp Ywuwdp Ywpnn t hb-
nwlw), wewy phpt) wihwiwwwwnwuiwinpymb hpuwiwl punwugpmpjwi
L phihwlwl pwGwdlh dhel: Mwuwnh, mdnyp wwwmpwuwntimg wnwg,
pppghuppml bGpwpymd kG YpyGwyh Yupwpniptnugiwl: Yuymb jua
Gwl pppGoYwppyh |monypGhpp. dwiwGwyh pGpugpmy YnGghGunpwughwi
Gywqnu t:

Lwwphmdh hpnpopuhnh U pppGoiwppyh dhel pGpwgnn ntwlyghwl
htanbyung t.

2NaOH + H2C204 = N32C204 + 2H20

onplgYwppyh inj-hwidwpdtpp hwywuwp t dnpwjhG qubgywoh YauhG.
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{=M/2=126,07/2=63,04 q

Unynpwpwp wyjunpwunmd GG 250 ¥} 0,1 b monyp: Hpw bwdwp w-
Guhwhy YPheph Ypw Ppnmi kG 1,5760 q Jupwpymplinugywd b ynpugywud
pppGoYwppnt, (hnfuwnpmy 250 ¥ swihiw@ Ynpwgh dte, mdnud CO; juw-
pnifiwlnn popwd 9pmy, Gnupwglimd GhGyk Ghyp L pwy fuwnbnud:

©nphglwppmG pmy) bphhiG ppm t (K, =6,5-10 %, K;=6,1.10 )

Judwpdbpmpjwl jonmyd mompmd wanlw t Gwwnphmdh ppployw-

wg, npp, npuju pmyy ppyh L mdtin hhiph wn, hhnpmbqymd t U ymdm)pG m-
GtGnud E hpiGwjhG nbwlghw: {wdwpdbpmpywG Ytnh pH-p hwyymd LG
htinlyw| hwywuwpdwdp.

pH =7+ 1/2 pKp + 1/2 1gC.p

foppGoywppyh pK, = 4,2-h, huy 0,1 U ppyh whwnpiwb Ytpenmd wnh
YnGghGunpuwghwl dmnwynpuwwbu hwyjwuwnp t 0,1:

pH=7+21-05=8,6

Unwytj bwpdwp hghywwnpp $EGnppwnwth6a t (pT = 9): bl -
16hGh bt wpluwwntithu wGhpwdtwn b GYwwnh nGkGwy, np NaOH-h dh dwup
Jupnn t dwhiuyly Gwl mdnypad wwpm Gwyynn wdtnwppyh Ypw: Muwnp
pnplgYwppyh inomypp whwnp b wyuwwnpwunty CO; pywpmbGuynn gpny:

®npdh plGpwgpp UnGwdl ympush dtp uhybnny (gGnid L6
ppplshwppyh 25,00 ¥ 0,1 U jmdmyp, wybjmglimy 3-5 Juph pubnidpwnwbhi
L wmhwpmy 4G Gwwphnush hhnpopuhnh jmomypny (GY. 11) ShGL mdNypmy
huwywnlGyh 30 ypYy. puhwhwphhu sjwlhtwnwgnn yumihp gmi: UnwehG
whunpmip Yunnwpmd 56 1 ] 6;mnmpjwdp, nphg htwn 3 wiquy Ypybmd
whwmpaip dbY juwpmh 62nmpjuwndp: Cuwn hhiph jntdmyph dhehG dwhuup L
ppploywppdh hwjwGh GopiwmpjuG Ywwwpmd GG NaOH-h mdmyph
whuph (Gnpdwinipjw) bwydunpyp:

aunvhuuh Nrocnrue UUNUHANKNR U26PNRT

Uju nponudp ywihwqubg Yuplnp t wqon upupmGulynn mwpptp Gynt-
ptpmu wqnwh, hGyubu Gwb winGhmvdh wntph SwppmpyuG npnydwé hw-
dwn: bpt wlwihqyon Gunyp wqnn yWupmGuyng opqubwywb Thwgmp-
JmG t, wyw wjl Sywymd GG juhwn dTpwlwh ppyny, nph wpnyymipmy wqn-
wp Ypudoynud t (NH;),SO4-h: bpb wwihqymy &6 wgnunwjhG Ywd wqnunw-
YwG ppyh wnbp, dhnwnuijwé ghGyny juwd wpynmihGhnwing hhdGwujhG dh-
ewywjypmd junnwpmd 46 wqnunh YipwlwGqlnud GhGsu uninGhwly.

KNO; + 4Zn + 7KOH = NH; + 4K,;Zn0, + 2H;0
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UdnGhnuih wnh npnymudG ninpnujh whnpiwG tnwGwynd hGwpwynp
st, npnykbinl hwdwpdtipmpywG Ynmd pH-h pnhyp sYw: Fpw hwdwp b w-
dnGhowdh wnbtph npnynuip Ywwnwpynd bt winnnuith tnwGwyGepny: 9n-
jmpjntG mGEG winGhmdh wntpmd winGhwyh npnydwG dh pwh tnubwy-
Gtp, npnGghg wnwyby Yhpwnymd GG wybigniyh tn mhunpiw tnwlwyp L
wmbnujuwiwi tnuGwyisppy:

w) Uytygmih bw mhinpiwb bnwGwy

Uju tnwGwuyp pwwywiGhG hwuwpwy t, pwyg ny wyGpmG 6qphwm: U-
dnGhmdh wnh monyphG wykjwgimd 6 NaOH-h hwjnGh YnighGnpughw-
oy monyp’ wybigmyny: wnGmpnp mwpwglmy kG dhGyl NHs-h (phy hb-
nwGwyp.

NH,’ +OH = H,0+NH,

UunGhmh htinwgiwi jphympymGp vinmgmy LG Hg(NOs),-ny ppoywid
$hinph pnpay, npp wigwunywd qmnpzhGph Ypw wwhtihu swtnp b ulaGw.

2Hg,(NO;), + 4NH; + H,0 = [OHg,NH;,] NO; + 2Hg® + 3NH,NO;

Nphg htwnn ymdmpp vwntigimy GG dhG;L vbGjuwliwihd ghpdwunhGwb
L NaOH-h wnbigmyp whnpmd wquppyh wuunnwGpuhG imonypny dkphy
GwplGpwqm)Gh Ghplw)nipjudp:

Wyu Gm)G npnynuip Yupbih t junmupby Gwl Sh wj wwppbpuyny: {w-
wimy pnpdwG uwpph oglnpjuip wiswwmywd winGhwyp hwjwpmy GG w-
nuppyh jwd oddpwiwG ppyh whnpwd ymém)ph dkg, nphg btun ppyh
wytigmyp mhnpmd NaOH-h wluwwnwGpwihG niomypny L wwnplipnip-
Juip npnynud winGhwyh htw thnfuwqgnwo ppyh pwiwyp:

p) Stmwywpwi tnubwy

Uju tquwyp GoyGubu winnquih npnpdwd bquwy t: Empjotp
Jujwlmy t Gpulnud, ap winGhodh wnh’ NHCl-h, imdnyphG wdtijugGmd
kG dpeGwinthhnh ($npdwihh) imom;p, npwbg thnluwqnbgnipjwl wpnymé-
pnud wlswwmynud t winGhmih wnhG bwdwpdbp pwlwympjuldp wnuppm,
npG b mhnpmy GG NaOH-h wfuwwnwGpuihG ymomypny.

4NH,Cl + 6CH,0 = (CH;gNs + 4HCI + 6H,O
HCI + NaOH = NaCl + H;0O

Pwgh wnwppyhg, nhwghwjh wpquwuhp t Gwl htpuwdbphitGunbnpuw-
dhGp (mpnunpnwhb), opé mGh poyp hhiGwghG hwnympynid (pK = 5,0): dhp-
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9hGhu GpYwympyudp bt wwpiwlwynpywo hGnhjwwmnph pGupmpymbp: b
wwpplipnip)mG mdtn ppml mdtin hhipny whnptwl nhuppl, wjuwbtn np-
whtu hGnhywwnp Yunbith & Yhpunty puGnpdunwithGp (Sphy GupGewqnil sh
Juwptih), nph giypmd nmhonpmdp wjwpnymad t pomy bpdGwghG showywj-
pmyd’ pH = 9-h wuy, npp hGwpuwynpmpymb t wwihy winGhnudh wnh L
dpeGwinthhnh dhel plpwgnn nupdtih ntwyghwl nupdih; pwlwlwubu
GhG;L Ytpg plpwgnn:

®npdh phpwgpn UGwihwhy Yotnph ypw Yipgimd L6 winGhnt-
Gh wnh Ynywdpn 0,15 g-h uwhdwlGbpnrd, Mmomd 25,00 §; pnpwd 9pmd, w-
YhjugGmy S ¥t 40%-ng dpeGuyntihhnh Gwleopnp jkqnpugpmd (dpeGwppma
shqnpwgGhynt hwdwp) jpomjp b 3-5 Juphy ptiln pnwithGh 1%-ng momyp:

OnfuwuqgnbgnipmGi wywpwmytim hwiwp nbwighnG hmunGmpnp pon-
Gnud b6 WGw dh pwGh pnwyh (~ 10 pnyh), nphg htitnn whwpmy GG NaOH-h
w2 uwwnwGpuihG monypny dhGyuw wnwewlw 30 yuplhjwlimy swlhtiwmw-
gnn Junpnwuqm)li qm Gujnpmad:

Liwwh mGhGuwny, np Swhiujwd hhdpp hwdwpdbp t nbhwyghwjh dbe
dnwd winGhmih wnhG, Yumupmd 66 hwywpyGtpp: UdnGhwyh dng-hw-
dwndtpp hwywuewp t dnpwijhG qubqyuohG 17,03 q: MunwujuwGp wpunw-
hwjywmi b6 winGhntth wnmd winGhwih nnynuwjhG wwpmGuympjudp:

PNF3L <hURN ShSLORNUT PAFSL POINY UNL
huryuUsnrhk Lereusnresuyr

Shupiwi Ynptpp pGGwpltithu (nbku k9 16) gmjg wmpytg, np pnyy) ppmG
poi)) hhipny Ywd hwjwnwyp whnptihu mhupdw Ynph Ypw purgujugnid
t hwiwpdipmpjwl §hnhG hwiwwwwwuwblon pH-h pnhypp, nph wwn-
Gwnny hGupuninp st ppyw-hhiGwjhG hGnhjwwnnph Jhpunmip: Uw GwGw-
md t, np Gwl wnhnpmiGhp unynpw w6 ppyw-hhdGughG hGnhjwwnnpGtph
wnjuwympjunip hGwpwijnp 3t hpuywGuglty:

MNwunqyby t, np gnympymG nGhG wjuwbu ynsdwd puwnp hnhjwwnpGhp,
npnGg qnuyGh thnthntumpyniGp Yuptih t Gyuwaty pH-h 0,1-0,15 hwalnp thothn-
fumpywG niwpmy, pGr npmd gmGh wlgmdp wnh b mGGamy wybh upnly:

Upwip, unynpwpwp, optt ppyw-hpiGwyhG hGnhlwwnph L hAnhdt-
phGwn (wGwnwppbp) GepyuGmph fuwnGmpn 66: Lbpyuimpp piwpymd t
wjG uljqpmbpny, np npw ga)Gp hwlnhuwGw hGphjuwwmnph pT-hG hwdwupw-
nwuluwlng pH-h mwy niitigwd quiyGh jpugmdp, wyuhGpl, wyn uwwhhG ym-
omypp wbwnp t wGgmbwGw: Npny pwypbpmy nputiu fuwnp hGnhyjwwnnp Yh-
punnud b6 hwdwwywnwuhow duny pinpjwd pym mwpptp hGghjwwnnp-
Gbph juwnGmpnp:

{wjwnGh b6 dad pyny juwnp hGnhjwwnnpltp, npnGghg poy) ppmG pmj)
hhipny (Yuwd bwljwnwlp) whwnphhu whnwbh t hwmbywp. 36qup Ywmshp
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(1%-ng 9pwjhG |mdnyp) + duphbGu)hG yuumjyn (1%-ng uyhpwnwjhG m-
omyp) fuwnGmpnp 1 : 1 owwiwhG hwpwpbpmpjwdp, nph pT = 7: Ppuwhl
thewyjw)pmd wju hGnhfumnnpp dwlimpwlymgmjG t, hhdGwihG Jhowywj)-
pnud’ juGwy:

Wu hnhywwnnph Guplwjmpjunip hGwpunjnp £ NH,OH-p wipnnply pw-
gwhiwppyny: Lwbh nn sh unjwpnyt) NH,OH-h htwn pwgwjuwppyh tho-
luwuqntgmpjwl nhwlyghwl, dheunjwyph pH-p dbd YhGh 7-hg, \monypp
Ghpyywo YihGh Yubwy: Shupiwl hwdwpdipmpywG Yhnmd, tpp ymomyph
pH = 7, momypp Ynpuniw wlqni)G: Awjg npuwy wyn wwhp ndjwp t, unth
htwn £ GYunnt) mdnyph qmyGh wlgnuip Jubwshg SwinywlijwgmjGh ww-
10y ity yuwpph pwgwhiwppyh wytigmy:

®npéh phpwgpp Shnupiwd Ynpwjh dke pymptinhg 1gimy LG
25,00 ¥p winGhmudh hhnpopuhnh 1mom)p, wytkjugamy 1-2 YJuwph] fmwnp ha-
nhjunnnp L nhwnpmd jmdmpp pugwhiwppyny, nph whwpp Gwjuopnp hwu-
wmwwnyl] t NaOH-ny: Rwgwhiwppyh wybjugmip juwnmwpmd GG wjipwd,
UhG;sl ypoht dtY Jwphihg 1monyph qmylp fuwlwhg punGuw dwlnwlue-
qnu)G: Shnpnuip Giw6 dlny YpylGma L6 wnlGuql tptp wiqu L puwnn pw-
gwjuwppyh thohG dwhiuh L GnpiwmpjwG hwy)ymd NH,OH-h monyph
GopdwjmpymGp:

{wpgbp L JuGnhpGlp

1. UgnunuluwG ppyh 0,1000 U 5 | imonyp ywwpwuwmbim hwiwp pw-
Gp° v 1,4 g/ud® funmpjwdp wqnunuwljwb ppm Whwnp t Yupglt:

Muwuw. dinwn 34

2. Qwpyty H;SO-h mdmyph wmphunpp L GopdwympymGp, tpt Na,COs-h
50,00 uj-p dtphy GwpGowqmjGh GhpYwjmpjuwdp whwmpbihu dSwhiuymd t
24,00 ; dipwlywG ppyh momyp: NaCOs-h pmomypp wuwwnpuuwnyty k
0,5000 q wrp 200 o) Swjunny swthdwb Ynppwih dbe mdtyny:

Muww. L = 0,09826; T = 0,004819 g/

3V Npnyty KOH-h \mdm)ph wmhwpp U Gopdwmpymbp, tpt npoywyh
swyjwpmu mnjwd 0,1495 q H,CHO4-h (uwpwppm) inhinpdwG Ypw dwluu-
yby t 25,20 ¥) KOH-h ntdomyp:

Mww. L =0,1005; T = 0,005637 g/Aly: ,

4. LwGh® wnynu HNO; t wjwpniGwymy fupwn wqnunulwuG ppmG, tph
JytpehtGhu 9,7770 q-p 1 | muwpnnmpjwidp swhiwG Ynjpwjh dtg motymg ht-
wnn NaOH-h 25,00 4 0,10400 (niomyph mhinpiwG Jpw dowhuuyb) © wgnuonw-
YJwG ppyh wwwnuuwnywd ymanyphg 25,00 Uy

Mwuw. 65,85%:
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5. HCl-h mom)pp Na,B,O; - 10H;0-h dhongny unwinumnwgGbihu
umwgyty 66 htnbjw) wjwitpp.
BO?" + 2H' + 5H,0 = 4H,;BO,

wtwnpwpnpunnh quiioduidp, 9. HCl-h owdwyp, )
0,6442 33,74
0,7102 37,56
0,5934 31,26

{upyty HCI-h imomyph GnpdwymipjwG Shohl wpdhpp:
Munn. U = 0,0996:

6. H;SO,h Gonupuwgywd ymonyph 25,00 vj-hg unmwugyly t 0,3470q
BaSO.:
<wpyty ppyh tmom)ph Gnplwmpimbp:
Muw. L =0,1190:

7. UtinuGh uyhwwly ghGne 50,00 4] mhwnphim Yypw puwn $hingdurwybh-
Gh owjuuygly t NaOH-h 0,0377 U 21,40 ) monyp: GhGm pplwjimpymin
wpnwhwjnb 100 d-md  wwpmGwyynn ghGlippyh qulqywuony (q)
(H2CHaOg, M = 150 qAiny) plnmGliny, np ppyh bipym 9pwdhGGupt by whwp-
yby bd:

Mwuwn. 0,1210 ¢ 100 ¥-my:

8. dbpwpympbnugywd opqulwyw ppyh 0,2290 gpuudp ptGnipuw-
16hGh GepYwimpjwdip NaOH-h 0,1000 L ndmypny wmhwpbjhu dSwjuuyly k&
29,80 4: hGsh” t hwjwuwp ppyh huniwpdtp quiqwop:

Munn. 76,84q/iny:

9. 31| pwnwpwjhG onp Ba(OH),-h 0,0116 L 50,00 § ymdmph dhony
wlghuglthu wipunyt) t BaCOs-h Gunywdp: {pmiph wytigmyp dblmP-
wnwbkhGh Gephwympjwdp HCi-h 0,0108 L midmpny wnhwptighu Swjuwby k
23,6 W;

Lwzytip onmui COz-h wwpmGwynpynilp (Swywpushi % ), tpt CO-h P
= 1,98 g/:

Nuwn. 0,12%

10. 1,21 q yw6wnynn KOH-p, npp Ynpunnumjwo t K,CO5-ny, 1moty b6
onmd U Gonupwgply dhGyk 500 dp: Unmwgywd ymomyph 50,00 dj-p dwlyby ba
HCl-h 0,0530 U (nidmyph 40,00 §-of L tnwgpl) b6 CO,-p htnwgGbint hw-
dwp: dhGnpwnwthGh Ghpywymppudp ppyh wibtigniyp 0,0498 L NaOH-h
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mdmypny whwiptihu dwhauyly t 4,74 p: Lmonyph h ntphy pwdGhG (50,00
i) JuppnGunn hnGGtpp GnupwgGbm hwiwp unfbpugphy GG BaCly-h jtqnp
monyp wybigminy: dubndumuibhGh Gplwnmpypudp mom;pp mhnph) LG
wnwppyh unwGnumn monypny, dwhiudly t 28,30 up: dwpyly Gimymd
KOH-h, K;COs-h L H;O-h wjupmGulympymbp, pGnmGny, op wjl punyu-
gwd t dhw)G wju Gympliphg:

Muww. 69,5% KOH, 22% K,CO;, 8,5% H,0:

11. Na;CO3-h L NaHCOs-h huwnGmpny wupmGulynn 25,00 ) mom)pp
whwpty 56 H;SO,4 -h 0,1200 U imdnypny: Cuwnn pblnphununthGh wpnptijhu
owjuuyly t 9,46 U}, huy puwnn dtiph) GwpGowqniyGh wnhwptihu’ 24,86 ¥): Lw-
Gh° gqpwd Na,CO; L NaHCO; t wwpm Guljynid 250 o) jmudmypma:

Munn. 1,2030 g Na,CO,, 0,5989 ¢ NaHCOs:

12. bG°ymu £ jupulGmy tn mhopiwG inwGwyh tmpjmp:

13. 8nyg wytp, pt Gyywo vhwgmpymGitphg' KOH, K,CO; L KHCO,,
np6 t quuGymu wnyjw) momjpmy, tph.

w) mhupiw6 Ypw L pliingbwmwbhGh, L' dbph GupGowqmGh Gaplu-
Jmpjuip dwhuuymd L Gny6 pwiwympjudp HCI,

P) dhlimdpuriwnthGh Ghplpuympyundp mhnpbihu dwhinm|nd t Gpym waé-
quu wykih phy HCL, pwG dtphy GwpGouqmjGh Gapjuympjudp,

q) monypp puw plbnpbwuybhGh smGh hhdGwyhG nbwlyghw, pw)g db-
ph GupGowqm)Gh GhpYwjmpjwdp Jupnn b whwnpyby HCl-ny:

14. 2wGh® gpud CaCO, t tinty, tpb Yynywopn 0,2000 v HCI-h 50,00 4 -
monypny Wwytymg htinn HCl-h dGwgnpnp mhnptio ypw dwjuuyb) t
NaOH-h 10,00 4} mdnyp: <wywnGh t, np 25,00 §; HCl-h whupdwG ypw
dwiuuymd t NaOH-h 24,00 ¢) ymomp:

Mun. 0,3962 q:

15. UGwyhqyon Gympp Ywpnn b jhGly ud NaOH jud KOH: Uy Gymph
1,1000 q -p shqnpwglbim hwswp dwjuuyby t 31,40 0 momyp: Np° GjnpG Lt
nu L nppw*G jpwnGmprGhp t wuwpmGuynud:

Munwn. NaOH, 1,8%:

16. 50 g wwptjwlh hwghg wwwpwuwmby GG 250 ) pwywdp, nph
whnpdwG hwiwp Swhiub; t 0,1100 L Gwwphnuih bhnpopuhnh 36,00 ¥y jm-
omyp: Npnoty wGwihqynn hwgh ppyw)impymbp’ wpnwbhwjmyjwd wuwmh-
SwGtpny: ULY wuwnhdwbp hwiwwwwnwujluwimd t 1,0000 U Guwwphmih
hhnpopuhnh 1,00 ¥ —hG: Mwwmwufuwlp wpnwhwjnty 100 ¢ hwgmy ywpm-
GwYynn ppYw)impjwlp huiwepunmoufuwinn wunhGwGGhpny:

M. 7,92:
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17. ©ppioywppyh wiwhqh dwiwGwy Yipgpty GG 1,0000 q Yonwop:
baywhuhG® whwnp t 1hGh ppmb whinpbim hwdwp oqunugnpdynn hhnpopuh-
nh Gopiwmpmip, nputiugh pymptanh ypw hw)ywod § —h phyp bwyjwuwp
thGh H,C,0, . 2H,;0 —h ninynuwyhG wwpmGuwlympjwb YhuhG:

Munn. 0,3173 v :

18. ©pyh 0,8250 q Ynjwdpp wmhwinpty LG 0,2000 U wjwm Mmonypny:
fopyh dwppmpjwl wunh6wGp huybihu, wpnmwhwjnywd puwn Gpwu A pw-
nunphsh winynup, vimugyt; t, np YtpehGu Ghywn hwyjwuwp t ppyh dhe A pw-
nunphsh hwdwpdtp quGqyuohl: hGypw G t tink whupdwb Ypw dwluu-
YJwd hjpdph owjwip:

Munn. 41,25 iy

19. Lunnphmuih pwgwhuwwnh ymoniyph6, nph 500 ¥y —p WupmGwymad t
15,0000 q CH;COONa . 3H,0, wybpugpty b 500 ¢ 0,1000 v CH;COOH: haG-
¢1° t hwywuwp vinwgywd nomypnid 9pwdhG hnGh YnlghGnpwughwG: ha;-
wbu® ygmGwynpyh jmoémypp |widnwhg, dbphy GuplGewqoyGhg L dtphy
Ywpihphg:

Munn. 8,3 . 10, Yupishp, nnh6, Yupshp:

20. lownGly 6 hwdwpdbp pwlwyGbpmy dwpmp, ;np NaOH L
NaHCO;: Unwgywd luwnimpnp Yynmad £ 6hpn 1,0000 q: WG ymoty GG oph
ubg: dwzyby vwnp wWuwplwlispmy pun PhGnppununtihGh mpwopdwG hwdwp
owhuwd 0,2513 L wnwppyh dwywin: ©pdh hGywhuh® dSwdwy Yuwhwie-
yh dtphy GwplGougni)l wybtijuugGlymg htnn:

Mwuw. 32,09 4y, 32,09 oy

21. Muwnpwuwnb) 66 Wby thup bhiGwjhG momyp, npp wuwpm Guymd t
38.0000 q¢ NaOH U 2,0000 q Swpmp Na,CO;: hiywhuhG” L unwgywd jmomt)-
ph hpwYwG GopiwimpymGp Gpw phy skqnpugiwi dwdwbwy: hGywhuhG® b
wyn mdmph GnpiwmpyniGp vwnp wwjdwiGhpmyd pun pulndunugthGh
whwpbhu:

Munn. 0,9877 L, 0,9688 b :
22. 100 ¥y pGwlywb 9ph s;bqnpuwgdwl hwdwp, pun uph) GupGowgqm)-
Gp, Swjuuyby t 41,00 4; 0,0200 U ppnt, pun PG hwunthGh’ 2,00 Gy Gar)h

ppuhg: Qwpybty HCOy L COs* hnGGbph wwpmGuympymGp opmd, wpnw-
hwjnyjwd dq -ny dby jhnph hwdwp:

Munn. 452 dq HCO;™ L 24 g COy* 1| opmut:



OLUrUSUTL-1b M UIHUTLG LUTL
paaLvuyLGe

CUVKUUNR AULNMFUG AL

Opuhnugiw-ytipwiuiqiiwi tnuiwyGepmi oquugnpoynud GG w)l
ntwlyghwGhpp, npnGg pGpwgpmd wnbnh t mGkmd thnpnGGiph wigmd
tnjuwgnnn Gymptph wwppbph (hnGGph) dhel: Ujuwhuh riwyghwGbpmy
titywpnG YopgGnn Gympp hwl-nhuwimd t Yepulwubqbhy, huy JbpgGonp
opuhnhy, pGn npmu YtpwlhwlqGhyG opuhnubmd t, opuhnhsp’ YhpulwGql-
imy: OpuhnwgiwG L YopuywigiwG wypngbulbpG plpwlmd 6 Shwdw-
dwlwly tpt ntwlghwjhG dwulwygnn Gynptiphg dtyp opuhrpuGma t, §ymup
whiwp b YtpwlwbGgbih:

dbtpopu tnulwyikpp hGwpwynpmpimb G wwihu opuhnhsh whwnpwo
imdnypny Yuunwpb) mwpptp YipwiuwiglhyGiph pwlwljwljui npnymd L
hwjwnwip:

Ytpopu nbwlghwGtpp pwlwlwywd npnpiwl Gupuwmwuynyg fuptgh t
Yhpwnt) Shw)G wjG nbugpmd, bpp.

1) wpngtuG pépwlnd t wwhwGeynn ninnmpjuip,

2) nhwlghw@ pGpwGmd L wipnygmpjudp’ pwGwliwwbu dhak Jbpy,

3) nwygnn Gymptpp hnjuwqnmau b6 wpwq:

Nbwyghwyh sunmpymlp juwhugwd t holuwgnon Gymphph opupnug-
twl-yipwlwlq-GiwG wnwnbGghw)Gtph JdtdmpymGhg, npp npopymd t
VLipGunh hujuwuwpiunip.

E=E°+ Eln [opu.]/ [Ytp.]
nF

npntin

E - hwiwjwpgh wynnbGghuG t,

E°- hwiwlwpgh vnwlnwpn (Gopiw)) wynntGghwp,

R - ququjhG hwuwnwnmGG t (8,313 gnmy/ dn; - wunh6wG),
T - pugwpéwy 9ipdwuwnpdwGp pun UkphGh, K,

F — dwpwnbjh phya t (96500 ymnG/Ain-hwdiwpdbp),

n - nywd jwid pnmbwd titywnpnGGuph phy6 t,

[opu.] - opuhnugwd dLh YnlGghlGummughwa,

(4tip.] - ytipwluGqGywd dLh YnGghGinpughwG:

bpb wmhnunpybl hwuwmwnm GGbph wpdbpGhpp L pGwliw6 (nquphpihg
jwwwpyh wegnui wwulnpguywGh, wyw hwywuwpnuip {hah.
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E=E’+ (20°C-h hwiwp)

Unuwlnupn hbunpnpuihG yombGghup uyjwy ytpopu hwiwywpgh
wnwnbGghwh wpdbpl b wj6 wwjpdwlh nhwypmd, tpp opuhnugwd L Yhpw-
Ywiqlywd dLtph YnGghlnpwghwbapp (whnpympmGitpp) hwywuwp G6
hpwp: Ujn niypmd 1glopu.]/ [ytp.] = 0 L E=E*:

Bmpwpwlymp yYtpopu hwiwjywpgh bwiwp E°-6 hwuwnunmG db-
ompym t, npp Yuptih t Yipglib; wnymuwlhg:

Nppwl L t wyjuwy qmygh vnwbnupn umnblghwih wpdhpp, w)l-
pwl wytih mdtin opuhnh; t npw opuhnuigwd dlp L pmy; YyepulwbqGhy -
pwliwGgud dlbp: Pninp opuhnh;Giphg wdtGumdtnp dwnpG t, nph
E°r2F = +2,87 W

Nkdtin opuhnh;Gphg 6 MnO,4 -p ppYwyhl dhowdwipmui® EMaosMn? =
+1,514, Cr,O;"-p ppdwyhG dhowuypmi E’cro/ 2c = +1,33 d, Clyp-
0 E°cicr = +1,36W, Bry-p'E’Bry28r = +1,08 < L wyi, Fe’*-p U J,-p hunibsw-
wnwpwip pny| opuhnhsGlp GG E°Fe/Fe = +0,77<, E°L2r = + 0,544, huly Zn” U
AP*-p wiswih pnyj) opuhnhyGbip GG, E°zo* za™= - 0,76 W, E°Arv/ar= -1,66 1):

Lwiwwwmnuufuwiwpwp wikGumdtn ipuiuGqihyGbpp wiuihw-
JwG L hnnujuhwlw6 dtnwnGtp &G, hGywbu Gwl Zo, Al L wjp wympy db-
wnwnlibpp: Unmwlnupn ynnbGghwiGhpp hGwpudnpmpymG kG wmwihu npn-
261 tpym wwppbp qm;thb thel pGpwgnn ntwyghw)h mnnmpjmbp: Opp-
Guly, CL/2CI" L Fe*"/Fe** qmjqbphg wybih pwpdp vnw@rpupn wynnbighwih
wpdtp mGh pinph bwiwlwpgp, Gywlwynui b nbwighwh mnnmpjmbp
wbuwp & hGh

Cl, + 2Fe* = 2CI' + 2Fe”,

wjuhGp, opuhnhsh nhpmy whwnp t hwlnku qu wytih §6d E°-h wpdtp
mbtgnn qmjqh opuhnqugwod dup’ Cl,-p, huy t[hpwllmﬁqﬁ;u_h nhpnui wybih
thnpp E°-h wpdbp mGhgnn qmygh YupwlwlqGyud dlp' Fe**

Uwluw)G whwnp t Gunnh niGGGw), np unwGnupun u{nmhﬁgpmm wndb-
pp qunuthwp b wnwihu ytpopu nbwYyghwjh hGwpwynp mynmpjub dwuhb:
Y ¢h wpp qaponGGbp, npnbp, ntiw] yuwjdwiiGpny wgnbing hwiwyup-
gh wynwntGghuyh wpdtph Yypw, Ywpnn 66 wgnl) Gwh nbwyghwih mnnmep-
JwG ypw, tnojubny wy@ pGphmuy dhG6;l hwlwunwpdp: LIwl nGupbkp
YpGGwpyytG himwquimy, YnGyptn ophGwlbtph Yypw, hwdwwywwmwuhnub
npnniiGhp Juwwptihu:

»

dGrORU U HRUUSNA LB

dbpopu mhnpmiGph dwiwGwy Yuwi tnuGwyGhp, npnig hwiwnp h-
nhjwunp sh wwbwGoymi: LYwG wowGg hGnhjunnph wnpouiGbp Yuph-
th t hpwywGwglt) mwpphp JepulubqlhsGep wepdwiquiwwnny npnytihu,
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hwwnjwytiv ppot dhswwjpmd: Uyu wmhnpmdiGbph duniwGwly, shal hw-
dwpdtpmpjwl w6 huuGlip, wbjugywd ntwipnmjp dwhuugnud t’ Yupd-
pu-dwGnwlwgniyG MnO, hnlp Ytpwdynud b qptiph whqmyG Mn?*-h, nphg
htinn Yuthnuih wipdwlquiGunnp imonyph vkl Jwph witigmyhg (monypp
Gbpyymd t Jupnugm)G:

Jbkpopu tinuGwymy w); wnhinpmdfp junnwptijhu wihpuwdtyn t oqun-
ybt) hGnhjunnnpGbphg, npnGp puw hptGg qnpdnnmpjul pwdwGymd 46 bp-
ym udph. ympwhwinnty hGnhhwwnnpGhp, npnlGp phihwywl nbwyghwsh dhe
b6 dinGmd nhunpiw JwulGwlhg Gynipbphg nplt dkyh htw, L opuhnugdwG-
YpwliwlqGiwG ppwlywl hGnhijuwwnnpGhp, npnGp ntiwghpmu Gl monyph
wmnbGghwih thmhnjumpywp:

Smpwhwwmy hGnhjwwmnph wikbwwnhyhy Gepjujugn-
ghyp ouqw( t, npp Jo-h (wytqh 6hyw Jy” hnGGlph) htw hinfuwqnny wnw-
wglnud t dmgq Juunijn gmGh Yynduybpu: Gpt nbwlyghwyh pipwgpmy J;-p
owluuynud t, wwyw oupwjp GEpYuympjudp mpwpmd Juwwnwpkihu hwdwpdb-
pmpjwl Yhwnmd nom)pp yuymjnhg whwp t nuniw wiqnyl L hwijwnw-
jn: 3mpwhwwnmy hGnhjwwnp £t KSCN, nph Giplw)ynipjundp Jupth b whn-
nb Fe**-p Ti**-h monypny. dhGk hwiwpdbpmpjwb YnhG buuGbp jm-
onupp YihGh Yupdhp wwydwGuninpws bpywph anpwGhnushl yndwtpuh
wnlwjmpjwip, nphg htwnn YuwGqm GwGw, npnyhtnl Fe’* hnGGbpp wipnn-
gmpjwip Yybpwdybl Fe?*-h, npp nnnwGhn hnGGbph htwn Yndugbpu sh wnw-
owglmuy:

OpuhnugiwG-Jtpwiwiqiuwi hpwiwé hGnhjwwnplipp mGhG wybkih
pinhwimp Yhpwnmd, npnghtint gpulGg Jwppp Jwhwd t hwdwlwpgh
wnnbGghwih imhnfumpymGhg:  Uju hGnhywwnpGhpp Gymptp GG, npnlp
plingmGuy 46 nupdbjhnptG opupnuGwm Ywd Yipwjulqiytym, ply npmd
opuhnugwd L yapwjulqiywud dubpp mGhG tnwpptip qm)6:

bGpt wyn dutpp Gywlwyblp Ind,, L Indg,, www Jwpbh b uyn wa-
gnmuiGbpp gmyg wnwy htwlywy hwjwuwpdwdp.

Indp + ne &  Indg,

Liwl hwdwlwpgp Jhpopu qmyg t, nph hwiwp Jwpbih t qpby LipGu-
uh hwywuwpodp.
E =E°+ 0,058/n Ig (Indopu ] / [Indyen]
QGmjGh hwdwp wlhny GmyG nwwonmpymGiupp, npnGp wpylghG

ppyw-hhdGushG hGnhljwdnpGph gm)6h wlgdwb whpnypp npnpbthu (nbu
te 13), YunmwGubp hbwljywp.

E;=E°+0,058/n1g1/10 = E°-0,058/n  (Indy,-h qnujGp)

E,=E°+0,058/n 1g10/1 =E°+ 0,058/n  (Indopu-h quuj6ip)
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hénhywwnph qnyGh whgiwG whpnph wmnbGghuyp Y hGh
E=E°10,058m

QbpehG hwywuwpnuihg tptmd t, np hGnhiunnnph qm)6h qquith thn-
thnfjumpymG wnwyw-Gwm hwdwp wihpwdtin t monmyph wmntbghwih
thmhnjump)ntGp 0,116/n-ny: bpt hGphjwwnph hwdwp n = 2, wyw pwyw-
pwp t, np wnwnbGghwp hopnjh E°*~hg + 0,58 U: OphGwy nhptGhunthGh
r}hu{pmﬁ nw ‘{u‘lﬁh (qupt.unihll =+ 0,76 ‘-l)

E,=0,76 - 0,058/2 ~ 0,73
E;=0,76 + 0,058/2 ~ 0,791

Ununfby puyGnptG Yhpwnynn Ytpopu hGnhjunnnpGphg GG nhptGhjw-
uhGp, nph opuhnugniip wnbnh t nrGhGmd hbunlyw) Yhp.

O 20 = Ol D) o
-0 2o = OO e

(E° = + 0,76W), nhptiGhpwihGoum;pnGwppmiG (E° = + 0,84 d), dLGp-
(wwpwihpuppmb (E° = + 1,08d), 0,0™- nhptGhpwshGnhjwppnwppmb (E°
=+1,2641):

dtpopu hinhjwwnpGbph hhiGwliwl pipmpim G wyl t, np Jugwo
{momyph pH-hg, hwéwhu thnfjujmd t qnylGh wlgiwb wnwmbGghwih wpdbpn:
Npny hGnhjunnpGtph qmyGh hnhnjumpiniGp wtnh § mGhGmd quGnun,
Jwpnn 46 wowewGwy) dhow Gy Gymphp:

ORUPMUBUUL-JELULUL S LUUL BUULUER
ShS,UUY Yrer

Yhpopu whnpmiGtph dwiwlwly pbwyghwihl Swuluygnn Gymphph
YnGgtGunpuwghwGbipG weplinbwwn thmhnfuymd b6, hGsh wpymGpms thn-
tnfuymd t Gul monyph wnnbGghwin: Gpb whnptw6 wwppbp wwhbphG
hwiwwwunuupuwinn wymntGghwiGbph wpdtpGtpp hnjuwnpklp qpudhlyh
Ypw, Junwgytl whvupiwG Ynpbp, npnGp hptGg wnbupny Gdwé 4G ppyw-
hhdGwjh6 nhnpdw YnpbphG:
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Npubu ophGwy pGGwpytGp Fe**-h wnh wmhwnpnuip juijhowdh whpdwG-
quuinny bk yunmglp npwl hwiwwwwnwuluwéng whnpdwé Ynpp:
ShupdwG hhipmd pljwd t htmbyw) nhwlyghwa.

5Fe* + MnO, + 8H' = 5Fe** + Mn* + 4H,0

UhGsl mbmsuimﬁ yung GwytnhG hwubGbtip imdntjph wynntiGghwp htywn
t bwpyty Fe**/Fe®* hwidwlwpgh hhswG Jpu, n}mqhbmh whnpiwG jorpw-
pwlymp wwhh Ywpbih b hwygb) momypmd Fe™* L Fe?*-hnGGbph YnGghGun-
pughw(tpp.

E =0,77 + 0,058/1 Ig [Fe’*)/[Fe*]

{dwiwpdtipmipjwl Ytwhg htwn, tipp mpmd £t KMnO, -h wybkigmy,
ynwuntGghwih wpdtpp htywn b gy MnO,/Mn** hwiwlwpgh hhwa Ypw
puw htnnlyw) hwjwuwpdwG.

E = 1,51 + 0,058/5 lg [MnO, J[H']*/ [Mn**]

Ytpopu tnulGwih wmhnpiwG Ynptpp Junmgbihu npinpiwi wnwehG
ltinh hwiwp wynnbighwih hwydwny 366 uwmwpmd: UnGyptn pGwpyynn
nbuwph hwiwp uyqpuwytinmyd mdm)phg pwguljwmi t Fe**-p,GwGwymy
t E-h hwywny hGwpuynp st junwply:
bﬁ?umphﬁp monyphlG wiipugywd t wjGpws MnO, hnG, np thnfuwg-
by t Fe** hnGGtph 50%-p.

E = 0,77 + 0,058 1g(50/50) = 0,774
Fe?* hnGGuph 99%-h whnpsw6 nhupmd
E = 0,77 + 0,058 1g(99/1) = 0,77 + 0,058 Ig100 = 0,886 .
Fe** hnGGbph 99,9%-h whnpiwG ghugpoud
E = 0,77 + 0,058 1g(99,9/0,1) = 0,77 + 0,058 1g1000 = 0,944 .

{wiwpdipmpjul Yhwh wonwblghwip hwyymd Ll hbwlyw) pw-
Gwdlny.

E=1.E°Fe”/Fe* + 5. E°MnO,/Mn** /1 +5
E=(0,77+5-1,51)/6=1,387d

<tnwqw Ybwtph wnnbGghwip hwpymd 4G pun whpdwiqubGwnh
hwidwljwpgh: GapunptGp wmty t 0,1 J whpdwlqubwnh wytigmy.

E=1,51+0,058/51g0,1 - [H'}* / 100

bpt [H+] = 1 dny}, wugw
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E=1,51 +0,058/51g10° = 1,475 4
Mnwntlghwh prhypp mhnpdwb Yhpglwytiinmyd juqimd t
1,475 4 - 0,944 L =0,531 U,

huy hwidwpdtipmipjwl Ytwh wnnbGghwip sh quGymua pnhsph dhohG
dwumy:

LGGwpgyuop qnudhihh Yipwotihu winwgywd wmhnpdwb Yynph
wbiupp pipywo t GYwp 12-my:

reso, b MO, -
Ulgmly Unlngmy

U 12. FeSOqp wprnpmip KMnO, -myf ([H'] = 1dnyy)

hGywbu ppyw-hpiGwihG mhupmiGbpmd tp, wju niypmd b whwnp-
dwl Yoph Yypw wejw b whupdwi YtpeGwytinhG hwiwwywwnwuiwinng
prhyph’ wmnhGghwih pohyph dwpg, nph dkdmpjniGp Yuwujws t tinfuwqran
hwiwywpqtiph E°-Gtph wwppbpnipymGhg. nppwé 4L t wjn wwppbpnipym-
Gp, wjGpw Wk L pnhyph dwpgp:

dbkpopu tnubGwyny wmhupmilbp Juwwwpbihu hGnhjuwwnph pGuopmp-
JjmGp Ywunwpymd © wyG uyqpmGpny, np YtpehGhu qmyGh thrmhnjumpjui
wnwntGghwih whpmypp (Ywy E°-G) qunnGyh whnpdw6 YupgGulybnhG bugw-
wwwwuuwinn ynnkighwih pnhyph whpmjpnid:
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JGrOLU NeUYShULE h UPURNFO3NFLL

b wnwpptipmpymG shqnpugiwG ntauyghuGhph, Ybpopu ntulginuGhpp un
hwéwju qpupdtth b6 L pGpwGmd GG ny pujwpwp wpwgmppudp, npl wGhpw-
dtyn b Sunjwppunhwiwb inwbwym] puiwyuiput npnymiGep unwpbjhu:

®njuwqnnn uvhunbdGhph E°-Giph wpdtpp hGwpwynpmpymG t wwihu
dhwyG bGpwnnpb) ntwlghwih hGwpwynpmpjwé dwuhl: Uhunbdp Ywupny t
1hGby 2w mdtin opuhnhy’ niGLGw) E°-h $bd wpdtp, uwlw)G thnjuwgrgnip-
jmGp YopwywGqbhyGph htwn pGpwlw yunhwquiig nubnuy: Uw t wywwn-
6wnp, np wju bnwGwyny whwnpmilGtp juwumupbihe, Jwn hwSwh, wihpw-
dtipwn t (hGmd nplt dLny dhowidwb)’ nbhwlyghwl wpwqugltym hudwp:

UnwehlG qnponGp, npG ogumuwgnpdmy b6 nwmyghwl wpwquigGhym hw-
dwp, nw etipiwuwnhbwlh pwpdpugmil t: {wjwnGh t, np gpdwuwnhtwbh
pwpdpwgnuip 10°-ny nbwjghwb wpuwquglmy t 2-4 wlqud: Npwbu gu;-
wumb ophfwy Yupbih t phpb; ppodwnmwsunbwywl tnuwlwyny wiwpinGh
pwlwlywiwi npnydwmG nbwyghw.

BrO;y + 3[SbCL}* + 6H' + 3Cr Br + 3[SbCL] + 3H;0

Lljwwnh mitGwny, np ubGpulwjh6 gtpdwunhdwind wju nhwlghwb
pipwlnid t Jww quibnun, whonpmip Ywwmwpmd b6 70-80° shpdwuwhbw-
(md, nph nbwjpmd nbwlyghwh wpugmpymbp qquih dbdwbima t:

bnypnpn qoponfip hnjuwqgnnn Gympbph b epudhG hnGh YnGglGn-
pwughw)h hmphntump)mGa t: OphGuy,

6 + Cr,0 + 14H' = 3], + 2Cr* + TH,0

Twbnun ppwgnn wyu phwyghw@ Juwpbth t wpwquglty dhnuglitmy
H' L J hnGGtph YnGghGunpwghwibpp: bppnpy qnponGp ntwyghwjh wpw-
qmpjué Ypuw wqnon junuhquinnph wauympim@a t: YwnwithquinnpGb-
np Gymphip 66, npnGp thnfunud GG nhwyghwyh wpwgemp)mbp: bpb Gympp w-
puqugimy t ntwyghw(, Ynyymd t ppuub juunmwihquunnp, tph nubnw-
nkglimy t* pwgwuwwb Yuwwnwihquinnp (hhhphwunp):

Yuwwwhquuanp jwpnn b hGe hGywtv oniGuyh Gynipp, wyGujbu by
nbwlghw)h wpquuhpp (hdpGwywnwihq):

hGpGwyunnwihqynn nbwyghwjh ophGwy t pppleywwn hnGGuph tho-
huwgrgmpimbp whpdwlqwbww hnGGuph htw, np6 wpwqulnd t, bpp lm-
mypmd ujumd 46 Yymwuwyyb) ntwlghwjh wpgquuhp hwGnhuwgnn Mn?**
hnGGhpp, npnlp wijwy abwighwh hwdwp npuwi juwnwihquunop b6.

2MnO, + 5C,0% + 16H' = 2Mn® + 10CO, + 8H,0

Nbwlyghwih wpwgmpjwl Ypw Yupnn 66 wqnl) Gwb hGnmgywd (qm-
qnpnjwd) ntwighwGpp:
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Upw tmpymGp bwuljwbwin hwdwp bGpwnpkbp, np imonypmd Jui A
L C Gymphpp, npnGg thnjuwqnbgnipywG nbwlyghwih wpuwgmpyniGp qpn t: G-
pti wyn GnyG momyp dngyh B Gymipp, npp A-h hbw dhinfuwqnmud t wpwg, w-
ww wpwqulmy t Guwl A-h L C-h dhol pGpwgnn ntwlyghw: Uw Gwlw-
Youd t, np A-h L B-h dhol pGpwgnn nbwlghw6 wowg t pipmud (hGnmgmud t)
hnjuugptigmpymb A-p L C-h dhol: A-G wijwlmd b6 winnp, B-G' hGrymYy-
wnnp, huy C-6° mygbujnnp:

bGnymywnopG, h wwppipmpimlG Ywwnunhquwnph, nbwlghwihG dwu-
Guygtyny thnjuwpipjmy t wyGughuh Sh Gymph, npp Gophg h upwdymd hé-
nmiwmnph GuyhG yhdwyhG:

Npubu ophiwly paGwpyLGp Fez"-h opuhnugnudp Junhmdh wbpdw-
quiwwny ppywjhG dhowyjwjpotd.

SFe* + MnO, + 8H' = S5F¢* + Mn® + 4H;0
Uju ntawyghwymy sunhwquig Yuplop t, pi H hnGGupp np ppyh dlny
Ydwngytl jmomp: bpt nu donipwywi ppmé t, www bpywph pudwjwjwb
npoymup Juwunwpyhd t ywwm 6hyw: buy bph wybjugywd t wnwppnt, whp-
dwiquwwmh dwhivp dhdwimd t: Uw Gulwlymd t, np wyi dSwjuudmy t
Gwl dh wj), joniGuyh rbwyghwyh ypw: Gph Gjwwh mGhGwGp, np whup-
ynn momphg quihu t Ch-h how, ndqup 3t wunybpugGh] nhwyghwa.
10CI' + 2MnO, + 16H" = 2Mn* + 8H,0 +5CL

UwluwyG hwpnGh t, np Cly-p pnmGuwy t opuhnugtym Fe?* hnGGuphG
puwnn htwnbywy nbhwlyghwjh.
2Fe* + Cl, = 2Fe +2Cr
Hph wipnne wowewgwd Cl-p dwjuuytp Fe** — Fe’* ntwlghwh ypus,
www npndwG ufuwy stp (hGh, pwih np wowgwgwd Cl-p hwiwpdbp t
dwhuuywd KMnO,-hG: fuyg pwGh np Cly-h dh dwup gGnnud b htinwmGmad t,
www KMnOs-h dwhuup YihGh wftijh pwn L wmpopiwl wpymGpGtpp’ oy

6hw: Cwpwnnwodhg wwpqg t gunimy, np MnO-h L Fez"-p dhol. ppwgnn
nbwlghwG hGnmgmy t MnO, -k thnfuwqrbigmpjmGp CI'-h htw:
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NLAUTTLEULUSUUONME3NFL

bnwiwyp hpiGywd t wepdwGquluwwn hnGh opuhnhy hwwnlnipjub
Ypw: Opuhnugnuip Yupbih t jwwwnb; wwppbp Shewgujptipmd:
bpt opuhnugnuip whpiwlqulwwnny Juwnwmmd t pplluullﬁ thow-
Juwypnud, wyw nbnh £ mGiGmd MnO,-h yhpwywbqGmd dh6yl Mn**
MnO, + 8H' + Se = Mn®* + 4H,0
KMnO,-h dn-hwdwpdtipp hwyjwuwnp t
{=158,03/5=31,61gq,
hul hwiwjwpgh ynuntGghwip npnyymyd t htwnlyw; pwlwdlny.
E =E°+ 0,058 /5 1g[MnO,J[H']® [Mn>] (E° = + 1,51)

bpt nbwlghwl Ywuwwpymy t hhiGuihG Ywd skignp dhpwyjwypmd, w-
ww Mn(VID)-p ytpwhubqGymd t dhGlk Mn(IV), wnwowgltjng MnO,
(unjwopp

MnOy + 2H,0 + 3e = MnO, | + 4OH'

Uju nhiygpmid KMnO,-h vnj-hwdwpdbpp hwjwuwp t

{=158,03/3=52,68¢q
huy MnO, / MnO, hwiwywpgh E°= + 0,59 U

Atipwo E°-Ghph wpdtipGliphg tplmd t, np ppywhG shewywjpmy Ju-
lhmuwsh whpdwlquGuwwnG wihwibdwn ndbn opuhnhy t, pwG hhdGwjhG Yud
$tqnp dhowjwjpbipmu:

MbpiwlGquiwnwywhwliub btnuGuwlyn whnpmiGbhpp umynpupwp
Jwwnwpmy b6 ppywyhG Showywypmy, pwh np wyn ghwpmy fjuhun punpdp
t npw opuhnh; mdy, pwgh npwéhg, Yipwiwiqiiwié wpqwuhp hwbnhuw-
gnn Mn?* hnGGEpp wGqmyG &6, h wwppbpmpymb hhiGwyhG showywjpmd w-
nw9wgnn MnO,-h, npp qnpy gnyyGh Gunywop t:

Uyu bnuGwyp wnwg hnhunnnph mhnpiwl tnubwy t: hGophywwmn-
ph ntipmy hwénbu t quihe JuppuiwinmywywugnyG MnO,” hnGp, nph | jw-
Phy wybigmyp wmhwpdwb YtpgGwltmmd momypp Gipymd t pwg Jupnu-
qnuG: Uyu wnming MnO,-h Gunywdph winjuympimGp YluwlGqwph wnhwp-
Gwl wywpnp 6hpwn npn)tiym:
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N\ KMnOgh UCKUSUGRUSAY LAFOAFSPH MUSAUUSNNT

L SRSPh (LNLUULNKNF3UY) NLNCANT

w) Lmdmjph wuwinpuwunmip

Unynpwpwp whpdwiquump wiuwnwlpwihG iponypp wuwnpwu-
umy b6 0,02- 0,05 L, pwGh np wyu YnGghGnpwghwih ;Mdmyph 1 Yuphp ~
50,00 ¥ monypp Yupnn t Gupyly pwg Jupnpugnoyl L hGupunjnpmipymG
wnw) npn2tim mhwpiwi YupeGwyting:

Yuihmih whpdwlqulwwh 6hyn YnGgGunpughwih pwdnyp, Shwb-
qwidhg Yrnjwdp Ytipglhiny, hGwpuwynp 3t ywwmpwuwmb], npoyhtwl hGyujtu
mp wn YhSwymd, wyGuybu b mdnypmd wy tGpupipymd t pwjpwjiwb
(hwwnjwwtiu (nyuh wqngnipjwl ntiypmad).

2KMnO,~ K;MnO, + MnO; + 0,7 (whlin yh6wymd)
4MnO," + 2H,0 — 4MnO, + 40H" + 30,T (o pnudi)

MnO;-h wnywnpymip fuumGmpnmy juunwihnhlynpté wpuquglnud
t whipiwGgwGwwnh pwjpwymip’ hwinbu quim] npybu npuijwi Yuwmwih-
quuanp:

Ujuintinhg htmlmy t, np ulqpmi whwp t Ywwpwuwnt) Wwhwigynn
innwynp YnGghGupwghwjh ntdmyp, panhb; dGw npny dwidwlwy (7-10 op
Juwd ] ywwpwunbting htnn 1-2 dwd bowglh), nphg hbwn $ppnpby L
hwumnwnty imonyph whunpp nplt vinwénwpah (Giwjmph) ogimpjuip:

KMnO,-h htw wjuwntihu wibpudbym & hhpby, np wjl opuhrugGmyi
t ntinpfip, jutgtntl jugwGGhpp, ponpp L wy Gymptp: Lmonyph dhwpnuip
Yuwunwpmd 6 wwwyt hpnpong wnhgbiny, [monypp wwhnui kG dmq qnyGh
wuwyt wGnph Wb, thwyny phpwGp wuywlyt jugwlny:

KMnO,-h 11 0,05 'U momjp wwunpwunbim hwdwp wnh Pnjwopnp
ytpgind b6 wnbhuGhywljwG Yrtnph Ypw

1 dnj-hw. - 31,6100 q

0,05 dni-hwy. - x
x=31,6100 - 0,05=1,5800 q

UWnmd &G ~ 1,6000 ¢ KMnO,, |hwnpwiing wuwwljw qulinyg ytpgGmyd b
1 | popwd 9mp, vh Swup wmwpwglimyd GG L, phs-phy pwdhGGtpny wwp 9mp
wybpuglbiny pwdwiyh Yuwd Ynppwjh dhg, (nmdmd bG wnp (uwunp 9pmu
ndjup t moymd): Lmdnjwd dwup qgnyympjunip thnfumgpmd b6 jhnpwbng
wwwyt winph dbe, WGwgwd pympunGhph Yypw nupdjw; wybpuglnud GG
wnwp gmp dhGsk wilpnng wnp moyh: Lowdnyypp uwnbglimyd GG ShGylL ubljw-
YJujhG eipdwumnh8uwb, wybjuglinmd dGwgwd nipp: Munnpuunywd mdny-

PN
50



pp 7-10 op UGwymg htinn phpnpmd 66 wwwyb phpnpnn whgbny Jwd ty up-
$nGh oqlimpywip \mdmypp pwdwinud bG winph hwwnwihG Guwwd MnO,-h

juuphyGtiphg:
p) U2tumwnwGpuyhG (pidmyph whwnph rpnymdp

Ywihmih wbpdwlqubwwh monyph whnph hwunmwwndwé hudwp
npujtiu unwinupmiip wowewpyywo GG wwppbp Gympbp. ppplejwppntG’
H,C,04 - 2H,;0, Gwuwnphnuih pppGoywwnp’ Na,C,O4 wpubG(IIl)-h opuhnp’
As;03, Juihmudh bpywpnghwGpnn’ K [Fe(CN)g] - 3H,0, dbmnwnuywi tpljw-
pp L wyG:

Lydwd Gymphphg wybth hbwpdwp 6 pppGohuppmb L Guwwnphmish
ppplgjwinp, npnGp hbtyump)wdp dwpminud bl Ybpwpympbnugdwdp: U
tpymuhg wybih btz Jepwpymptnugymyd t Na;C;0,-p, npp Gl wnuytiy
YuymG t (ppplgyuppniG Ywpnn L Ynpglty gmp):

©Opployunn hnGGbph L whpiwlqubwwmh Shel plipwgnn ntiwlyghwjh
JEpoGulwl hwjwuwpndp htwbjuyG k.

5C,04 + 2MnO, + 16H"* = 2Mn** + 10CO, + 8H,0
PpploYwwn hnGGuph opuhnugnuip pGpwGnud £ htwlywy uputiduny
C04% - 2e = 2C0,

hbwnlwpwp, hG;wbu pppGehwppyh, wyGuwbu ty Gwwnphnith pppleiwinh
inj-hwiwpdtipGipp hwjwuwp YhGsG dnjwjhG quiqudh Ytiuha.

& HC0,- 20= 126,06 / 2 = 63,0300 q
& NuC,0, = 134,00/ 2= 67,00

epphoywwn hnGGhph thnjuuqnbgnipymGp whpdwiquGwwh htn pipw-
Gmd t nuGnwun, nphw hwiwp b whapmdp jwowpmd 56 70-80°C mwpug-
nud jmomypmy, wnwehG YwphiGipp wwihu 6 pwinwun, uweGmd hil
qmbwpwihybip, nphg hbwnn phwyghwG wpwgqumy t 2Gnphy Showygw)-
i wnwewgwd Mn®* hnGGhph L whnpmip JwpniGwymd b6 unynpwipw
dlny wybpugGbiny KMnO,-h imonyyp wyGpwG, UhGsk JupohG 1 Ywphihg 1nt-
omjpp Ghplyyh pwg Yupnugm)G: Npuytiu showjw)p wybpugGnu b6 ddpw-
jwé ppm:

dnpdh plpuwgpp Shupiwb Ynjpwjh dbe YbpgGmd GG 15-20 §
2V H,SO,-h imtomjp, muwpuigGmd dhGl 80-85°C:
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Unwinwpwp monyphg whubimny ybpgnd GG 25,00 4 L (gmd

odipwlwi ppyh mwp jmdmjph L[pm' L mhupmd wwp mdnypnp Gwhuopnp
p)mpbwmp db9 gywd KMnO-h imomypny: ShupiwG qnpdnnmpymbp Yw-
wmwpmy b6 yLpp GYupwqpgwd duny: Ghyn nhnpmdGhpp Ypy6my GG wn-
Jugql tptp wiquy L pun whpdwlquiwwnh dhohG dwiuwuh Ywunupmy ta
whuph (Gopdwimpyut) hwygwpyp:

bryueh nrnenroe

Wu npnnudp mGh 2w Yuplnp GwlwimpymG nwpptp opjbljnGh-
pnuy, hmml;umlhu hwlptpmy tpjuwph npoydw6 huiwp: Qpnydw hhdpmd
nGYwd t Fe* hnGGtph opuhnugmip MnO, hnGltpny:

5Fe?*+ MnO, + 8H" = 5F¢** + Mn*' + 4H,0

bpb wlwihqyon Giniymd tplwpp Fe?* ypéwymd t, wwyw whnpmdp
Juunwpmd GG opwppyuuib showywjpmd, ml[hung(ihlnq wjfipwl whp-
dwGquGun, vhil jmdmypn Gbplyyh pug Qu.npqwq!m

bph wlwjhqynn Gim)p wwpmGwuynui t Fe’* pnGGbp, uuqm w(hpw-
dbyn t juwwnwpk) np thuﬁwllux(i ybpwlwlqGnuip ShGyu Fe**, nphg htiwnn
wligGb] npnpwGp: Fe’"-h Jupwljwiqbimuip Yupbih t juumwpl) mwpphp Jt-
pwiwGqbhyitpny. dipwepwotGny, SnCly-ny, wwppbp dhwnmwnlbpny Hud
npuig wiwquiwitnny:

Lhpwuwlqlmip wlwgh piphnny junwpymd b wnwppywjhG thow-
Ju)pmu.

2FeCl; + SnCly = 2FeCl; + SnCly

UGwqh pinphnh wybigmy ww sh Yupbih, pwGh np jhGbny mdtn b-
pwlwbqGh; wj6 Jupnn L thnfuwqnt) yipdwGqubwmh htin: Uwlw)G npu
unjbigmyp wGhpwdtyn t tpywph pwwywlwl YepuiuiqiiwG hudwp:
Ujn wybignijhg wquuybtim hwdwp mdmyphl wybpuglimyd 6@ HegCl,, npp
yinfuwmgnnud £ SnCl-h uwntygniyh htn,

SnCl, + 2HgCl, = Hg,Cl,| + SnCl,
uyhwmwy
Unwowgwd Hg,Cly-h ﬁumlzlmOpn h Ymjuwgnmd whpdwlquGuwnh
htan, huy HgCl-h wybigmyp Fe*'-h htwn: UwywyG tpt SnCl-h dbd wby-
gmy & wmpjwd, hGwpwynp t Hg;Cl-h ybpwljwlqGmip dhGyl shwnmwnwjub
uGnhy (uyhwnwy Gunjwdpn gnppwlmad t)

* paplgywppyh \ndnypp wwp gﬂhl L bowg by sh Yupbih. w)G Yupnn t pwjpwby
L Ywuwiip gGnby’ H,C,0,— CO, '+ cot+ H,0
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Hg;CIZ.L + SnCly= SnCl, + HgJ,

Unmwnwjwl ulnhyp ¢imuwgnma t u;bplimﬁqmﬁwmh htan L dbowg-
Gmd npw dwjuup: Uujwohg htwnlmi t, np Fe**-p Ytpwlwéqlnuip Sn**-ny
Yywwnwpbijhy wbwp t juhun Yupquydnpty SnCly-h wytygmilp L wpwg wyb-
1wgfity HgCly:

bpjwph npnynuip wnuppyw)hl shewduypnwd Yuwwwpbihu hGwpwynp
t CI' hnGGbph opuhnugmy wbpdwGquGwwnny, npG wnwg b pipmy YtipghGhu
dwjuuh dbdwgmd b wlwihqh vjuwy: FpwGhg funtuwhtim hwdwp whuopn-
ip jwwwpmd 6 hwwomly luwnGmpnh Giplwynpyudp, npp Ynymd t
wuwnwwbhy fownimpn (Shdpiwh-ObjGhwpnnh fownlGmpng) & wywpm-
Guynid t MnSO., H3PO,4 L H,SO, npnpwiyh YnGgliGunpughwGhpny:

Mn®*-h GhpywympymGp hiwGqupnud t CI-h 3pu]muxgniux(i[;, dnudnpw-
YJub ppniG wnhnpiwl wpnmGpnid umuxguxguxa Fe''-hnfiGhpp uum t wé-
qnyG PnupunnwihG Ynduybpuh dhe' [Fe(PO,).]>, L UhG;l hudwpdbpmpjwG
l{hmhﬁ hmuﬁhm mont)pp Wmd £ wlqmj (pmgumtlnui L ntinhG gnyyG mGh-

gnn Fe™* -h pinphnwjhG YoduwyGpuGlph wnwewgnuip), npwiny htyumwugltiny
hwdwpdtipmpyw@ Ytwnh Ghpw npnyndp:

®npéh plpwgpp bpt wiwhqyon Gimyp Fe**-h wn t, wupw wh-
wtwnh oqimpjwip Yipgind bG htwnwgnuynn momyph 25,00 dj, hnjuwn-
nmyd mpnpdwl Yojpwjh b9, wybpugGmy 10-15 ¢y 1 : 4 Goupwgpud H;SO,-
h imonyp L whwnpmd whpdwGqwGuwwnh momypny vhiyl mdmjpnid hwjnG-
h pug yuwpnqugm)Gi gmGwynpmy: Spapdwb YbpeGwybinp wybkh gwjwnmb
nupdGm hwdwp, pugh 0ddpwlwb ppyhg, Ywphih t wibkjwgbby Gwl pou-
$opulywa ppnr:

Shwpnuip YpyGnud b6 wnGwql Gpip wiqud L pum wWhpiwlquGunh
imdnyph dSwhivh uunwpnid hwywplyGlipp:

20U Vh N6rOLUR YD NrNCANITC
MNbupiwliquiwnmuwywhwiwl inuiwyny opwdbh wybpopuhnh npnpnidip
hiGywd t htnnlyuy nbwlghwjh ypw.
5H,0,+ 2MnO, + 6H' = 2 Mn®" + 8H,0 + 50,
2nudGh whpopuhnh opuhnpuigmip wbtnh t mGaGmy htwljuy duny.
H,0,-2e=0,+2H" E° =+ 0,68 U
{H0=M/2=34,02/2=17,01q

®npdh pbpwgp p UGwhq ywnwpbm hwiwp Jepgimd L6
nwdGh whpopuhnh Ghow Yonywdp wjG hwyyny, np 250 )-ng yunhdwd Ynj-
pwynud GonupwgGhymg htiwan mnwgyh ~ 0,02 U aonyp: Uy mdnyph 25,00
U-p hnfuwnpmd 56 mhunpiwG Ynipwsh dbe, wybpugGmd 5-10 4 1 : 4 Gnu-
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pwgpwd dipwlwG ppm L mhwnpntd 6 whpdwliquGwwnh wyuwmnwGpu-
JhG monypny: ShupmiGbpp 2-3 wlqwy YpyGymg htwnn Giwb wpnymbGpGb-
nhg hwpymy 66 dhohG dwhuup L hwpymd 9pwdGh wipopuhnh (mdmyph Gnp-
dwimpmin: iphg htwnn hwyynmd GG Yupgpwod Ypeywopnid H,O,-h wwpm-
GwYynipymGp (wjuhGpG 250 di-md) L wwwwujuwlp wpnwhwjnmy wnnlnu-
Gbpny:

UhSrhSuorh Nrnenrie

Npnpnuip bhiGwd & htiwnlywy ntwyghwh Ypw.
SNO; + 2MnO, + 6H' = SNOy + 2Mn** + 3H;0
NO; + H;0 - 2e = NOy + 2H'

bpt npnynn Gympp NaNO; £, muyw
<NaNo; =M /2 =69,00/2= 34,50 q

LVhuphwh momypp ppytglbjhu wnwewlmyd t wiiwymG wqnuow)h
PP, npp pwjpwymu L wigwwnbiny wqawnh opuhnltip.

T+NoT+H,0

2NO; + 2H' — 2HNO; — NO,

Uw L wwwéwnp, np Ghuphwh npn)dwé dwdwGwy Yhpwnmd b6
wmhwnpdw6 bwjwnwy wmwppbpuyp’ npnyynn momypp 1gémd G pympbwmp
itke, mpunpdwb Ynjpwymd ytpglnud whpdwiquGuwnh ppytgpwd jpidmjpp:
Nbwyghwl wpwquglbin hwiwp whnponip Yuwmwpmd GG Shasl 40-50°C
nwpwgpud mdmypod: Lhuppwh npnpiw wju tnwiwyp bwypnlp t op-
whiu Lmbqtp tinwGwYy L Yhpumimi & hwdbdwwwpwn wybh phy (opnydwl
uhawp ~ 1 %):

{wjwbh t Gwl GhnphinGuph whpdwlqubiwnwyuhwiw6 npnydwi w-
mnnuyh inubwy’ wybigmyh twn whnpiwi tnubwy, nph ghupmd wwhu 66
wpiwGqubuinh wytygmy, ppnt, unjwumy i 10-15 powb dhak ntwyghwG
wywnpwuyh, nphg htinn wapiwGquiwnh wytigmyp wpwnpmy GG nplk Yepw-
YJwGqbhyny Yud npnym 66 jnrpw sunhwul tpuGuiny:

®npdh plpwgppwnughG mwppbpwyny: Lhpgimd b6 wlwhq-
ynn Ghwphwnh 6how Poywdp dnmwynpuiygbu wyb hwyyny, np wyl 250 Wy -
Juhiw Ynjpwjh dhe Gnupuglbyny vwmwgyh ~ 0,02 U 1moémp: Muwwnpwuwn-
Jwd mdnyphg 1g6md G pympbnh dhe, mhwnpdwl Ynjpwymy YtpgGnmd ba
wbpiwlqubwwnh 25,00 ¥ wluuwnnwGpuwyh (p1dmyp, wybjuglnud GmjGpwG
1 : 4 Gnupwgpwd dipwywa ppyh [mOm)p, Gnupwglmu bl ~ 250 4| epny,
wnwpwglmy dhGu 40-50°C L mhwnpmyd Ghwphwnp momypny dhask Ytpehd
utY Jwphihg whpdwGquiwwh gniyGp wihtwwbw' midmpp whgmbGulw:
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ShwpnuiGbpp Yuwwwpmyd 66 2-3 wiqud, hpwp dnwn pybphg YipgGmy ta dh-
ohG dw}uup L Juwwnwpmy hwyywpyGbpp: Mwwwueiuwip wpowhwpomy GG
wlwihqynn Giniymd Ghwphwh wnynuGtpny:

QULSPNNDP NLNCAMNDT QULSPAND QUrRANVUSNMNT

wjwnGh &, np Yuyghmd hnGakphG pnpny 366 Yhpopu hwwlmpymGGhp:
Yuighmih apnymip whpdwiqulwwwywhwiwl tnwwyny winnmnuih
npnymy t, npp hhdGywd t Ywighnush ppploywnf phy motyh Gunywoph w-
nwowgiwb ypw: Opnynudp Yuphh t hpeiuwiugllty wybignyh v whap-
twi tnuiwyny, mwny pppioYyunh hwjnbh YnGghGumpughw)h ;pdmyp w-
tigniyny, Guunywoph dhpnpnidhg L (Ywgmihg htwnn Ywuwwpmd a6
pppGeywwmh wybigmyh nhnpnd whipdwiqubiunnm] L nwppbpmpjudp n-
pnzmu Ywyghnudp:

Npnpdw6 dyn nwpplpuyh nbuypmd qupdjw] unwlmy GG juighmdh
ppploYwwh Guinjwodpnp, dhywmpmd, ywlnud, nphg htwnn momy LG dnipw-
JwG ppymd L mdmjp wlgwd ppplolwppnil nhmpmy bé whpdwliqubw-
wh w2uwnwbpw;ihG (mompny: LwGh np ppplghwwn hnGGtpp hwdwpdbp
b6 Yuighnid hnGGbphl, www wyhpdwiqulwwh dwuup hwiwpdbp t lluxl-

ghnushl (nbnuywdw6 bnwlwy):

Uyju bpym tnwlwyGhphg wnwyl) Yhpwnwywlp tpypnpnG t, npp
jpGGwpltfip dwlpwdwub:

tpt whwhqynn Ginyp CaCO;-G t, www npnpdwl hhipmd pGYwd LG
htiwlyw) nbwYyghwGhpp.

CaCO; + 2HCI = CaCly+ H,0 + CO,

CaCl, + H,C,0, + 2NH,OH = CaC,0,  + 2NH,Cl + 2H,0

C8C2O4 + stO. C8504 + H2C204

5H,C,04 + 2KMnO, + 3H,SO, = 2MnSO, + K,80, + 10CO, + 8H,0

®npdh plpwgpp CaCOs-h Ghpu Yymjwopp Ytipgmd GG w)G
hwyny, np mdbynig L ¥hGsL 250 ¥) Gnupwglbinig hbwn wnwgyh ~ 0,02 G -
imonyp: Lwbh np CaCOs-h inj-hwiwpdtpp hwjwuwn t 50 q, GawGwymd t
pnwopn whang t 1hGh dsnnwynpwuybu

0,02 - 50 - 250/ 1000 = 0,2500 q

UGuwhwnhy Ytonph Ypw Ypnmd 66 0,2-0,3 q (wwpwwnhp 3t 6hpw 0,25

q) Giny, snp dwquph oqlmpjwdp thnfjuwnpmd 100 §; Ynpuigh jud pudwyh
dhg, dwiwgm)gh wupuym Ypw L Awquph WuwwbtphG YGwwgwd hunhlyhpp
YwGmd &G 9pny: Nphg htinn, wnwGg dwqupp htinwgGhim, phy-phy wyt-
lwgGm G 1 : 1 Gnupwgpwd wnwppnm, wwpwglimd 46 ;monypp L whpdn-
hwn juweGhing momd 46 CaCO,-p: dbpghGu wipnngmpjudp [moytimg
hbuin unwgdwd ymdmypp GnyG dwquph oqlimppudp thnfpwnpmd GG 250
Ul-ng yunhdw@ Ynjpwjh k9, nphg htiinn dwqupp L mavwG hwiwp ogunw-
qnpojwd Ynjpw bh pwGh wiqud ononmd popwd epny: Lmdntpp uwnbing
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htunn pnpwd opny Gnupwglnud G dhGsk Ghop Ly juwniond: Uwwugjwd
imoni)phg whytnny Ybpglmd b6 25,00 4, thnfuwnpmy YnGwél Ynjpwgh
dbg, wytijwgimy ppplo{wppiph 5%-ng 100 ;monyp, 60-70 ¥ omp L 1-2 Yuw-
phy utiph) Gupfgwqgni)G: Lmdonypp 70-80°C nnwpwglbinig htann Juphy-Yw-
phpwlpnhwn pwnln upiwGGpmd, wybjuglGmuy G6 1 : 1 Gnupugpud
NH,OH-h imonyp dhGsk wlowudh Gunjwdp L moémypp YwprpuqmjGhg
nwniw nnhG: Aphg htwn Ynpwl nGmd GG epwyhG Ywd wywqh punGhph
ypw L pnnlimu dhGsb Gunwopp wipnngmpjwip Gunh pudwyh huwnwyhG:

Loidmypp uwnbinig htwn Gunjwdpp dhpnpmd 66 jud wywlyt N 4
$hiwnpnn whqtny, ju by wwniyw dwwwgbbng dhpnph prpny L JuilGmd
uwnp pnpwd opmy” ppploYwn hnGGtph wybtignijhg wquwuytim hwiwp:
Lywgnudp Jupbih b hwiwpb) pujwpwp, pt dhiunpwnh JtpehG YuphiGupp
wwl ClI hnGGtph hwiwp pugwuwiwi ntinjghw (vnmgh) AgNO;-nd YJund
Hg,(NO;), -ny):

Uwpnip Gunywopp mdmd bG wmwp od0dpwliwl ppyh dty: Gpb dhin-
pnudp Juwnwnpyby tp pnpt phpnpmy, wujw w)l Swmd GG wupuyt dnnhyny L
hGwpuynphG ywih phy dwyunh wwp epny Wwlwny Gunywdpp thnjuwn-
pmud GG Ynipwyh dbe, nphg htunn hpinph wipnne swybkptup Ywlmd kG 80-
100 §; 10%-ng wwp dddpwlwl ppyny, nphg htwnn 2-3 wGqud t} wwp pn-
pwd opny: Uwmwggwd ymonypp mwpwglmy &G $hasL 70-80°C L ymonyp
wligwd ppplohunn hnGGbpp whnpmy GG whpdwiqulwwp w)juwnmwbpw-
JpG momypny:

Quupyblpp uwwwpbihe whnp bt Gwnp mGuGw), op mhopjws
pppGeiwppm i hwiwpdtp t Junghmy hnG6LphG:

GipunpbGp wpnpdwi Ypw dwjiult; t whpdwGqubuwnh 24,50 §
0,0204 U momyp: Lywlwlymd t wlwihqynn mdmyph 25,00 dj-hg unwg-
Jwd Guunywopp wwpmiwyn b

0,0204 - 24,50 / 1000 = 0,0004998 un)-hwniwpdtp CaC,04:

Lwbh np ppploywun hnGGtph oPu[u}mgnui[_l whpiwGqulwwny bpyt-
\bywpnGw;hG nhwyghw t, nipbdG Ca? -h dn-hwdwpdbpp whwp t thGh 20,04

q: 25,00 d-mud wwpmGwiynn Ca-h quiqywon YihGh.
0,0004998 - 20,04 = 0,01002 q

250 ¥-mui juywpmGwyyh 0,01002 - 10,00 q = 0,1002 q Ca, nphg htunn ty
Yuwpbih t juwnwnb mnyouw;hG wuwpmGuympjw npnymdp:
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bLAULMANU USUQUONM-BNMY

bnwGwyp hhpiGyjwd t ppm dhewyjwypmd tpYppeiwwn hnGibph opuh-

nhy hwwympjwb Jpw: Gnulwyh bhipmd pGYwd t.
Cr,0/* + 14H" + 6¢ = 2Cr’* + TH,0

YhuwnbwlghwG, punn aph Yuwihosh tpypponduwnh dn-hwdwpdbpp hw-
Jwuwp b dnywjhG quiqwoh 1/6-hG’ 294,2/ 6 = 49,03 q: Cr,0,*/2Cr** hwiiw-
jwpgh unwlnwmn wnnkGghwip' E° = +1,33 4, opp hwpwynpmpymé t
wnwihu bpyppndwinny wmhmpmdilGtpp hpuwwlwgll] wnuppyuyhli Shew-
Juypmi (E°crhzct’ = +1,36 d) h nnwppbpmpymG uwbpiwGquuwnwsw-jhwu-
Jui tnuiwih: Uwljw)G wnwppyh YnGghGinpughw 2 ‘L-hg pwnpdp hibm
nhwpmy wmwpwgiwbé wupiwiGhpmd tpyppnduwn hnGGtpp opuhnuglinud
b6 CI' hnGGLphG WhGsl Cly: dwdbkdwwwd Yuihmuih whpiwGqubwwh htwn
Juihmih bpyppriwwnp Yhpunymy t wytith hwqjunbu, npmjhtant tpeh-
Ghu opuhnhs; hunnympjniGp uwywjwu £ L bpyppniwwnhp htiw npnp pwyghw-
Gtp pGpwlmy GG nuinwun: Guhmih tpyppndwnp wtipdwiquGwwnh hwb-
phw n1Gh Lu vh pwlh wnwybympymG:

“Qpuilighg 6.

1. dbpwpmptnugpwd b 150-200°C-md snpugpwd wnp uvumugymy t
phihwuytiu Ywpmp, phipwjwl pwGwdlhG luhun hwdwwwnwuhnub:
Ghown Pnwdp Ytipgltny Yupkh t wunnpuumb nhnpwd monyp:

2. dwl winpmd wwhynn ndmypp swhwqulig JuymaG t: W6 sh pwy-
pwpymi ny dwiwGwyh pGpwgpmy, ny k) tnwglkjhu, tph GniyGhul] ymdImpp
ppytignwo t: .

K;Cr,07-h pipmpyniGG wyG t, np yhpwywbqGuiwG wpquuhpp' Cr -hnG-
Gipp gmGwynp bG L ppulg GupyuympymbGp Wmomypnud ndjwpwgliod t
wnhinpiwG YhpeGuytnh npnymdn:

Uu tnulwymy, h wwppbpmpimG whpiwGquiunwsunhwiwGh,
whwnpiwi YbpeGulybnp npnybym hwiwp ogunwgnpdmy L6 Yupopu hGnhjw-
wnnGbp. nhpbGhpushé, nhpbGhpuwihnumipnGuwppyh Guwwnphmiwiwi wrp,
dtGpwunpubhjwppnG:

Npwbtu  wfuwwnwlpwihi MOmp unynpwpwp ogquuugnpdmG LG
K;Cr,07-h 0,05 Yuw 0,1 b ymompGbpp:

&reueh Nrncnre

Ywihmih bpyppniwinh Yhpwndwl llmphnngmJﬁ ophGwyp Fe**-h npn-
anuiG t, npp hhuGywd t ppiwjhG showywpnud Fe*'-h opuhnuigdw Ypw.

6Fe** + Cr,0;> + 14H* = 6Fe>* + 2Cr’* + TH;0
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Npnynudp Juunwpmd GG mgnwyh whopdwdp:

UWju mhunpdwl bwdwp juhuw wihpwdhym t 6hpwn hGnhjuwnnph pGu-
pmpjmGp: 5pb npwtiu hinhywwnp Ytpgyh nhdpbGhwadhan, nph E° = + 0,76
, wyyw hGnhYwinnph opuhnugwd duh qniylp’ llwqmummﬁmzmllwqmjﬁ
hhwjnGyh hwiwpdtpmpjwb Ynhg ymwun, bpp mpupyms t Fe?* -h dnunwyn-
pwujbu 50%-p. npmjhbwnl wyn upwuwbhG monyph wnintGghwp YihGh.

E=0,77 + 0,058 Ig [Fe**] / [Fe?"] = 0,77 + 0,058 Ig1 = 0,77<:

hul bipt npujbu hGnhiunanp oguwqapdngh PiGhwbnpwihwppma, nph

E° =+ 1,08 4, www hGnhiwwnph qmyGh thovhnfump)nifip Yhwiwwyw-
wnwuluwGh whnpdwG YpeGwlybnhG L 6hywm dwdwlwyhG P omjpmd
YJhwynGyh opuhnugwd dLh gm)Gp’ Ywnipwdwlmpwlwgnyl: UwliwjG nh-
$uGhwihGp Yupbih t ogunwgnpdt) npwbu hGnhijwwmnp, bph mhmm[nq -
omphlG H;SO,-h htn wybjugyh Gwl H;PO,, nph GhpYw)mpjunip Fe** hnf-
Gupp Juuygmd b6 JuymG PnupwwinughG Ynsuybtpuh She [Fe(POL),]™ L dhask
hwiwpdtipmpjwub YtuwnphG hwuGhip ;ndonyph E-G dGmd t + 0.774-hg thnpp:

®npédh plpwgpp 2500 4 hwmwugmnynn |momyphl wybpugind
tG 25,00 4 ppywyhG fuwnGmpny (H;SO+H;PO,), 1-2 uphy 1%-ng nhptlGhw-
thGh dipwppywjhl momyp, unugyfwd |momjpp pupwd 9pny GnupwglGnul
dhG;L ~ 1008 (WhGsL bwiwpdtpmpywb Y Cr'-h GwGw; qm)Gh hGunkGuh-
ynipymlp GywuqligGhim hwidwp) L mhupmd 46 K,Cr;0+-h wluwwmwipw;h@
imdm)pny vhlyl hwjnlyh swGhbwmwgnn Juupnwswingwlwugnmj gmGuwyn-
powd: Shinpmudp Ypyamd 66 2-3 whqud, unmpy pytphg quGmy dhehG dwjuup
L Juwwwpnud b6 hwpwpyGbpp:
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3NHUUONM3NFL

3nnwywhwiwl npnymiGtpp hhdGywo LG
Jz +2e & 2T

Yy, unfbih Ghain
Ii+2e & 3

hwywuwpwlpynmpjwul ypw: J,/2J hwiwiwpgh vnwpupn wnnbG-
ghunp w)jlGpwi ty o sk E®yer = +0,54 §: UpwGny t pugunpymd wyG, ap
mnuyuhwiul tnubwyny Jupbih t npnby W opuhnhyGlip, Yepwjwiqityny
npuip J hnG6bpny, L' JhpwywkqGhyGhp, npybu wijuwnwlpwihG momjp
oqunnugnpdbny J-h momypp: J;-ny Ypwiwlqbh;Giph whwnpnuiGhpp nin-
nuyh npnpdwl tnwlwybbp b6, npnlg Yhpwnnudp vwhdwlwihwy t, Gywwmp
mGhGwinyg ynngh pmj opuhnh; thGhjp: OpuhnhsGtph npnydwG dwiwblwmy op-
uhnhyGtiphG wybpugimy 6 Yuwihmdh jnnhn, nkwyghuyh wpymbpmd wG-
owum|my t opuhnhshG bwdwpdtp pwlwimpjundp Jo, npp mpunpmy b6 Guwn-

phouth phounibwwh wyhiuawlpuhG monypny: Liwpugpiwdhg wwpgq
t nunGmy, np opuhnhyGtph npuymip Juumwpymd t wimnnuih tautwynyg:

deLUYULILhALBrh NPNCAMT
J-ny wnhwupiw6 ghwpbpp 3Gwywd vwhiwlwhwy 66, pw)g Yhpwnymd
G $h pwih ShwgmpymGGtph npnydwG bwdwp.
SbO;* + J, + HyO = SbO,> + 2T + 2H"
AsO; +J,+ 2H,0 < HAsO,> + 2T + 3H"
SOy* + I, + HyO = SO  + 2J + 2H"
Sn?* +J;=Sn*" +2r
H,S+J,=8S+2J+2H"
25,057+ 1, = 8,06 + 21
2Fe(CN)g* + J,= 2Fe(CN)s> + 2T Ly

* Nbtwlghw)h nbagh we gGumt hwiwp whwnp t monyphb wybpuglby NaHCO,
onwdGh hnGGhpp Yuughim hwdwp. E°Hasor/as0;, = + 0,56 W
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dhpwwbqbhyGbph jnpusunhwlwb npnydwb vlutdwi hnbyuyG t:

12T -hwiwlwngh wnnbGghwip Ywhogwod 3t epudGh hnGh YnGghGun-
nughwjhg, vwyw)G junh htan opny YepujwGqGhsGtph thnhuuqnigmpyub
wpymGpmd wiowwmymy b6 H'-hnGGbp, npnlg Ghplywympyunip hGwpwynp t
hwlwnwnpé ptwmyghwjh pGpwgpp (AsO;™-h npnymip): LywGwlymd t, whnp
t lupun wpquidnpby imdnyph pH-p: Gph dhounjwyph pH-p dbd (hGh 9-hg,
hGwpwynp t nunGmd J, + OH = HJO + J nhwlghwa, huly HIO-G GmyG dp-
ounjuypnud Yuwpnn b opuhnuGuy $haslk JO;™:

3HJO + 30H =JOy" + 2T + 3H,0

YhpwlwlqGhyGtph tinfuwgqntigmpmbp JO5™-h htwn Ywpnn b pGpwGuy
ponpnjhG w)) ujubidw)ny L wnwg phpk) thopdh vhuwyg: Shonpdwl apgGuyt-
wp Juptih b npngby ménypmud J,-hG pGopng pwg ninhG qomyGh hwynGytim,
uwluyG nu wyGpwb t} qquyma st: Snnpupubwliwi tnuGwymyd apybu hi-
nhijwwnnp ogqunugnpomy kG oujwG, npp J-h (wybh 8hyw J;” hnGGph) Ghp-
Ywympjwdp pidmypp Gipymy t dmq Yuwynpn qniyiny: GmjGh wowowg-
dwl hwdwp Yl nmwppbp puguinpmpmbGibp: Unwyty huyjwuwiwjwb pw-

guwunpmpyGG wjiG t, np Jo-p oujwph puwnunph; hwlnhuwgnn B-unih[nqh
dwlpmintynih wwpmymudl znpwyh Gipumd wnwewgGmd t wnunppghnG
ynduitipu: Oujwijh vymu pununphy C-wdhingG wyn hwwympimbp ;mGh L
gpw GupYuympimbp oupwmy gwllwih st: Gwpnndhh L ppGdh owjwl w-
Ybuih 2w uwpmGwymd t ﬂ-uuimnq U hwpdwnp t npwbu hinhyunnp hpw-
nbim hwdwp: <wjnGh t Gwl wjuybu Ynygwd ,jmoth oujw”, npp unwg-
ynud & wprymGupbpuljw6 tnuGwyny b punjugwd t hhiGuwlwioud ﬂ-uuib-
1nqhg: {tGg upwbhg t} wwwpwummd b6 hGnhjuwwnnph jpdmypp: Oupwyh
monypp dGwimg pwjpwyymd t, npuw hwdwp t} oquuugnpdmy Gl oupuyh
pwpyd yunnpuunwd monypp: LhpuywbqGhyGhph npnymd Juwmwpbihu h-
nhjuwwnnpp wybpugimd b6 mhnpmdnp ujubjng wowsy:

v ORURhIVE D NrNCART

OpuhnhGuph npnymip jonwswithwywé tnulGwyny wGnnnuyh npo-
i £ KJ-h momypny opuhnhiGhph mnnuwith whnpmd juwwnmwpby hGwpw-
Yaop sk, Gunp mGeGwny hbnbyuy hwGquiwGpGhpp.

w) hGwpwynp 3t npnyti hwdwpdbpmpywub Yuwnp: Oujwé npwytiu hGnh-
Juwwnp hGwpunpnipymG & wwhu 6hpwn npnpty imdnypmy J>-h wnwowg-
dwl Juwd whbhwnwgiwb upwhp: hul opupnhyGbph U KJ-h thnjuwmgntgmpiwG
nbwyghuw)h wywpwh uwjwbp bwdwwwwwuppwlmd t wyG Yh6wyhG, Gpp
nunwpnid t Jo-h wnwewgnudp, npp hGwpwynp st dhpuby,
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p) opuhnhyGuph L J" hnGGkph dhel pGpwgnn nbwyghwl unynpwpwp
nubnun t, pGsp sh pujwpupmd whupwyuhwiwé nbwjghwih wwhwG-
ghé,

q) ntbwyghwbpp pwlwlwybe dhGsl Yupe qiwim hwidwp wwhwGenud
tiG KJ-h wytygmYh wnlwjmp)nG,

1) KJ-h jnednypp JuymG 3t dwdwluyh pGpugpmy nnuulmyd hwjynG-
ymd t wqunn jnr), mdntpp thnjunud & hp whwpp L phnGma t:

Ljwwnh niGbGwny Ggwd hwiquiwGpGhpp, opuhnhsGtph (A,p,.) npn-
muip junwpmd 86 htnbyw) pnhwGaip ujubdwny.

Aopu- + 2J-(wqh|gml|) = Ac.|h|1' + JZ
Jp+28,05% = 2F + S,0¢"

Opuhnhsh 6how junhywd |mdnyphl wytiwglimyi bl wybkigniyny KJ, n-
nh wpymGpmud wipwwnymy t opuhnhshl hwiwpdtp pwGwympjwip J,: KJ-
h wytigniyl wihpwdbyw t nhwyghwjh pwlwyuwywl pGpwugpl wujwhnyt-
1y, nbwyghwl wpwqugltym, hGywbtu Gwh wipwnygwd J-p Motym bhw-
dwp.

KJ+J);, & KJ;

bpb opuhnh; - jonhn thnluwqntgnmpmG6 phpwlmd t ppm dhowtjwy-
i, wujw wihpwdtyw b wbjuglt; Gul ppm:

Nputiugh nbwlghw wywpwyh, fuwntmpnp ponimy &6 dmn 5 pnwb,
Wwhtny dmp wtnmd, juGjubint hudwp

4T + 4H' + 0,=2J,+2H,0

nhwlghw@, np6 wpwgquind t ymjuh wqgbgmpjuwdp L wowg t ptipmd
npnpdwl upuw) (unwgymd GG wGwihgh pwpdp wyjwiGtp): phg htnon wG-
sunywd jonp whwnpmd 56 Gwwppmih phnunyduwnh wyuunnwGpwjhG ym-
omjpny, oujwl wytpugGtinyg wyG upwhpG, tpp Jo-h bhiGwlws dwup whuap-
by t L ymomypp nuipdty t ghinhG qoyGh: Oujw wybjwgGhinig htiwn ymdmypp
juwwnmy t: Lwnphmih phnunydwn wybjuglmd GG wyGpwa, Shisl Ybp-
9hG {wphihg imom;jpl wiqniGwGw:

Wju inubwyny Juptith & npngty puquiwphy opuhnh;Ghp.

Cr,0,% + 67 + 14H" = 2Cr ** + 3J,+ TH,0
CL+2r=2Cr+J,
Br, + 2 =2Br +J;
CIO +2V +2H'=CI +J,+ H,0
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JO; + 5T + 6H' = 3], + 3H,0
2MnO, + 10T + 16H* = 2Mn*" + 5],+ 8H,0
CIOy + 6F + 6H" = CT + 3],+ 3H,0
H,0,; + 2T + 2H" = J,+ 2H,0
2Fe* + 2J = 2Fe®* + J, L wyyi:
Sonusunuywb tnpwbwyny Yuptyh b junwpt) Gwl ppmGiph npnymad.
JOy + 5+ 6H' =3J,+ H,0

bhGywbtu Gplmyd t gqmwd nbwlghwjhg, wipwumywo J;-p hwiwpdtp t
nhwlghwjhG dwubwlygwd ppyhlG: Ywpdjuy wiounmjwd J-p mhnpmd L6
phouny duwnny U pun JbpohGhu dwhuuph L Gopdwmpyul npnymd L6 ppyh
YnGgbGwmpwghwG:

Ybppmd hwpy t Gob, np jnpuyunhwyui tnuGuyny wyfuunnbhu
nbwlghwé wpuquglitim Gwwwwyny sh uphh peomgpibpp nwpwglby,
Gywwh mGGGwiny J-h ump hdwgybint hwnympimbp (nwpwglhhu J-p
Ytpwdnmu t gninp2hGph L gnmud t): APwpép gbpdwumhfwlimd Gfwqnud t
Guk oujwjh qqu)GmpymaGp:
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UChUSULRUSPY LNMNFELE R
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U) Lwunphnuh phoumpwwnh imonyph wywwpuwunmip

‘Lwunphnush phounypwwnp (Na;S;0, - SH,0) pympinuljwé Gynep t, npp
h pwjwpupnud Glwlymph bwGnby tnwd wwhwGeGlphG L nph whupwd
1monypp sh Yupbih wwwpwunty 6hyn Yndwop Jepglitny: U)e puguiw-
Gh6 wlYwyn G ShwgmpymG t, Ywpnon t thnfuwgnb) opmd jmoyjwd woluwpp-
yh htan.

$,0,% + H;0 + CO, = HCO; + HSOy + Sy

Up ntwlyghwih wpymipmd vyqpmid jmdmyph Gopdwmpymbp vh
thnpp dEdwGmd t: Fw pwgwwpymd t Gpwiny, np phnunybwinp thnfuwg-
nigmpymGp Jo-h htin pGpwGnud t pun htwbywy bwywuwpiwd.

25,0y" + J,= 2T + S,06"
25,0;% - 2e = S,0¢"
E°=+0,00 4
puwn nph Na,S,0;-h dn-hwiwpdbpp hwjwinup t dnjwjhG quiGguohG.
{=2M/2=M
huy HSOy™-h thnfuwgnbgmpjmép J,-h htwn pGpwGnud £ htnlguy duny.
HSOy +J;+ Hy,O=HSO, + 2H" + 2T

npintin HSO;-h dn-hwidwpdtipp hwjwuwp t 1/2 M-h: Vywlwymd t
by dnj-hmiwpdtp phonumppwwp mpwplpymd t 2 dnj-bwdwpdtp hhnpn-
untybhwnh, np6 b ywwswn t qunGmy momjph Gaptwmpiwi Jedwglwbn:

Ohnumpwnh monyph JwymGmppul Ypw wqnmd GG Gl dddph
hwGnby qqu)mG ShypnopquGhqiGhpp (phopwywtphwlbpp), (monyph pH-
1, onh ppdwdGh dnunpp momyp L wplh ninquih myup: bpb pH < 5, wujw
phnumdpwwnp ymdmpmyd pGpw imy t htinljw nbwyghwd.

SzO;z""‘ H & HS,0; — HSO;Z- +S)
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OnpdGwlwlnpllG gm)g t wpyty, op phnumidwinh monyph JuniGmp-
ntlp wikGwdtda ¢t pH = 9 — 10 mhpnypm, vwyw)G wyl pufwpwp Juynib
t Gwl pH = 7-h nhupmd:

H'-h wqntgmpn Gp YwGlubim hwiwp wn hwwiu phnumpwnh |nt-
onypp wwwnpwuwbtjhu wtipuglnd b6 Guunphnuih juppnGuan,

CO;* + H'= HCOy

Onh ppYwdGh wqnbgmpjuip phnunypwwnG opuhnuufmd t dphl umy-
duwwm L whowumimd L wqun ddmuip.
2Na;S8;0; + 0= 2Na,S0O, + S

‘Lwwnphmip phnumipwnp imonyph whwmd thGim jwplopuqnyl
wwwéwnltphg t npny dwGptGhph welwympymbn, npnGp pwjpwymd kLl
phnumpwunp dhGyk umpbpwn, umppwn L somudp: UwGpkGhph wép 86;6m
hwiwp wybjuegimu 66 Hgl; jud Gwunphmidh phfigniun:

dbpp Jwpunpjwohg htmbtmy b, np Gwju ywwnpwuwnnd 6 Gwwnphm-
th phnuntjpunnh dowuninp YnGghGinpughwjh nidmyp, htinn hwuwnwwmy
6hywn YnGgGnpughwi:

Unynpwpwp wwnpwuewnmy &G Gunphnidh phnumippwnh 0,02-0,05 L -
tmomypltp: Gipwnpbfp wwhwleymy t wwwpwuwtby ~ 0,05V 1 | MOMyp:
Na;S;0; - SH;0-h dnj- hwiwpdtipp hwyjwuwp t 2M / 2 = 248,2 q, 0,05 dnj-
hwdwpdtpp YhGh 248,2 - 0,05 = 12,41 q: ShjuGhijwlwG Ytnph Ypw Yonmd
bl ~ 12,5 q Gwwphmih phnunydwin, moémd pupd inwgpwd, htun vwntig-
nwd popwd opmy, 1 ] (mdmph uhp wybpuglitmy 0,1 q Na,COs L 10 dq Hgly:
Wyu dLny wuwnmuunwd mdémpp kY op pnnGhmg htwnn Juptih t dhpnpt
L hwunwnl) whunpp nplt Gpulymph oglimpjwdp: Gpt (Mo pp Wunpwu-
wbithu Na;CO; L Hgl; sh wybjugymi, www whinp t uwywuby 10 op, nphg ht-
uin phpnpty L hwuwnwwnby whwpp:

p) Snnh imonyyph Wunpwuwnmip

Snnh wyhiwwnwlpuwyhG monyp Ywpkih L wwwpwuwt, jud phihw-
wbu Ywpmp Jo-h 6hyw Yonywop YupgGhmy, Yw b whjuGhijwlywé J;-hg, L
hwuwmwnbi yepehGhu mhwnpp phounijwnh mpunpwd mom;pny:

Lhdhwuybu Jwpmp J; Jupbih t snwiw) nthluGpwywh jonhg hwalguy
dlny: <wjinbh t, np jnpp vmjnpuwpwp WwpmGuimd t wwppbp juwnlGny-
Gtp. CI, JCI, JBr, JCI;, junGuympymG: Upwighg wqwuytim hwdwp J-h
pymntinGtpG wqunt hunjwlgh dhe wpnpmd GG KJ-h L CaO-h htw: CaO-G
Ywimy t funGwympymGn, huy KJ-p thojuwgnmad t djniv pwnGmyGhph htn.

CL+2KJ=2KCI+ ],
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JC1+KI=KCI+],
JBr + KJ = KBr + J; L wy6:

hwnbnpnp thinfuwnpmyd GG ynp pwdwlh dbe, dwolymd b6 uwnp 9pny
19ywd Yinpuwhwwnwly Ynpwnyg L ggmympjunip mwpwglimy bG: J-p bGpwpy-
ymd b umphdwgiwG, wigunnywd J,-h gninpzhGhpp hwlnhwbng vwnp Y-
pwyhG pymptinwbnud 66 L Guunmy Gpw Ypuw: dwiwlwl wn dwiwGuwy Jw-
pmp janp wupulb dnnhyny htinwgGmad G, |ghtny pympuh dte: Umpihiwg-
Yo yjnp wwhmi GG tpuhuwunnpmy’ juyghmih opupnh Ypw:

Vlhwwh mGuGuny J,-h umpihdwgytim huwmympymbp, Yondw6 duwdw-
Gwy Ynpuinhg lumuwhbtim hwdwp momypp yWwwnpwunmd ti htnbjuy
Ytpw: StuGhfwlwG Yytoph Yypw pympup dhe Yrnmy bl 2-3 q KJ, imomud
hGwpwynphG sunh phy pwGwympjwdp gph dhe: KJ-h opmy modwl dwiw-
Gwy Yrubymi t otpdmpym b’ mompp vwnymu t: Lndmjph sbpdwuwmpstw-
Gp ubfymlwihG nunGuwymg hbnn pympup dSwdymd GG Ywhwphsnyg L 6hywn
pnmid wGunhwhy Yotnph Yypw: Nphg hbwn pympuh vy wybjuglimd &G ~
0,6 q umphiwmgywd J;-hg (250 ¥ 0,02 L monyp upwwmpwunbin hwdwp),
wpug Swoymy b6 Ywithwphyny L Ybpglmd 6hywn Yrmjwopp: bpym Yy hnGb-
ph nwppipmpymGp wwjhu t jnnh quiquop: fympuh dbe qqnumpjudp
imomu GG ynnh pympbnGbpp, nphg htnn unwgywd momypp dwquph og-
Gnpywdp tinfuwnnmyd kG 250 d-ng junhdwG Ynpwjh dke, pynipup L dwqu-
np (wy (Ywbnuwi bG, nphg htivn epny GnupwglGnud dhash Ghyp, thwinui bG ph-
pwlp wywyt fugwny L jwy huwnimy: Cun J-h quigywdh L mdmph
Swywih hwyymd 46 wwwnpwunygwdo ymonph whwpp b Gnpdwmpymbn (43,
= M/2 = 254/2 = 127q): bpb J,-h imomypp Wwwpwuinmi GG whjuGhjwlwl
wnbkwwpunnhg, www wkuGhjwmiywb Yrtinph Ypw Yhpgima b6 0,6- 0,7 q J»-
h Ynjwop: Pwdwlh dby 2-3 g KJ-p ndmd GG phy pwlwympjudp gpmd,
janh Pojwopp thnjuwnpmd 6 pwdwih dhy, momy L momypp Gnupwg-
Gnui 9pny $ha;L 250 §) dwywy: Mwwpwuwywd |monyph mhinpp hwunw-
wnud kG Gwwphnuih phnunypwnny:

q) Oupwjh 1 momph Wwnpwuwnnuip

Oupwjh imonyp wunnpwunbym hwdwp Yynmi &6 0,5 q “\mdbih ouw”™

L qwy wpnpmd phy pwGwlmpjwdp eph httn wjGybu, np winwgyh dwdmly:
Uwnwgywd dwomyp (gmy kG 100 ) inwgnn 9ph dhke, imuglGnd Lu 2-3 pn-
wb dhil unwgyh pwhwghly imoényp: Mbwp t Gyuwwnh mihGwy, np oupwb
lwy ufinignn dhowyw)p t ShypnopquGhquiGtph hwdwp b mdm)ph dbe dw-
twiwyh pGpugpmyd hwjmGymd &G poppnu L pwlGdpmYyGup’ hGnhYwwnnpp
nunGmy t oy whnwGh: Lmdmyph YuynGmpymGp Yupth b dkowglhy, tph
wuwnpwuwntbjhu wybjwgyh th pwGh shihgpud Hgl; juwd b yjwnpuwuntbing
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htinn (nudnypp 2-3 dwd wwhyh epwjhG pwnGhph Yypw: Oupwyh wjuughup
dwlptwqbpdywd ménypGhpp Yupnn b6 wwhyb) 2w bpluwp:

Oupwyh 1dnyph 2-34) wwpmGwynn 500) ophG 14wph 0,02 U Jx-h 1m-
onyp wybkjugGhihu wbwp & hwjwnGyh dwpmp Juumjpm gmbunjnpmy: Gpb
momypmy bwjnbyh dwlinywhugmyl jud qopyuymb qniGwynpmd G-
Gwymd t, np hGghjwwnpp whinwGh st:

Nay$;0; -h UChUSUWRUShY LIIFONF3Rh ShSMh
(LNrUULNKE3UYL) KUUSUSN ML

‘Lwwphmip phounydwnh monyph whwnph hwunwwdw hwiwp Yu-
phh t oqunyb) dh pwpp unwlnupnGphg. phipwujtiu Swpmp jon, Juihnuih
tpyppodunn’ K,Cr,O;, uyhnudh jajun’ KJIO;, Ywihmdh ppondwwn’ KBrO;,
Yuwihawih bphghwGhn Ki[Fe(CN)e] b wyil: Upwlp poinpp opuhnhyGhp b6, n-
pnGp jnnhn hnfiGiph bt Gnjuwgntind wiowwnmd kG hwjnGh pwlwlmp-
judp jnn, npG b htwon wnhwpmy 46 phoumibwwmh monypny: Lqwd opuh-
nhyGlphg wybtih hwéwju Yhpwnm 66 K,Cr,05 L KJOs:

LhGhiny mdtn opuhnhy K,Cr,O7p (E° = + 1,33 W) plnmGuy t opuhruig-
Gt Gwwnphnuwh phnumipwinhb (E° = + 0,09 ), uvwijw)l thnluwqptgmpjut
ntwlhghwG pwpy t L ny vnbfuhndbnphwiwi m sh Ywpon wpnwhw oy
by hwywuwpdwip: Fpw hwdwp ) npnymuip juwnwpmd b6 pun btiwlguy
ntwyghwGbnh.

K2Cr207 + 6KJ + 7stO4 = 4K2804 + Crz(SO4)3 + 3]2 + 7H20
LKy =M/6=294,18/6=49,03 q
Jz + 2N323203 = Na:S406 + 2NaJ

Gunhnuih tpyppndwinh L Ywihnudh jonhnh dhel pGpugnn ntwyghwih
wpymGpmd wigunnjwd jonp hwdwmpdbp t ybpgjwd opuhnhsh pwlwymp-
jwlp, hbwnlwpwp dwhiwjwd Gwwphmdh phnumidpwnlG ty bwdwpdbp t
K;Cr,07-h ytipgwd pwlwlympjwubp: Ywihmdh tpyppodwwnh htn nbwly-
ghwjh hwidwp Jbpglnid 66 Juihmdh janhnh pun nbwlghw)h bwjwuwp-
dwl wwhwlogwohg 3-4-yunnhy wybigmy nbwyghwih wpyymGpmi wd-
owwnyjwd jonp motim, jonh ginbihmpimbGp Gwqbglhm L nbwighwé pw-
Gwlwwbu $haGyl Ytpe nwlhim hwdwp:

Uhwyjwypmd wlhpwdtyw ppynipymbGp wyywhnytym hwiwp wybjug-
Gnwd LG 15-204) 1 : 5 Gnupwgpud SdOTpwywi ppot, (mdmjph 50-100 ¥ Yupe-
Gwlywl d>unjwih nhwpmd:

LUuyhntdh jnnhnp tppbdG6 wupmuiymy £ KJOs-h wG6w6 fuwnGopsy:
Wyu nbuypmy juihmih jnghnh jmdnypp ppytigGhihu wipwmymy t wGGwb
pwliwlympjwdp jnn L mdmypp nlinGma t.
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5KJ + KJ03 + 3H280‘ = 3KZSO‘ + 3]2 + 3H10
Vjwunh mGbGwiny wju pmnpp, thopdp Yunwpmy GG bbabywy Loy

®opdh plpwgpp UnGwdl Ynpwjh dGe swihdwb quibny Ytipg-
Gmy w6 5-7 4 20%-ng KJ-h monyp, wykpugGmud 15-20 §; 1 : 5 Gnupwugnud
onipwlwG ppm: bph mdnypp nlinGmu t, Yuwphi-yuwph wybjugimd b6
Guwnphntdh phounyuwnh ymonyp dhisk yupohG Ywphihg imomypp qmbGuw-
qniyh, whubany wybyjuglnd GG 25,00 ¥ Ywihmdh pyppndwnh mdnyp,
ynjpuyh pipwGp dSwdymd GG dundwigmjgh wwwiyhny L pnnmd 4G down 5
pnyt dpmpjwl dke: Niphg htwnn hwlmd LG dwdwgniygh wuywyhG L uwht-
14 Yngpwgh Ypw nnnnma GG pnpwd opny: Uybjuglimd kG dmn 100 4| pnpwd
omn (Cl"’-h Ywlw; qmbp yulwubgGbm L hwiwpdbpmpjwl Yhnmd qm;-
Gh wGgmyp htipw pAYwihym hwdwp) L ujunud &6 whupmdp Gwjuopnp pjm-
phwnh vb9 1gpwd Gunphmuth phnuniyydpunh mdnypny’ wlplinhwn fuwnGh-
1ny Ynipwjh ymomypp: Uyqpnid whinpmd b6 wowlg hinhjunnnp wybjmgGb-
im: ShupiwG pGpwgpnd Wmg-nupyGugqmyG mdmjpp wuwmhSwGwpwp
pwgynud t L htiig np nunGmd k ninGwlwlw; gmybh, wybjugimd &6 3-5 §
oujw)h mdnyp L 2wpmbuymd GG whinpmdip dhGsk p]muml:buun ytpohG
Uty Ywphihg monyph qniyGp Ywwmjnhg qunGw pug Gwbw; (Cr' -h qmy-
Gp):

bpt mhunpwd momypp th pwlh pnyb §Guynig htnn Gnphg Juujnmd
t, ngpw ypw nwnpmpmG ywbwp t nupd6ly, npnybbnl puw wbnh t oG-
Gnd onh ppwoGh wqntgmpjuip KJ-h ppmt mdnmyph opuhnugiw
htimnlwGpny (4HJ + O, = 2H,0 + J;): Shimpmdp Gm)G duny YpyGmd b6 Lu 2-3
wlquy, Giwl wanymGplbphg hwyynd Guwnphnish phnumppwwnh ymomyph
thohG dwiuup L jwwwpmd hwyunpybtpp:

NMMLIh 3N1UUUGUYL NrNCARND

Snnwywhmpjut Yhpwndwé Juplnp vwpqtphg dbyp wynGdh npnymid
L, npG hp 62nmpjwip qghemd t shw)G Liwnpwlprwswhwiwi tnubwyha:
W6 o YhpwompniG mGh hwGptpmy, hwiwdmpyjwdpGbpmd b wjp op-
JiywGtpntd wnGdh puwGwliwlywi npnymd wwnwptthu: Npnymdp BhdGywo t
htinbywy nbwmyghwlbph Yypw.

2Cu¥ +4T=2Culy + 1,
Y 2CuSO, + 4KJ = 2CuJ} + J, + 2K,S0,
nbnGwuwhnwy
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Jz + 2N8282c« =2Nal] + Na;S406

Nbwyghwih wpymlpmd uGpwumjwd J,-p hwiwpdtp bt nbwlyghwjh
dbe vmwd wnGahG: Lwwnphmdhphnumpwinh wfuwnwbpujhG {mdnypoy
whunpmy b6 wiowwnywd Jz-g L un dwjuuh Ywwnwpnd hwpgwpyp: Lwh
np janhn hnGGhph htnn Cu®*-h inquqhgmpjmﬁg wmtnh t mGeGmy dby t-
tbywpnGh Jwulwlygmpjudp, wwu wnGdh hwdwpdhpg pﬂmu{hu hwywuwp
L wunndwyhl quigywohG’ 63,54 q: Qwwnbiny Cu®/Cu' B°=+0,15 D) L
1721 (E° = + 0,54 1) hwiwywngbjh unwnwmn ybpopu wnmntGghwih wp-
dtplhkphg whwp tp uwwuby, np naulghwé YmGLGw hwywnwy pipugpp:
UwlwyG, tipb Gjwwnh mGaGwap wyi trwuwnp, np Cu’ hnGGtpp qmluuquhkml
T hnGGbph bt wnwowglmy b6 ndlwpwimd Gunjwdp CuJ (Lo ~ 10° %)
wuwpq Ynwniw, np wnhGd vhuntnth ntw) Ybpopu wnwnblghwip wwppbp t
uwnwinwpn ymnkGghwih dhdmpmihg: LunjwopwgnyugiwG nbwyghw-
jh htwlwGpny Cu’ hnGGbph YnGgbGnpughwd momypmi fuhuwn thoppw-
Gnud t, hulj hwdwljwnpgh ymnbighwip' dGowGnd.

E =E°+ 0,058 Ig [Cu®"]/ [Cu"]

GpunphGp imonypmy [Cu®]= 10" dny/, huy [T] = liny/;: UhwdwibGun
wnGah jophnh hwgbgwd (mompnis Cu*-hnGGtph YnGghGnmughwG YihGh.

LUy =[Cu"] - [F])=10™
[Cu')=1Ucy/[J]=10"%/1=10"2umA

Stnunptyny  Cu’-hnGGph  YnGghGupwghw)h wpdtpp LtpGuwnh
hwjwuwpiwG dhe Yumwgyh.

E=+0,15+0,0581g 10" /10" =+0,15+0,0581g 10" =+ 0,794

Wu dudmpymbp wyth pwpdp t jonh opuhnugdwG u{nmbﬁghmﬂlg,
muwh hpnp ntwyghwi wbwp t ppwlw Yupp gpywd dlny' Cu®* hnGGbpp
wbiwnp t hwinbu qub npubu opuhnh;, huy J" hnGGupp’ YupwijwGqGhy:

QGwjywd H' hnGGbp6 wyu nbwhghwjhG b6 Swulwygmd, uwlw)G
wnGAh wnbph hhnpnihqp Ywbjubm L nbwyghwl wpwquglhm hudwp
oquujwpn t y\mdmjphG puguwuwppm (bph wihpwmdtyn t° Gwl Guwnphmdh
pugwhuwwmn) wybjwgibiny untindty poyy ppyiwihG Shewywp’ pH = 4,5-5,0:

®nndh pGpwgpnp Shupdwd Ynpujh dhe sunhdwb grubing (gGmd
b6 15 p 20%-ng KJ-h imonmyp, 3-4 &) 80%-ng puwgwhiwppm L whwbwnny
wybjuglmy 25,00 §) hiwwqonunn ymdnyp: Unppwjh ppwlp Swdymd Ll
dwiwgm)gh wwwyhny L ntwlghwé wjwpnbym hwdwp juwnGmpnp 5
pnwt pnnmd bG dpmpjwG dhe: Nphg hbwnn whtnpmd LG MdNYyPpp
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Gwwphmudh phnumpwwh woluwwmwlpwihG momypny, oupwb (3-5 Uy
wytjwglny w6 wwhhG, bpp juwmGmpnh qnpy qmyGp pwgymd t L
nunimd  bwppw-pinGuymiG: Shupowip  wpmbwymd GG wyGpwG
dudwGwy, dhGLk Gwwphmih phnunbwnh JupohG 1 Ywphihg ymonyph
Jwwnin gntyGp wihbwmwiw L Gw gnGw-uyhnwijwymi ynouopmpntd
(CuJy): Shwapnuip GnyyG dta} YpYGoed G Lu 2-3 whquid L puwn ShehG dwluuh
Juwwpnd hwqwplyp:

-QPUO'DUQI’D N&rOLUP M 3N2UUOUYLY
nmenre

2puoGh wbpopuhnh jnpwsunhwiwb npoymdp hhdGjwo t hGwnbjuy
nbwlyghwjh ypw.

2 + H;0,+ 2H' = J,+ 2H,0

punn nph jonhn hnGp hwGnbu t qunhu npubtu YupuwiwGqGh, huy
opwoGh whpopuhnp’ opuhnh;.

HzOz + 2H+ +2e= 2H20
4H:0,= M /2=34,02/2=17,01 ghi;g

Q6wjywmd wju hwiwfwnpgh pwpdp vnwlnupn Yepopu wmnbGghwih,
jahnh htun (injuwgntigmpimGp pGpwlnud t puinun: Gw pugunmimy t
GpwGny, np nbwyghwG pGpwlimy t $h pwbh thoymy,

T + H,0,=JO + H,0

JO'+ H"=HIO
HIO+T+H =1,+ H,0

npnGghg wnwehGG pGpwlimy t nuGnun, hGmy L wwpiwlwynpwd t
nbwlghwjh YupeGulywl wpwgnipymbp: Nbwyghwé wpwqulimd b win-
GhnuwSh dnjhprywwnh Geplywnipyundp, npG wju ntwlghwyh hwdwp ppujul
jwwnwhquuwunp t:

®npdh plpwgpp Shupdwl Yopuh dhe ywihdwb quubny
JbpgGmd GG 100y 1:4 Gonupwgpwd ddpwliwG ppm, wykjuwgbmd 104} Ywih-
nuth junhnh MOmp, whubinny wybpugimd b6 10 yud 204 whpopuhnh
wGwihqyon |mdmyp, §h pwGh Ywph 3%-ng winGhnudh dnthprunnh ndnyp,
huownGmpnp ponGmd 66 dpnipywl dhe 5 pnwh, nphg htiun whewumjwd J,-p
whwpmud 46 Guwwphnush phoum$winh wuwnwbpwihl monypny, oupwb
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wybjwgltiny nhnpiwé YipgGwltwhl dmn, bpp jonh hhdGwliwé Swup

thnfuwgnti & Shupmup Ypylnid GG 2-3 wlqwd L punn phnumpwinh Shohl
dwjuuh Juuwpmy GG bwjwpyp:

UNM ShSLELh 3NUUOULGUYL Arnenrir

Uyu npnymudp hpiGywd b htwnbywy niwlghw)h ypw.
SOy + J, +H,0 = SO + 2T + 2H" (%0 /50,7 = +0,17 )
SO,” + Hy0 - 2e = SO + 2H' SO, =M /2

Mbwp b GGpunpb;, np unydhnh Mdnypp Juptmh t whwupty J-h
monypny: UwlwyG hopdtpp gnyg G wdby, np unybhwmh whdhowljwub
wnmhnpmip jnnmy wwihu t ng 6hyw wpymlpGhp: MumndwnG w)G t, ap Yb-
pwijuGqlh;Gpph infjuwgnbgmpmibp jnnh htivn pGpwlmy t hwibdwwnmwpwn
nwlnun, hwwnjuwbu wnhnpiwi YupgGuibnhb dmn, tpp ybpulwGqbhsh
YnGgtGmpwghwG nuaimy t wiGyw6: 3nnp, shwuglbny thnfuwqnl) Yytpu-
YwubqlGhsh htun dhGsk hwdwpdbpmpjui YuwhG bwullp, ghinfuwgnmd t
oujwjh htw L jnidnypp Ghpynid uwwmjn qm)Gny, nph wpymGpmd uwnwg-
ymd 46 gwon wjunGhp (phpwhunpmd): dLbpehGhu Gwwunmd 46 Gwb Yb-
nuywbqGhsh dh dwuh opuhnugnuip onh ppywdlny L pplwihlG dheww)-
pmd SO; quqh wl9wwmdwb hGwpwynpmpymbGp: Uyn yunswnny npnymydp
Juwwwpnd 66 bwn mponpdwi tnuiGwyny: UGwhqyon indmyphlG wybjwg-
(my GG jonh whwnpwd Momjp wybigmyny, jnnh wbgmyp npnymd GG
wnhwptiny Gwwnphmih phoumpwnh wlvwwnwlpwihG mompmy: Udbjug-
Jwd jnph puwlwyhg hwibiny wytkignmyp npnymd 46 uniydpwmh Ypw dwhiu-
Jwd jnnh puGwiyp:

®npdh phpwgpp UGwihqynn jnidnyphg whujtinny Ytpgimu ta
250 L thnjuwnpmi whnpdwG Ynpwih dhe, wybwgimd jnnh whwpwo
1monyp 40-504; (6w sjwhywd dSwywi): Unpwl dSwolymy kG dwdwgnigh
wwwihny L ¥h pwlh poybt panGmy dpmpjul dkg, nphg htiwan jnnh wybi-
gniyp whurpmy L6 Gwwphmdh phnumpwnh wtuwmwbpwphG ymonypny,
oujwl wybjugltingy whwnpiwli YtpgGwybnhG dnwn, tpp mdmyph qmijhp
nunimd t gtinhG: ®npép GnyG dLny YpyGord GG dh pwlh wlGquy, nphg
htunn junnwpmy hwyywpyGtpp:
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PpndwwnwsunhmpiniGp jwhwquGg hbiwwppphp b Yhpwndwl WEd
hGwpwynpmpymGitpny Ybpopu tinwGwlyGbphg dbyG t: U)G hhiGywd t ppn-
duwnwn hnGGbph mdbtn opuhnuglnn hwnympjwub Ypw, pGr npoud nbwghwyh
wpquuhpn ppadhn hnGGhpG GG.

BrO, + 6H' + 6e = Br + 3H,0 (E° =+ 1,45 1)
<KBrO;=M/6=167,01/6=2784q

Vjwmnh mGaGwny BrOy-h pwywlwlhG pwpdp opuhihy mdp, whwnp
kGpwnpb), np npwGny opuhnugmip YpGpwlw ww wpwgq, pwjg hpwlw-
Goud wyl pGpwlmy t pwyuwlwGhG pubnun L nhiwyghwl wpuqugilin hw-
dwp wihpwdtyw t (hmd pwpdp etpdwunpéwb (~ 70°C) L mdtn ppywhl
Showyuw)p:

opyu)hG dhewyw)pmy ppniunn hnGGlpp thnfuwqnmy GG ppndhn oG-
Gtph htivn pun htanbywy hwywuwpiwG.

BrO; + 5Br' + 6H = 3Br; + 3H,0

Unwowgwd Br, —p GmyGubiu opuhnhy t, pwjg BrO;y -hg wykth pmy
E’Br2r = + 1,05 W): bpt npnpyon Gympp Br hnlGaphg wybih mdbn
YupwhwhqGhs t, wyw ppnduwnn hnGGpp wewehG hupphG dinfuwqnmi G
npw(g hbwn: <LGg np npnpynn Gymph htun nbwyghwl wwpuymd t, npuwd
ppmiwnh wybigmip widhgwubtu opuhnuglnid t ppodhn hnGGLphG Ghik
wquw ppod: Lmdnypp Ghpyymd b pug ginhG qm)Gny, npny b Yuwpbih t
npn2ty whinpiwl wjwpup: Pwyg wyn qoylp wiGpwb pmyp &, np gpw Ypw
hhiGywd hwiwpdapmpjwG Yhwnh npnymu wiGpwi ty Shown gt: U wuwn-
Swnny ppndwwnwywihwiwl mhupndGhp juwwnwpbihu oquwugapdmd b6 hG-
nhijunnnpGhip:

dhpopu tnuGwymd Yhpwming hGnhjuwwnnpGtpé opquGwmywG -
gmp)mGGtp 4G, npnGg opuhnugywd dkhg YbpwljubiqGywd dupG whgltip
(wy hwiwrwyp) nupdth wpngbu t L hGnhjuwwnnph opuhnugywd L Yupw-
JwlqGywo dLubtpp nwpptp qnyyd mGLG.

Indgp.. + ne & Indyy,

pndwinwsuhmpjwG hwiwp Giwé hGphjwwnplpp tpbpl GG, O
GuypnpwynG, n-tpopuhtuphqnhnhG L luhGnihGw)hG ninhG, npnGp nupdb-
\mptG thnfuwqnmd GG Bry-h htn: UwywyG ppndunnusuchwiuG inwuGwyh
mpwhwnympymbp hGwpwynpmpymG t wwihu npuyte highjwwnnp oguiw-
qnpot| opqubGwipwG Gymphp, npnGp whnwpdbh opuhnuGmy GG Bry-ny, wnw-
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ougGhijny bpujhG ShwgmpymGhg mwupptp gmG mGhgon opuhnugiwb wpqu-
upp: Swng, wjn opuhnugnuip wlnwpdbih ypngbu t L wyn hwiqudiwGpp
wbwp t hwyyh wnbby Gwb hghjwwnpitpnd wluwnbthu, pwGh np mom;-
ph qmGuwihnfunudp Ywpnn t wmbnh mGsGuy ShGyl wpnpdw JupeGwlytnhG
hwuGlyp, Gjwwh miEGuny whupiwe dwiwbuy nbwijnhth jupwd wntnmd
npw dhd wymgmyp: U wuwwndwnny t) whapdw Jipgmy wibpwdtyw t Gn-
hg wybpuglity vh pwih Yuphy hnhywwnnp, huy Ypyignn whopnuiGeph dw-
dwGwy hGnhyuwwnnp6 wybpuglt] hwiwpdbpmipjwl YtnhG dnwm, ipp KBrO;-h
hpdGulywl Jwul wpnbl wyhwgywd t: Lpndwnwywhnipymind hpunynn
GuwG hGnhijwwmnpbtp b6 Ybphy GupGowgnyGp L dkph Yumihpp:

Ppndwnwywihwlul npnymudGhp Ywpbth t hpuwjwbwglly dh pwGh
wmwppbpwyny: UjGwhuh Gympbkp, hGywhuhp b6 As(Ill), Sb(Il), H,0,,
ppplgywppml L wyil, Ywplth t npnpbi ppywyhG dhowydwypmd nmnnuih
wnhwnptiny KBrO;-h unwGnwupun jnudnypny:

Cww hwwju Jwihnuih ppniwwn ogungnpoymu t npujbiv ppndwgGnn
ntiwqglilwn: Uju nhuypmy npnpynn Gymph ppmt ymdnyphl wnpymid L Yuhmsh
pantdhn wytygmyny L ppndwnny wpnpbihu hnjuwgntgnipymGp pGpwlGnud t
Br-hnGGLph htwn, ntwyghw)h wpymlpmd wiowunmd t Bry, np6 tp thn-
Juwgnmui t npnynn Gynph htwn:

Wu nubwyp jwwn d6d hpwnmpimb mGh opqubwlwb GympLph (w-
pmiwwhy wdhGGtp, hlnGhp, shwqbgwd wdluwepwohGlbp L wy6), hay-
ujtiu Gwl npuGg htan hnjuwqnnn wiopgulwlywG Gymptiph (opuhjuhGnihGh
htin Gunyjwdp wnwowgfing th wdpnang wpp YwwhnlGGhp) npoyvwé hw-
dwp:

Apniunnwymhmp)ul w2uwmwipujhG ponypp KBrOs-h 0,1 U 1m-
om)pG t, npp hGwpwynp t yWwwpwuwnb; Yapwpmipbnugywd L 150-180°C-
mu ynpugpwd wnh 8hyw Ypndwdp YupgGhny: 1§ 0,1 L Moémp Wwwnpwu-
wbijnt hwiwp Yynmd b6 2,7835 q wn, tinfuwnpmyd 1 jhnpwing yuhdw@ Yny-
pwjh 49, momud pnpwd 9pmid L ymdnyph Swyuyp hwugGnd dhiyk Ghop:

uvshunvn nrnenrur

Npnynuip hpdGywo t hirabywy ntwyghwjh Ypw.

3[SbCLJ* + BrO; + 6H" + 3CT = 3[SbCI] + Br + 3H,0
Sb(II) - 2¢ = Sb(V)

sy =121,75/2=60,88 q
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Onpdh plpwgpnp Shinpiwd Ynpwjh dhy whybwnny Ybpglind bl
25,00 §; wiwihqynn monyp, wybjwgind 15 ¥; jupn wnwppm (P = 1,19
q/ud’), mwpwglmuy &G §hGsk ~ 70°C, wybjughmi 2-3 Ywphy ibph GupGow-
qnyfi L mhupmu 4G KBrO;-p wtuwumnwGpwjhG ymonypny: ShnpdwG ybp-
emy, tipp monypnd whihtwwlmy t Juwpnugmjlp L hwymbymd t nbnGw-
ymG tpwlq, unjijmglimy GG Lu dh pwih Ywph hGnhuwnnp: Gpb ypyht sh
hwpnGynid Juppugm)G gmGwynpmyl, wwyw wnpuopndG wjwpomd b6 L
Gpmu GG Yuihmdh ppniwiinh indmyph Swhuudwd dSwduyp:

bnypnpn L hwonpny mhwpmiGbpp juwwwpbihu uqpmd wybpuglima GG
YJwihnish ppodwinh imomjp wnwehG dwluuhg ~ 1 ¥ wwiwu, pLdmypp -
pwglimy 4G shG3lu 70°C, nphg htiunn wybpugGmy GG 2-3 Ywphy hGnhywwnp L
nwlnun whunpmd $hG;l hinhwwnnph gnyyGh wihbnwgmip: Ghywn whwn-
poudp YpYGmy b6 Lu 1-2 whquy, unwgywd wmyjwGbphg yipgGmyd GG dhohl
owfuup L juwwmwpmd hwydwupyp:

UrSLGN L vuahruer

1. hsn®y b wmwppbpymd whipdwiquiunny opupnugiwf ntwlghwjh
pGpwgpp ppyw)yhG showywjpnud hwibtdwwnwd hhipuyhG (Yuy shqnp) dh-
ounjwph htim:

h(sh® 66 hujwup KMnO-h dnp-hunfwpdtpGhpp by L dpmu nbupoud:

2. hGym* wihpwdh)w t yhpiwiquiwwnh monypp pwdwity MnO,-h
Guunmjwophg L ujwhuwpwbb) ;myuh wqnbgmpymGhg:

3. hGyn® pppGoljwnp mhinphithu whpdwGquGunh wnuehG JuphiGhpp
nunun 46 qgmbwqpyynud, wyG nhwypmd, tpp htwwqw YwphGipp qm-
Guqpymd b6 gnpdGwljuimy wyGpwppopbG: h*Gy uwpbh b wik) npuybugh
wllpwppuhl gmiGuqpynidp mtnh mGsGw KMnO,-h htilig wnwehG Ywphy-
Gbphg:

4. Lwlh® wnynu Gpwp t wupmGwlmd tpywpwiwpp, tph 0,1400
qpuip wnw@g onh dmwnph H,SO-md motymg htinn vwwgywd {monyph
whwnnpdwd ypuw dwiuuyb; t 0,1000 b KMnO,-h 24,85 0 imonyp:

M. 99,15%:

5. LwGh® qpuy CaCl; t upupmGuymd 250 o) mdmpp, tipt nmu 25,00
d1-hG 0,1000 U (NH,),C,04h 40,00 4 monyp wybpugbhymg L CaCyO4-h
Gunmjwopp pwdwGhymg htunn nhwyghwih b sinwd (NH,),C204-h mhwnp-
dwb ypw dwfuuyly £ 0,0200 b KMnO4-h 15,00 §) imonyp:

Mwu. 0,7415 q:
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6. MnSO,-h mudnypmd dwGqwbh npnydw6 Gwuwwmwyny yhqnp dhow-
Jujpnud w)yb inpnpty GG 0,0250 U (ppm dhewydwypmd mhinpywd) KMnO,4-h
monypny

(3Mn?* + 2MnO, + 2H,0 = 5MnO;, + 4H"):

Nppw*l t tnt) dwiqubih yupmGwympmbp wyjw) momypmd, tph
npw nhnpiwb Ypw Swhuugtl; t 42,00 §; KMnO,-h jmonu)p:

Muwuw. 0,01730 g

7. hGym® t QuywGmd Fe**-h whptwlqubwmwywhwlwl npnydwb
tmpjniGp: hGym® npwbu YpuwywGqGhy SnCl-p oquuwugnpotihu YtpghGhu w-
Jtigniyp wihpwdbtyn t hinwgGhi: hGym® SnCly-h dbd wibignil) wwy sh Yw-
nhph:

8. h;wt®u t ywwwpmy tpYwph npnznidp Yuwihmdh bpyppodwwnny:
b*Gy hGnhywwnp t oquuugnpdym wyn inwGwymy: hiym® mhnpmdp ujjub-
10g wnw9 wykjugbmyd t6 ppmGhph fuwnimp:

9. 1,8700 q ppndhwh’ FeO + Cr,05 b9 wyupni Gwlynn ppndp Gwnphnuih
wbpopuhnny dhwhwitiny opuhnugnby tG dhGsk +6 opuhnwugiwéG yYhéwly:
upjwodpp Wywyby GG 9pny L tnwgpbi wbhpopuhnh wybtigniyp hbnwglGbym
hwdwp: OpyYtgihing htimn ymdnyphG wybpugnt; &G 0,1600 L Fer'-h 50,00
i} momyp: Fe”—h wybignijp whnptipe hwdwp dwhiugty bt 0,0500 U
K;Cr,05-h 2,97 4| imomyp: fipn)ty ppndhwnh L ppnvh wnlnuwhG wjwpm G-
ympjmGp wGwhqynn Giniymu:

Munn. 15,7% ppodmn, 7,28% Cr:

10. Fe;03 wywpm Gwlynn hwGph hbswhuh® Yongwdp wbwnp t ybpgGhy, np-
wbuqh wjl wnuppymd motmg L ghGyny YepwywbqGhinig hthnnn uwnwg-
Jwd FeCly-h wmhupiwG ypw dwpuwjwd 0,0200 U tpyppndwwh (mdnyph
owjuwip (wpwnwhwjinwd di-bpoy), hwjwuwp thGh hwGpmd Fe;Os-h wmnln-
uw)hG wwpm GwympjniGp:

Mww. 0,1597 g:

1. hG6ym™d t JuywGmd jnpuwypwhmpjub tmpmGp: RGmpwqptip J,/2J
qmyqp puwn unwlnupn ynnbbghuyGtph wnynuwymd gpuwywd nhpph L
nytip wlwjhqnud npw Yhpundw( hGwpwynpmpymGGkpp:

12. PJwpybp w)G ww)jdwGGbpp, npnGp wGhpwdbyn t uypwhupwbly jn-
nuywthwiwl npnymuGbp juwnmwpbihu:

13. hGywb*v Yhnluth phnunydwnh momjph Gopdwimpymbp, btph
CO,-h wqnbgmipyuip 1%-ny pwjpwjyh Ypworytngy NaHSO;-h:

M. Juybjwbw 1% -ny:

14. hywyb“u t pugwwnpymd wnGéh jupwywhwlwé npnysws hwidwp
oquiuqnpoynn nbwyghwh mnnnipynGp:
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15. hGsm® opuhnhsGtph jnwswhwliwi npnydwi dwiwliwy oquw-
qnpdymu t KJ-h dbd wyliigmy:

16. Na,S;03-h 1monyph Gonpiwympymbp npnpyme hwdwp 0,1510 g
K;Cr,07-n imoby kG Gnup wruppymyd L KJ-h wybignly wwmg htwn wé-
swwwd J-n phnunippwnh monypmy| whwphjhu dSwheugty t 46,10 0y Qw;-
Yti; Na;$;0;-h imonyph GnpdwympjmGp:

MNunn. 0,0668 'L:

17. 1,080 q unppGhwh ke wwpmbwlynn SH(IID-n mhnpym hwdwp
owhayty & 0,0653 U Jo-h 41,60 ¥ imonyp: UGwihgh wunnwuhuuGp wpwnw-
hwjwnt; Sb-h U Sb,S3-h mnYnufitpny:

Mun. 15,3% Sb, 21,4% Sb,S;:

18. Uwuqtiph hwppwpiwG hwiwp hpwnynn Gymph 3,0600 g-p whupb-
1 hwdwp Swiuuyb) & 0,1028 U Jo-h 24,70 1y 1ndnyp: {wyki phngihynjwpp-
yh (¥n|. quGqywon 92,1 g/in)) wnynuwjhG wwpm GwlympniGp wiwihqynn
Gdniymd: ShupiwG dwiwGwy pipwgnn ntwlghw( t.
2HSCH,COOH + J; = HOOC-CH,-S-S-CH,-COOH + 2HJ

Mwwn. 7,64%:

19. {wlpmy Ywwwpp npnptim hwdwp Ytpggwd t 5,0000 g Ynjwop:
@pymi |motimg htwn Pb* -hnGGhpp Gunbghy G npwbu PbCrO,:
Lunywopp dhpapty, Jugty L mot) b6 HCL + KJ nwnGmprmad (gpby nbwy-
ghwGtpp): Nhwlyghwih wpymGpmud wpuwunywd J,-p mhnpty 4G 0,5000 L
Na,8,05-h monypny, nphg dwuuyly t 42,00 d;: LwGh* wnoyou Juupwp t
wuwpniGwlmd hwipp:

Mun. 29%:

20. 2,0000 q ywnpuunnp bjnpuiwi yunwpuimd ppywdGh hnuwG-
poud wyptymg wlowwnywd SO,-p Yuulyhy t opny, umwugywd monyph
whinpiwG Jpw Swhsuyby k 0,01125 v Ix-h 3,33 ) jmomyp: Npn)ty d0dph wn-
nuwjhG wWwpm GulynipjmGp ynnuunn:

Mww. 0,03%:

21. hGym®d t Ywywlmd whnpwyunhwiwi wiwhgh ppodwwmwywihw-
Jwi tnwGwyh tmpymGp: hGsh® Yypw t hhdGywd Yhpunynn hGphijuwnnpGbph
gnponnmpjmGp: hGm® wyn hGnhjwwnnpbtpp sh Yuptth nhuwpyt npybu
Ytpopu hGghijwwnnpbtp:

22. lvwn(h) 46 Juyhnush bpyppndwnh hbwmbguy [monypGpp, 300 4y, n-
e wwpmGuimad t 1,5600 q Ywihmdh bpyppndunn, 400 §; 0,0365 U mdmp
L 250 ¥p 0.2130 u mdmyp: Unwgjwd mdmypp Gnupwgnby GG dhGsl gty
lhwnp: hGywhuhG® t uinwugyud yndmyph Gopduy YnGghGnpughwi opuhnug-
Ul ntiwyghwymd:
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Mwuu. 0,1727 u:

23. 75% MnO, wwpmGwyny Gymph wlwihqh hudwp hG® Yndwop
whwnp t YbpgGhy, npwytugh wyn YPnjwodpnp 30,00 4 0,1075 U opuwqwppyh
imonyph htin thnjuwqnbjnig hbium opuwjww hnGGbhph wnjbigmyp wmpwnptithu
Swjuuyh 5 4y 0,1100 ‘U Yuihmih wbpiwGquGwnh i mom)p:

M. 155 4q:

24. 0,3000 q KJO; —h L wyhygmyny ybpgywd KJ -h dhol. mtinh mGhgnn

nbwlghuyhg
KJO, + 5KJ + 3H,S0, = 3K,S0, + 3J, + 3H,0

unwgywd nnp nhupbym hwdwp Swhuuyt) t 48,00 ¥ Na,S,0; -h pupd
wwwnpuwunwd monyp: dwyb] wyn \ntonyyph Gtopdwimp)niGp L whwnpp pun
Jnnh:

Mun. 0,1752 'V, 0,02224 gAiy:

25. bpywpwhwlph hGywhup® Ymjwdp wlnp t ybpgGli, npwbuqh
whunpiwb Ypw Swjuudwd 0,08383 L Yunyhnudh ubpdwiquGunah §i-tph ph-
yn tpyntuny puwqiwwywunybihu winwugyh Fe,0; -h wnynuwighG wjuwpmGuw-
Ympyni Gp hwGpm:

M. 0,3328 q:

26. Uwpmp KMnO, -h L K,CrO4 -h luwnGmpnh 0,2400 q Yonjwopn
ppmt dhouwnjwypmd dzwily b6 KJ -ny, wiowwnywd jonp wmhnpbyme hwdwp
owhiuty t 60,00 4y 0,1000 U Gwwnphmih phouniidwnh pidnyp: Npnaby Cr -
h L Mn -h winynuwjhG wwpmGwympjm Gp hweGmpnmy:

Munn. Cr= 11,00%, Mn = 20,50%:
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LUSLUBLUANSUSUUL by,
NUMLGLUUGN3USUUL ATLUYLE

Shupwunhwjwl wliwhqmd GunydpwgnjugiwbG L Ynduytpuwgn-
Jjuguwi ntwyghwltph Yhpwonip vwhiwlwhwy t, ;Gwpmd Gowe nhwy-
ghwibtpp pwywywGhE yww GG:

‘LunjwopwgnjugiwG nhwyghwGhph nhupnd pu wwjiwGuynpuwd
t fpwiny, np GiwG nbwhghwlhpp Wby Jwuwdp nwlnun G6 pGpwdmy,
GYuwwnymu t hwdwGuntigdw6 tplnyp L, wikGwipuplepp, whnp t wuw-
hnyywo thGh npnyynn hnlp pwlwijwliwG Gunbgmip:

Unynpwpwp Gunbgmip bwiwpymd b pwGwywywl, tpt wjuy
Guinywoph htw 2thynn hwgbgwd momjpmui Guintgynn hnGh YnGghGunpw-
ghwG hwywuwp t Ywd inpp 10 dny/-hg (apn) qppbpnus’ 107 dmA):

Undybpuwgnjugiwl nbwlyghwltph uvwhdwlwthwy Yhpwnmip
wmhwmpwywthwijmli wGuwhgmd wwydwiwynpywd t GpuGny, np Jwwn phuy-
ptipnud dhluGnyG YuwnhnGp wyywy whhnGh htn Jupnn b wnwewglty nwp-
plip pununpmpjui Ynduptipulbtp, wjuhGpé ntwyghwl sh pGpwlnd pun
bl vnbjupnitinpuywG hwfwuwpdwG, apG 4 gdjwpugimyd t pwGwlw-
YJwl npnymup:

LVunyjuwdpwgnugiwG L Yndujbpuwqnjugiwl tnuiwylhpp nuuw-
Yupgynd bl htnlywy dlny.

1. Upowpwyunhmpymb, npp hhdGwd t wpowph Ghwnpuwinh uwwG-
nupn momjph YhpundwG ypw: MGh sh puh nwppbpuayGhp.

w) Gby-Lymuwyh jud hwywuwn yquonnpdwb inwGwy

B) Shuipmd ¢hGsh ynidmph ujwpqbgdwG Yow

q) Unph tqwGwy Ywy bpypnpn Gunywdph wnwgwgiwil tnwiwy

1) dmbwpnh (nnpuGwypuhwiwb) nwGwy

t) dwjywGup tnubwly Yuwd mhnpod wunppghnt hGnhwwnpGhph Yh-
pwnouiny

Upwfghg wnwohl tipymup wnwGg hGnhjwwnnph whnpiwi tnwiwy-
Gtp GG, ¥yntu mwppbpwyiepmd Yhpunynud GG wwppbp hGghjwunplbp:

2. UtpynpnsunhmpymG, npp hhdGwd t dhwyunbGn uGnhyh nGGtph
htin ndjwpwind Gunywopltiph wnwewgiwb Ypw: Fwpdjw] wihnGGuph
npn2 3wl mhwnpwswhwlmb iquGuy t:

3. UbpymppywthmpymG, npp hhdGwd t tpyygwibbn uGnhih hnGGsph
hbwn mwpptp wihnGGLph Ghinjuwgptignipjwi Ypw, hGsh wpymGpawd wnw-
owimd bl Juun nhungynn dhwgmpymiGp’ HgCl,, Hg(CN),, Hg(SCN); U
wy G:
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4. YndupbpunGuywhmpimG, mhnpw;wihwliwi wiunhgh qubuy t,
npntn npybtiv wyhwwnwlpwihG monyp oguugnpdymd t opqubwywi
dhwgnipntG tphibGnpwihGubnpupugwjuwppmi (Ywd tpyubnuijupyud
Guwphnufwiwé wnp), npp puqiwphy tkwwnGiph wwhnG6bph htn wnw-
owgGmuy t mwppbp JuimGmpjui Ynduybpubhp:

LUSLUOLUSGN3USUUYL AULUUb ShSPUUL Wrbr

Shupdw@ Ynph YunmgdwG bwdwp bipungplip NaCl-h 100 §; 0,1 U -
imdnmypp whwmpmd 4G AgNO;-h 0,1 U monypny: Wy jmomypmd, dhGl
wnpinpmd ulubip, pinphn hnGGhph YnGghGwpughwG hwyjwuwp t NaCl-h
ynGghGunpwughwjhG.

[CI'] = Cnucx
pCl=-1g Crnacar=-1g 107 =1

Shwpnuip ujubinig htinn, wpowph Ghwpwwp momyph uwjtijwgiwbp
qmqpGpwg, monypmu thnppwmd t CI' hnGGbph YnGghGumpwghwd, huy
pCl-p dhowlmd t: Gpp wybjugymy t wpdwph Ghupunnh SO 4 0,1 L m-

onyp, pinphy hnGh YnlGgbGnpughwG bpym wiquyd yinppwlnd t (bpt wa-
wtuyh jnidm)ph Gnupmugnnip).

[CI'1=50.0,1/100=5.10"
pCl=-1g5.102=21g10-1g5=1,3
[Ag]=LUpa/[CI]=10""/5.102=2.10"
pAg=-lg[Ag']=-1g2.10°=87
WyG wpubhG tpp wybpugymd t wpdwph Ghwpunnp 90 §; ymdnyp, CI
hnGGtph 90%-p Guinmd t, pCl-p L pAg-p YihGhG.
[CI] =102 dm) pCl=2
[Ag?=10"n; 4 pAg=8
bpp wybjugyntd t wpdwph Ghunpwwh 99 O 1mom)p
[CI]=10" émq pCl=3
(Ag'1=10"dm, pAg=7
99,9 4| wpdwph Ghwpwnh ndmyp unjbjugGtithu
[CI]=10" dnyy pCl=4
[Ag'1=10%dn/  pAg=6
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Updwph Ghupwinh 100 ) 0,1 U momyp wtjwgltjhu vwmwgymy t
AgCl-h hwqligwd mdmp, npbin CI' L Ag® hnGGhph YnGgbGupughwibtpp
hpwp hwywuwp b6 : <Enbwpwp hwdwpdlipmpjub Yawnmd.

[CI]=[Ag"]= ,/Luw = V107 =10 i

pCl=pAg=S5
Upowph Ghnpwnh 0,1 L mdnyph 0,1 ¥ wbigmh nhiwypnid
[Ag=0,1.0,1/100=10"um/ pAg=4
[CI']= 10" dm pCl=6
Unpdwph Ghwnpwnh 101 ¢ wybjuglbihu.
[Ag] =107 dnp pAg=3
[Cr] =107 smA pCl=7 L wyG:

Uunwgywd wpymGpGtipg Ghpjuugywd t6 GY. 13-md gpuudhyh wbtiupny :

~‘N%.5mﬁ§_hﬁ o

NaCl + AgNOyg >

Mybigmly Uykgmy
Ul 13. NaCI -h 0,1 U ymonyph inpunpmdp AgNO; -h 0,1 U imonypny
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hGswbu bplmd t GY. 13-hg, mhwupdwG Ynph mbupp GSwa t ppyw-hhi-
GwjhG whnpmdGhph YnpbphG: Lwdwpdtpnipjwi YhwnhG dnn wnyw t pCl-h
L pAg-h Ywpmy pnhyp tpym shwynpny (4-hg 6 Y 6-hg 4):

Lunywdpwqnyugiwli wmhupmilGbph dwiwlwl bwiwpdtipmpjwb Yh-
wmhG hwiwwuwinwupuwlnn pnhgph dhompimbp hhpdGwlwlind Ywiudwd
tipynt qnpdnlhg:

QMuwlghg wnwehlp Guwnyjwoph mdbhmpjwul wpnwnpyuh wpdtpt
L : bpt CI’ hnGGLph thnfuwpbG wpdwph Ghwupunany whwnpytp J° hnbp gO,l
VL), wyw Junwowblwp wyth gddwpwimd Gungwop’ Agl (LU = 10" u
whwpiwl hwidwpdtpnipjwlG YtwnhG yhwiwwwwnwuhiwbibp pJ-h thnhn-
lumpymG 4-hg dhG;lL 12, wyuhGpG prhsph Ywpqp YnGngpytp 8 dhwynp: Uju-
wntnhg htimlmd t, np nppwG thnpp t mhwnpdwl pGpugpnd wnwewgnn Guwn-
Jwoph mdbtjhmpjwG wpnunppup (moétihmpymbGp), wilpwlé whnpiwb
Ynph ypw o t prhyph whpmypp:

Gnpynnpn gopdnGp tholuwgnon |momypGuph YoGgtGupughwi t: bpb
momypltph YnGgtlwmpwghwltpp 0,1 L-h thnjuwphG thGehG 1 U, wwyw
pnhipp Yuutip pCl = 3-hg L Yujwpumtp pCl = 7, wyuhlpG 2-h thnfuwpkG
prhspn YpGngpYybp 4 dhwinp: LywGwynud t 1MmInypGbph YnGghGnpughu-
Gtph Whdwgmip Guwuwnnmd t nhnpiwi Yoph Yypw hwiwpdipmpjwub Yh-
wnmd pnhsph nhpnyph dhdwgdwbnp :
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uroueuouoenre3nkrLu

ODwywjwwithwiwl wiwihgh wpdbwpw swihwijwl inuwyp hhdGywo
t Gunjwopwugnjugiwi Ypw, npntn npwbtv Gunbtglinn ptwqlln oquw-
qnpdymu t wpdwph hnGGbp yywpm Gwyng unwlnpupa mom)pp.
Ag’ + An = AgAn| (An - CI', Br, J, CN', CNS" L wyG)

bpt juwwwpymd t wpdwph hnGGtph npnymy, www npubtu wnwG-
nwpwn oquuwgnpmu t Guwwnphmdh pinphnh momjpp:

ShSPAUUL JGrRuvlubsh Nnrnecuuy s2ULULuEN

dbplmd G4tg, np wpdwpwywhwiui tnubiwyny nhnpmdGp Yu-
nwnpbihu juphh t hwdwpdtipnipywG Yhnp npnpt) L wnwbg hGnhuwanph, L
hGnhywwnp Yppuntiny:

Unw(g hGnhywwnph mphwnpiwb bnwGuyl nGh bpynt wwppbpuy:

Qpwlghg wnwehGp hwywuwp wnnopiwG bquGwyb t: Upw tmpjniGp
htwlyw)G t: Lwbh np mhupdwl hwiwpdupnipjwl Yol Gunywdph htin
2wl dbg quuGynn ymdnypp hwgbgwd t, wwyw w)G ubwnp t ynunmlh W
AgNO; wybjugltihu, L hwiwwwwnwuhiwG wihng wybjwgibihu (Gunywd-
ph punumpmpjwb dtie tnwd hnGGuph wytignyh wnywimpmbp pdnypmd
Gunywoph mobhmpniGp thnppuglmd t L wtinh t mGEGmy Gunywopwqn-
Jugnud’ monypp ynuunpymd t): Lwhupwl whnpmdG wywpnbip dwdw-
gnygh 2 wnnwuppbp wwwyhGbph Jpw wiwhqynn monyphg YopgGmd b6 1-w-
YwG Yuphy, SayhG wybjuglmd 10 wGqud wybih Gnup AgNO;-h 1 Yuphy -
onyp, Ymuhf hwiwwwwnwupuwi wGhnGh AgNO;-h YnGgtGnpughwu)ny
imdomyph 1 Juph: Shuipmul wjwpummy GG, tph Gpynt Gdm Ghpmy hwynG-
ymu t GmjG wypunnpoipymGn:

bpt whupmip wjwpnywd sk, wwyw AgNO; wybjugywd Gimpp
wnunpyonud £, huy dymup’ ny L hwijwewyp: dwdwuwp wynunpmpimG
hwjinGymu t Shw)G whnpiw6 hwdwpdipmpiwt Yhnmd:

Shwpmd dhGsl wpwpqigdwd Yo wwppbpwyp Jwpnn t Yhpueyby w)é
nhiypmy, tpp whupiwG pGpwgpmd ndywpwimd Shwgmpymbp quGymd t
Yninhn yh6wymy: OphGwy JhnGGbpG wpowph Ghinpwwnim] whwpbihu wew-
swgwd Agl-h SwuGhyGbpp \mdmphg wnunappmyd b6 J” hnGGhp L (hgpwnp-
ymd pugwuwlwd thgpny: Lhgph wnywympymGyp poyyy sh wwihu dwuGhlyGl-
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ph dhwgdwip, nph wwwwany whnpiwG uyqpoid Gunywop sh wnwow-
Gnud’ vinwigymyd t wpowph jnnhnh Yonhy omyp: Quwnhwlwpwnp wpdw-
ph hnGGkph htw wylh m wybth wnwn jonhg hnGGbp 66 Yuydmd, Agl-h
dwulhyGpp YnpgGmd 6 wnunppwd jnphn hnGGbphG L thgpwynpywd
dwuGhyGbph phyp qGwny Gywqmy t: b Ytpen nmuGg phyG w)Gpwa t thnp-
pw@my, np wmbnh t mGEGnd dwuGhyGhph Yynwgmpwghw L Gunywdph wa-
ouinmu: Ujn wwhhG mdmjpp wipnnempjwdp wyupgqymad t:

Npwbugh monyph wwpqbgdwG Ytimp bwdpGyGh hwidwpdbpmpywG
Ytwph htn wGhpwmdbywn t, np Juhmih jnnhnh imdmypp (hGh ywwn Goup (~
0,004 U) L nhwnpnuip ywumupjh mdghl pwnGdw wwpdwiGhpmyd: Lmomy-
PR wbwp t wwpmGuyh tpyihgp Yuwd pwqiwthgp YuwwnpnGGbp, npnGp Yw-
pnn 66 dwdwGwyhg ymwn (hgpwpunhty Agl-h qoip L wwpqbglby monyypn:

Wi wybth dwlpwdwul pGGwpytlp wpdwpwsunhmpjwl wié tnw-
GwyGtpp, npnGgmd hwiwpdipmpjwi Yhwmh npnydwb hwiwp Yhpunymad Gl
hGnhjwwnpGbp:

unrp pauuvdy (6rurnra YUSYUGRh
unuLusuuy UvUY)

Uyu tnuwlwimy npuybu hGnhjwwnnp Yhpunyod £ Juhnush ppoiwwmp:
ZwywnGh t, np CrO>-hnGGhpp thnjuwqnbny Ag*-hnGGtph hbwn wowewgGm
b6 wnymuwwpdhp qnyyGh Guwnywdp: Npwbugqh wyn Gunjwoph whpwwnn-
dp mtinh mGbGw mhm;uim(i hwiwpdipmpyul Ytinmy, wihpwdtyn t ym-
onypmyd mGhGw) CrO,”-hnGGbph npnpwyh YnGghGunpughw, npp Yupbh t
hwywpyby hbwnbjwy Ghpw:

blpwnptlp Guwwnphnudh pinphnh mdnypp wjwnpmy 46 wpdwph Ghn-
pwwnh wluwnwGpwjhG monypny: Lmdmjpmy pipwgnn ntwyghwGhpl ta.

Ag'+CI'= AgCly hhiGwjwG nbwyghw

2Ag" + CrO = Ag,CrO,l hwiwpdtpmpjuG Yhnh nbwyghw
LUypq=[Ag"] [CT]= 107°

LUagcro,= [AgP[CrO ] = 1,1 . 10

fwih np CrOZ hnGGhpp Ywwwpmd b6 hGphywwnnph nbp, www
Ag:,CrO-h wnymuwywpdhp Guujwdph wnuowgmup wybwp t nbnh mGhGw
wjl wwhhG, tpp pinphn hnGGhpp wdpnnempjunip whapyty b6 wjuhGpd
wmhnpiwl huniwpdtpnipjul Yhnmy: Lwbh np wyn wywhhl mom)pp hwgb-
gud t AgCl-ny.

[Ag')=[CI]= LU, o =10°tmA
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Updwph hnGGbph wju llnﬁghﬁmpwglnuj)l wnlwympjwip, npujkuqh
uljuh Ag;CrO¢-h Gunbgmip, monmpmd CrO,"-hnGGhuph YnGghGwnpwghwi

ujtiwp k thGh.
[CrO7] = LUAgcro,/ [Ag' T =1,1.10"/10"=1,1.102um /1

Unymuwlwpdhp qmjGh Gunjwoph wnwewgnip Gjwwnbtim hwdwp
CrO,>-hniGpp whwp t wnwy 0,011 uny/-hg dh phy wytih: Wn YnGghGupw-
ghwl wujwhmmui &G whnpynn (monyphl wytjwglibing Juihmsh ppodw-
wh hwglgwd mdmyph 1-2 Juphy (Ywd 0,5-1 4 5% mdomp):

Unph tnuGuyp Yhpunymi t pinphnGliph b ppodhnGiph npnpdwG hwdwp:

Uyu tnuGwyny ;h upbih npnzby jophnGtp L poquGhnGbp, npnyhtnl
upwlg wnwowgpwd Gunywdplbpp nlb6 ndtn wyunpplym hwnimpmaG,
npp luhun ndjwpuglmy t mhnpdw YpeGuljknh npnynidp:

Unph nwGwyny wluwntjhu wlwju GpuGhg, pt hGyh npnymy ¢ Yw-
nwmjmy, whinpiw6 Jwpgp htwnbywyG t. mpnpdwi Ynppuigh e YyhpgGmy GG
hunqbGhnh winh ymom)pp, pymptinhg wybjwgimy LG wpdwph wnh Momypp:

Unph tnulwyp Yhpwntijh b dhw)G yhqop L pmy; hhdpwjhG (monypGh-
pnud ( pH = 6,5- 10) whunpmdGbp Yunwpbin hwdwp: ©pywjihG shewyw)-
poud ppndwwn hnGGbpp Yapwoynul b6 bpyppndwin hnGGtph, npoGp Ag’ hnG-
Gtph htn wpwewglnud b6 ppmGtpoud motth wpowph tpyppodwwn: <hd-
GwjhG dhowywjpmy wnw9wlmi b6 wpdwph opuhn L hhnpopuhn:

Unph tnwGwyny mhmpnuiﬁhlg Juwwnwpbjhu momjphg whwp t pugu-
YwjbG wyG pnp YunhnGGbpp (Hg®, Ba®, Pb** L wyG), npnGp ppmiwnn hnG-
Gbph htw wnwewglnd 66 nddwpuymd d}l’lmgmmeﬁﬁhp, hGywbu Gul w)h
wGhnGGbpp (S*, PO, COs%, C,0,7,A50:", AsO,” L wiif), npnGp wpowph
hnGGtph htwn wnwowgimy b6 ndjupwmd shwgmpymGGbp:

UJwd hwlgquiwbpGhpp juhpun uvwhiwGuwhwymd 6 Unph tnuGwyh
Yhpwnnidp:

DALLUr YA (NAUTLUUOUGUY ) FAUVUY

Upowpwsunhwwl tnulwybGtphg wyih (wyG Yhpunmd abp nonu-
Guyuhwlwd tnwdwyp, npubn npwybu hnhiwwnnp Yhpwnynid t Fe*-p:

dnhwpnh tinuéwyp Yhpweymad t hGywbu wpdwph nuinwiyh npaydwd,
wjGwbu ty buynghGhn hnGGliph wimnnwyh npn)dwé Guuwwnwyny: Npybu
w2 luwnwlpwih ymomypGhp oquiugnpdnud b6 wpdwph Ghwpwweh L win-
Ghmdh (Yuwd Ywihnmdh) anquGhngh mom)pGtpp: SpunpdwG hwdwpdbpmp-
jw@ Ytwnh nprynuip hhiGywd t Fe**-h nnnwGhnwyhG Ynduytpuh wnwewg-
dwG Ypw. Yndupbpul mGh Jun Jupshp goy6 L npu wnwewgmip hbuntp-
Jjwdp Jupbih t Gjwnby;: <wjnGh t, np Fe** U SCN” inGGbph (njuwqnbgnp-
Jwl wpyymGpmy, Yuiuwd npulg YnGgbGwmpwughwGhphg, yuwpnn &6 wnw-
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owlw) nwppbp YnnpnhGughnG pyny YndutipuGhp (n = 1-6), npnGp pnnpl
b Ywpdhp tG: Lwh op whnpiwé hwiwpdtpmpjwb Yanmd mpymd t nn-
nwGhnh mdnyph 1 Gwphy wybigny, wuyw Fe’* hnGibph wibigniyh wuw;-
JwlGipmy junwowlw n = 1-h Yndyjtpup: Lmdmpmd pGpwgnn nhwly-
ghwGbtpa bG.

Ag' + SCN = AgSCNy hiGwluwG nhuyghw
Fe** + SCN° & FeSCN* hwiwpdbpnipjwG Yhwh nbwyghw

®npdGwjub Swlwupwphny hwuwnwndwo t, op tpp FeSCN?* hnGGhph
ynGgtGunpughwG 1monypmy hwubmy t 6,4 . 10 dm/-h, Yndwibpup qoyGp
nunGmy t wipny Ghwwmbih: Ujdd mbulhbp, pb momypmu hGyujhuhl yhinp
t thGh Fe’* hnGGuph YnGgbGupwghwl, npybugh Ymingbpuh wowgwgnidp
GYuwyh nonuGhn hnGitph waGyw6 unjbigmyh ghuypmd’ whnpiwé ufuwip
dquh 0-h: Shwpiwl hwiwpdbpmpywli Ytwnmd nonuGhn hnGGuph YnG-
ghGunpughwl pun LUagsen-h GihGh.

[Ag]=[SCN = (LU 0 = V1072 = 10%umy

bphwph hnGGbph whpwdt)n YnGghGnpughwG Juphh t hwygb) pun
iy ipuwgnjugiwiG ntwyghwjh.

K, = [FeSCN?']/ [Fe*"][SCN'] = 138
[Fe**] = [FeSCN*]/ 138 . [SCN']=6,4 . 10/ 138 . 10 = 0,046 Uni/|

0,1% poyjwwpth vhuwh nhwypmyd bhuzgunpyGhpp goyg GG wygby, np
Fe**-hnGGph ynGigbGunpughwb Yunnn t (hGb) 0,002-hg 1,6 Uny/) wmppmjpod,
npG hp dbe ﬁh;mmnui t ytpp hwyywpywd YnGghGumpughwi: Unynpwpwp
Jtpgymy t Fe''-h hudbdwwnwpwp gwop YnGghGunpughw’ ~ 0,01 dnyj, np-
wtugh hGnhyunnnph ubignuywb qnuyGp ;ponwpih Yndwihpuh qm;Gp:

Snhwpnh tquGwym] wpdwph npnymip Jumupymd t npnuyh whap-
dwl tnuGwyny Fe** hnhiwwnph Ghpywmipjudp, npubu w)luwwnwipushG
mom)p oquuuqnnpotyny NH,SCN-h hwjnGh ynGghGunpughwny ymonypp:

bph juwnwpymy t hwingbGhn hnGGbph npoynud, wuw wpgad £ wpow-
Ph wnh whnpwd wuwnwGpughG ndmyp” wyibigmyny: U.pamrh wnh sh
dwup dwjuuymd t hhdGwlywl rbwyghwih Ypw, wybigmyp Fe'* hnGGbph
Gupluwympjunip whmpymd t onguGhnh wfuwnwGpwhG monypny Shasl
imonypmd hwpnGyh Yupshp gmGwynpmy: Chipwgnn ntwyghwitpp Jupt-
1h t Gbpluwgfity htwnljw) ufutidwny.

Hal + Ag" (un]ugmymy) = AgHal} + Ag* (wybgmy)
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Ag’ (wybigmly) + SCN = AgSCN}
Fe’* +SCN ¢ FeSCN*  hwiwpdtpmpywa Yhwn

Gpt Hal” hnGp Br’ jud J' t, wujw whnpouip juwnwpyood b wowGg nplt
ndjwpnipjwl, npndhbul wnwowgwd GunwodpGbpp wybih ndjwpwimd
LG, pwl AgSCN-p: £nphn hnGGhuph npnpdwb hiwpnid Yuwlq Yw, np wnw-
qwgwd AgCl-p hwiwpdtpmpjwi Yhnhg htinn thojuwgqnbgmpywé dhe tinGh
SCN" hnGGbph htwn Jupwonbing wybth nduwpumd AgSCN-h (LU = 10%),
opG by wrwye Yptph npndw i uluwy (ghpunhnpmy).

AgCly + FeSCN** = Fe** + CI' + AgSCN|

Wu thnjuwqntigmpyniGhg fumuwthtyne hwdwp Yupth & jud AgCl-h
Guunywopp Phynphy, Jwbwy, nphg hbwnn fuwwnwpty Ag'-h wytigmyh whu-
pnudp, ual tp mpwnpouip jwwwply AgCl-h Ghpyuwmpywdp, monyphlG wnjt-
lgGtny dh pwhh ¥), 9ph htwn yJuwnlynn, opqubmyw (mdhs” piapndnpd,
wntnpupinpwdhawohl, GhnpnphGgn) L wyG, nph Gplwjnipjwdp wmbnh t m-
itGmd AgCl-h Ynwgmpmgmyi L unuwwnwgmd, nph 2Gnphhy YwGjuymd t
ytpghGhu hinfuwqnigmpynilp 9puashG puqh htin:

Smbwpnh tnwbwyp Unph tnuGwyh bwGnby mGh wounjympymGabp.
Jupbih t (Gul wGhpwdtyn' Fe**-h hhnpmhqp Yublubim hwdwp) whnpod-
Gupp Yunwpb] ppm hounjwypmd, Ba®*, Pb?*, Bi**, CO,* L wy| hnGGhpp 3G
JuwGqupmy npnydwln: Npnpiwlp nwiqupmd b6 uGnhijh wnbtpp U opuhnhy-
Gtpp, pwGh np wrwehGGtpp SCN hnGGbph htn wnwewglmy b6 Gumnywdp,
hul tpypnpnGtpp’ opuhnuglmy 4G SCN hnGGbphG: Lodnyphg wtnp b pw-
gujutl Gwl F hnGGhpp, npnGp Fe** hnGGuph htwn wnwewglnud GG wykjh
YJuymG Ynduytipu L tpuwph npuGhnwjhG ymivgbpu j;h wnwewGoud:

DUBULUP bAULVUY QUU ShSPANNT U2UNPRNRUUSBA L
hUVARYUSONrLErh UhrUNUUUR

Lunjwopwgnjugiwl nbwlyghwitph ypw hhiGywd wnhupu -
JwG npnymdGhp Ywunwpbhuy wunppiwG Gplnypp wwn hwéwju mp
ndjwpmpymbibp t wowgwglmu:

UpowpwsunhmpyuG wju bnulwymy wrnuoppiwl bplmgpl oquaw-
qnpoymd t whnptwG hwiwpdbpmpjwb Yhwop npozbym hwdwn: w bhiG-
Jwd t wnunppiwb hGnhjuwwnnpGhph Yhpwndwi Ypw: Upwlp opquibulywb
Gbpywnipbp bG, npnGg wGhnGp Yuwd YuwwhnGp pGomGuly b wnuoppydbim
Gunwoph SwitptiuhG, nph hbwnlwGpny thnfuymd & Gunywoph qomyGp: b-
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ntwwywi nbypmy wnunppdwl wwhp hwipGylimd t obwlghwih hudwp-
dtpmpjwi YwnhG:

Uyl mbuGhlp, pb hGzh ypw & hhdGwd Giwb hGnhljunnopGbph Yhpunmadp:

Glipwnpblp Juwwwpymd t Gwwnphnudp hwingblihnh whnpmd wpowph
Ghwpwwny: UhGsk hwiwpdipmpjwb YhnplG hwulbyp Gunjudpugnyugnt-
ip wbtnh t mGbimd hwingblhn hnGGbph wybgmyh Ghpyuwympjunip L
Guumjwdph sSwibiptuhG npybu wnweGuwjhl wnunppynn hnG Gunmy t hwn-
qtlhn hnGp, Guinjwapp thgpunjnpynud t pugwuwyw hgpny, imdnyphg ap-
wbu hwijwhnG dghny Na -hG.

Ag® + X AgX : X' § Na'(whln)

(AgNO;) (NaX)
QwinqbGhn hnGGbphG hwiwpdbp pwGwympywdp Ag’ hnGhbp wytpug-
Gbjhu, bpp monypnd sjw ny Ag', ny ty hwinqhGpn hnGGph wybigmy,
Guwnywopn thgpwpwihymu t (hgntijwpulwé Ytn).

AgX : X +Ag'=2AgX|,
nphg htnn wybjwgywd AgNO;-h wGGyw6 wybkigmyp Gunwdpp hg-
punjnpmu b npuywG.
AgX + Ag'=AgX:Ag':NO; (yhlny)
(AgNO»)
U)dd wmbulibGp pb hG; wntnh YymGhGw, tph wju wmhnpmdp Junnwmih
wrnunppmiwghG hinhywinnph GhpYwjnipjudp:
UnunppmiwjhG hGohYunnnpfibpp wmwpptp mdh opqubGuywG ppaiGhp
(Ywd hjniptp) &G, npnGp epuyhG pidmypnul dwuwdp nhungymy GG epwdtGh
hnfh L hGnhyuwwnnph wahnGh.

Hind & H +Ind

Ind’-p plnmGuwy t Ag'-h htn wnwpwgGhm qmGuynp wrunppodw;hG

dhwgmp)mf: Gpb npwbiu hinhjwwnnp wybtjugywd t pymnpbugthb, wuw
AgX:Ag': NO;y +Ind o AgX:Ag':Ind + NOy
(ntnGulywbuyg) (Jwprwuqnt) )

Muwpq t, np hGghijwwnph wihnGh wnunppmip Guanywoph Ypw wbnh
ymGuGw hudwpdbpnipywG Yuwnhg htwnn, bpp Gunywdph Ypw wnuoppywd
6 Ag'-hnGGbp: <blg wyn Yhwnmy b mbnh YmGkGw Gunfwdph JwpgugqnyG
nunGuip, np b Juqnupuph whuopiwé wjwpnp: Lijwnh mGEkGugny, op
$imnpbugbhGp 2w payy ppm t (K ~ 10°%), imonypnud hGnhywwnnph wiGhnGh
puwyjuwpwp YnlghGwpughwi wuwbnybtym hwiwp Shewywjph pH-p wbnp t
thGh 7-10 whpmypmui:
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bpt himnpbugbhGh hinfuwpbG Yhpwnyh nhpinpdimnpbugbht, npp hw-
dtiwwnwpwp wibth mdtin ppm t, Showywjph ppympjmbp Jupnn t {hGly
uhGlL pH = 4, huy mbwnpwppodpimnpbugbhG (knqhG) hpwabihu' pH = 2: Uw
Gwlwymd t, np momyph pH-p whwp b juwpguninply wyGwybu, np hGnhjw-
wnnph nhungdwl hwjwuwpwyynmpjoilp nbnuywpdjwd thGh nbwh miw-
Yw( duh qnympjwl Ynndp:

UnunppmiwhG hGnhjwwnnpGhph Yhpunduwiip whupdwé hwenn wpn-
JntGpGbp unwGwim hwiwp Gunywopp L highjwwnnpp whwp t pwyjwpuw-
nhG npnwhh wwhwGeGtph:

UGhpwdbyw t, np Guinyjwdpp mGhGw Wkd dwitiptu: UwuGhyGhph qm-
dwpwyhl dbd dwybpbu mGG Yninhn jmom;pltpp, nmuw hwiwp t ywplop t,
np nbwyghw)h wpquuhpp ping Ywuwdp 1hGh Yninhn ghéwymd:

Lunyuopp Gl whwp ¢ pujwpwp swihny wimp wnunpph (whh) hp
hnGGLphG, huy nu pGnpn t winpd GunywopGtphG:

hnhyuunnph pipmy hwlnbu Gynn GiplwGympp whnp b winp wwh-
yh npwbiu hwhwhnG: Uyn pGpuwgpmu Gbpyh wlhnlp wnunppywd YwwhnGh
htwn wnwewglmu t ndwpwinid wn, puyg wibwhuh Mot hmpjunip, np ipk
wyn hnGGbpp |hGhG (ndnypnd Gunywop stp wnwewbw:

uroueh vhsSrush LOFONF3PH ShSIh
UUSUSNMIT Unrh baodvudund

Unph tqwlwyny wyfuwnbthu opwbe wtiwnmwbpujhG ntdnyp og-
nwgnpoymy t AgNO;-h jmémjpp, hulj hGnhywwnnpp K;CrO.-G t:

Unynpwpwp wyuwwmpwunmd 66 wpdwph Ghwopwwh 0,05 U momyp:
UGashowlw Gnptb Yrndwdphg §2qphw YnGghGunpurghwjh ndmyp wwwnpwu-
wbm hwdwp Ywpbih © oqunugnpoby Ybpwpniptinugywd L 200-300°C-md
mpugyud wpbwwpunn: Uwiw)l GujupGnpmd G wywwnpwuinby dnnwynp
YnGgiGnpwghw mbbgny jmonyp, wwyw vnwinupnh oqgimpyuip nnnty
whwnpp (Gopiwimpimbp): AgNO;-h dn)-hwdwpdbpp bwjwuwp t dnjwjhG
quGqywdhG' 169,89 q: AgNO;-h ymonyph mhwnpp hwunwwbm hwdwp np-
whu wnwinupn oquuugnpdymy t Ywihmsh Ywd Guwwphmdh piphnp:
Lwwnphmiéh pinphnp Jbpwpjniptinugiwdp (whwybu dwppmd GG fuwn-
GmpnGhphg b ynpuagimd 500-600°C-md: Lwwphnuth pirphnh dng-hwdwpdt-
pp hwjwuwp t dnjw)hG quGgywdha: 1 0,05 L NaCl-h ymomp ujunnpuu-
wnbim hwiwp whwnp t Ynty 58,45 . 0,05 = 2,9225 q wn: Unyjwopp thntuw-
npmy 66 1 |-ng ywiniwG Yopwjh ke, mémd pnpwd enmd, GwupwgGod
dhGsk Ghop L puwy fmwnGmd: Npubu hGghjwwnnp Yhpuemy 46 juihnuih ppn-
dwwh 5%-ng (Yuwd hughgwd) momypp:
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Lwbh np wpdwph Ghwpuwnh mdmyph npnpp dwdwbwyh ppugpmd
infuym t, wGhpwdtizm t w)b dwiwlwy wn dwdwlwy unngt:

®npdh phpwgpn Shupdwi Ynpuwjh dhe whybtwnny 1gtmy GG
25,00 iy NaCl-h jmomp, wybjuglmy b6 fuyhnudh ppotwnh 0,5-1 & 5%-ng
momyp: Aymptiwnh dkg |gdmy LG wpdwph Ghinpwwmh mom;)pp L ny ko pw-
dhGGbpny wytpugimy Guwwnphmdh pinphnh imdnyphl, witG dh pwdhG w-
YJhjwgflitimg htvmn mdtn punhwhwpbiny Ynjpwynd bnwd monypp: Shunpni-
up JwpmGulymd 66 wyGpwl dwiwGwl, GhG;w wpdwph Ghnpwwh Ybpehl
Ywphihg 1monyph ntinhG gnyGp hinfudh ywpdhp wnuonpmpjwé (wowewGw
Ag,CrO4-h Gumnjwop): Ghyn whwnpmdGhpp YpYmd b6 2-3 whqud, Jtpg-
Gm ShohG dwhuup L Juunwpmy hw)jwpyGepp:

Mng t hhpty, np wpdwpwywhwywl tnuwiwym wlewwmbtihu nhn-
pnudG wyjwpnbimg htunn mom pGhpp wihpwdbyn t hwywpb; hwwnly
upjuymy (punhby sh Ywpbkjh, htnwgquimi Ag —p YypwiulqGlym hwdwp):

LLALrPRVELP NLNCNAMT UNCrk BAULUUNY

Wu npnpdwl wmbluGhyw6 nyGyny sh wmwppbpymyd AgNO;-h imdnyph
GnpiwmpymGp npnytim wbluGhywjhg: Swpphpmpymbp JujwGmd t Gpw-
Gnud, np wyu npnpdwG dwdwGwly bwjynbGh t wpowph Ghnpuwwnh ymonyph
GopiwimpimGp, wihwjin t pinphnh YnbghGinpughwi:

<bwmwqnuiynn ymoémyphg whutnm| Yupglmu GG 25,00 ¥y, thnjumnpmy
whwpdwi Ynjpwjh dbg, wybjwglinud Juihnuth ppndwwmh 0,5-1 W) 5% -ng ym-
omyp L jwwwpnd whwnpardp Yepp Guwpugpiud dlmy): UplvwwmwbGph htn
Juupwo yyntu hwpgbpp dwlpudwub pGGwpyyhy 46 Unph tnuwyh dwuhG
lunubiyhu:

unvhnrun nNrUVAA LNMNONF3PH ShSHh
Aaususnrunr

bmbwpnh juwd popuGwswhwljw inwwyny wpdwph L hwinghGGh-
ph npnymidp hpdGywd t htnljwg nbwlyghuyh Ypus.

Ag’ + SCN = AgSCN|

<hiGwywi wfuwmwlpwihl monypGhpp AgNO;s-h L NHSCN-h jm-
omypGpt LG:

NH,SCN-h w2juwnwGpuijhG iawdmjph whnpp bwunwnnd 66 AgNOs-
ny, npubu hGnhjuwwnnp YbpgGmy b6 bpywph winGhordwlwl wwnbnh(hp)
hwqligwd imdompp:
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hGnhywwnaph gnpdnnmpymip L npnpdwi wwydwGGhpp Swipwdwub
pGGwpygwd 6 dnhwpnh tnwlwy pwdGma:

®npdh pGpwgpp Mhynony Jipgimd LG 25,00 &) AgNO;-h
hwpnlh YnGgtGnpmghwyny monyp, thnhuwunpmui GG whopiwG Ynpwjh
dhe, wnjbpuglimyd 2-3 ¥ hGnhjwwnph monyp, pnpwd onny Gnupwuglimy
UhGyl ~ 100 ¥ L nhwpmd pymplwnh dhe 1gwd winGhmsh nmonwGhnh ym-
ompny: WinGhmdh mopuGhnh jnipupwGyymp pwdhG wybjuglbmg htun
imonypp mdqhG fuwnimd tG: Shupmdp JwpmGulyned 66 wyGpwl, Shal
imonypmd  bwpnGyh swlhtinwgnn fupdhp gqnyG: Gyqphw  whnpoud
ypYGmy b6 2-3 wGqwy b hwjwpyGhph hwdwp yepglind b6 winGhnush nn-

nuGhnh mom)ph dhehG dwhuup:

<ULNYBUhIUErR ANULUUOUGLL NANCARUD
(DNLLNrY R BUUVUY)

k9 83 —-mud gm)g t npyty, np nnpuwywthwiwb tpuGwyny Yunpkh t n-
pn2btp oy dhwj)G wpdwp, w) Gwl hwngbbhnGiph wnbp: UwlGpuwdwul
pGGwplyyt) t bwjwqtGhnGbph npnp)dwi dhpnnhywd, hGnhywwnnph qnpon-
nmpjnp, npn)dwG wwjdwGGhpp:

£nphnGbph npnynuip; UGwihqynn 1mom)phg whwbtnny YtpgGmd LG
25,00 ¥ vhnjuwnpmd wmhnpdw6 Ynjpwjh dbe, wybtjuwgimd b6 wpdwph Ghw-
puwwnh mhnpwd mdmyp wybignyny (GGpwunptGp 40dy), (wy puhwhwpmy
b6, wykjwglmy dh pwih ¥ nbnpupppwoluwdhb Yun GhonpnpbGqn, 2-3u;
hGnhywwnph momyp L wnwlg Gunwopp phynptynt AgNO;-h unjbigmyp
whunpmy 4G NH,SCN-h wpfuwnnwpuyhG ymonypny dhab yopghG Yuphihg
imomjpmu hwjwnGyh updhp GpuwGq: Shupnuip YphGmd GG Lu 2-3 wGgud L
pun dhohG dwhuuh npnymd GG AgNOs-h wybigmyp: Uybjuggwd pwGwihg
hw(tiny wpdwph Ghwnpwwunh wbkigntyp, npnymd GG pinphnh ypw dwhiujwod
owjuyp L uinwpmd &6 hwyqwpyGepp:

PpndhnGbph L jonhnGaph npnynuip Yunnwpymud b Gmy6é dlny, dhwé pb
wju nbujpmd opqubwfwb ndhy wybpuglitym wihpwdtynmpymb ;yw, n-
pnyhtanb AgBr-h L Agl-h motjhmpjmGp thopp t AgSCN-h mdtihnpmGhg
L qipmnhnpiwG JuwGq sjw:

urouehb NCACAMIT QUUUINM USSRV

Manwlwywhwimb mhwopiw tpuGwyny Juwwpmy GG wpdwph hw-
dwémpwoph wlwihq: dwiwdnydwdph 6hpwn Yynmjwopn (~ 0,5 q) mnuyn-
nnwd LG pwdwyh 4Gy, wybjuglnud GG 10-15 ¢ 1 : 1 Goupwgud wqonunwmG
ppmt L pwdwlp widhpwwbu dwolymd &G dudwgmjgh wuywyhny: Lmodwb
hwiwp wihpwdbywn t ybpgGty pinphy hn6 ywwpmGwynn wgnunujwb ppnt.
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bwjwnwy piypmyd wpdwph dh dwup YGuwmh AgCl-h wbupny: Uynjwopp
1nidtiimg htwn tnglmyd 46 wyGpwb, dhGyu wgnunp opuhnGbpp wipnnenp-
Jwip htinwGwG: Uqnnh opuhnGbph GepYwympimGp wipnypuwmptih b hwi-
nhuwGwiny mdtn opuhnhy, npulp Jupnn GG opuhnuglt) nnqwGhnh dh dw-
up L hwGqbglby ufuwy wpymGpGhph: Ugnwnh opupnltpp htnwgGhinig htiunn
(wju gnponnmpmbp Ynyymu t nhGhnpugnid) momjpp thafuwnpnid GG 100
¥ mwpnympywi ywhdw ynpwyh dee, pudwyh wywwmbpp juGunipny Yw-
Gnud b6, monypp \hnfuwnpnid Ynpwjh dh9, pnpwd epny Gnupwglnui dhayl
Ghyp U ©wy hwnmd: Mpybnny Ynjpwghg yopgmd GG 25,00 U ymomgp,
Ympuwnpmd whwpdwG Ynjpwih dbe, wybjuglmd b6 hGnhYwwnph 2 ) m-
onyp L winGhmih nnnwipnh momjpny mhunpmy, vhGsh hwynbGyh puhw-
hwpbijhu jwGbtnwgnn nunGwywpdihp gmGuynpnui: Shopmip GmG dLny
yplyomu &6 1-2 whqwd, hwipGyGnn pytphg Yyhpgamy bl ShehG dwhuup L
huiymy b6 wpowph wnynuwghl wWupmGuympiniGp whwihqyng Gunynud
htwlyw) puGwdlny.

% Ag =NNHSCN . VNHSCN . &45.4/q . 10

npuwtin’ NNascN — winGhnuih nanwhnh jmdmyph GnpdwimpymGa t,

VNHsoN — mhunpdw( ypw Swhuugwd winGhmih nouGhngh nmedomph

dwjuyp i-ny,

< — wpdwph unj-hwdwpdtpp,

q — wGwihgh hwiwp yepgqwd Gimzh YPmjwdpp, q:

LmyG dLny Yupbih t opnpt) wpdwph wwpmGwympjmbp YhGndwupw-
Yblmu:

UGugmnhy iptnph ypw yipgGmd GG Ynywdp (~1 @), dwuuytGp
Jupunmd, thnjpwnpmd b6 phihwiwG puwdwiyh dbe, momy 5-10 4y 1 : 1 Gnu-
pwgjwd wqmawfwl ppymd, wibpuwdbymmpjwl phiwypmd nwpwglimi bG6:
dunpublp wigmbwlwnig hbnn mdm)pp hapjuwnpmd GG mhnpdwé Yng-
pwjh Ube, ghjnynhnp L pwdwyp huGwipny Ywlimy GG, jpidm)pp thnjuwnpod
whnpiwd ynjpugh dbe: FhGhnpugiwb L inpdh htnwqu pGpwugpp Gm)Ga
t, hG; op hwiwdnywoph whwihqh nbwpmd tp, Shw6 w)G nmwpphpnipjwdp,
np piGhnpugnuihg htinn uinwigywd imomjpp dhwlqunihg mhnpmy tG:

ULNeBLLErh Urousu2ueody iy NrNCArD
UrUnNrespNy hUrhQUSNrLErh LENYUSNMISUUR

UnunppghnG hGnhywwnnpGuph gopdonmpjut htw Yuwupjwd hwpgbpp
paGwnpYyyty LG Yuploud (t985): Fpw hwidwn b wyuwntin Yptpygh shwy thnpdh
ijwpuqpmpymbp:

®npdh pGpwgpp NaCl juwd KCl wpwpnGwynn monyphg whwb-
wnny YbpgGmd bd 25,00 U1 imonyp L hnjuwnpod nhnpiwa Yoppwjh dhe, w-
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Yhjuglmy bl dnnwynpwwbu Gny6é dSwjwiny pnpwd emp b 3-5 Yuph
0,5%-ng pmnptugthGh monyp: Uwnwmgdwd Yulw; momypp whplnhun
fuwunGtiny whnpmyd GG wpdwph Ghnpwnh wluwwnwGpuwjhG monipny
dhGsL Gunjwopp Ghpyygh Jwprnw-Ywpdhp qmyGny: Ghywm nhnpmiltpp
ypy6md b6 Lu 2-3 wGqu, inn pytuphg dhohG tpgltiny Yuwwmwpmd ki
hwzquplyGtpp:

UGhpwdtyw t bhyb), np npujtu hGnhjwwnp ponpbiugthGp oquawgnp-
otihu dhounjuypp wtnnp t (hGh stiqnp Yud poyy hhdpwyhG (pH = 6,5-10):
Shupynn ymdnypp wibnp t wwhwwl) wpkh Gwrwqu)pGhph mnnuiyh wq-
nigmpjmbhg: dbpohGltipghu wqnigmpjuwip hnhjwwnnp wnunppwd wpow-
Ph hwnghGhnGbpp puwjpwjynud &G, nph htnlwGpny Yupdhp Gunyjwdpp w-
pwgq gopwimy L ulanGmd t:

Wyu nuGwym| ppmihnGtp, janhnGep b nnpuGhnGhp npoytihu npuybu
hGnhlwwnnp oqumwgnpdnud GG tnqhGp, npG hp gmyGp hofumy b Jupnugqm;-
ihg Jupipw-twimywljugm)Gh: Uyu hinhjunnpny wtuwnbihu npaopnd-
Gtpp hGwpwynp t hpwlwGugGhy ny dhw)l stqnp, wyk ppywjhG dhewyw)-
nmy (pH = 2): bph \monypp shqnp t, wyG dh thopp ppytglinui GG pugw-
luwppyny:

LLACrPIVELP UBrunirh2UoULUL NrNCNRT

Epyyw kG uGnhyh moynn wnbiph (ghwGhn, pinphn, noqwuthn L wyG) d6o
twup YodupbtpuwghG pamjph ShwgmpmbGlp 66 U sunhwqubg phy GG nhung-
ymu: LiwG wlhnGibph nponymip Juwwpymy kL pun htinbyw; rtiwyghwjh.

Hg™ + 2An" = HgAnm,

Npybu wluwwmwGpuihG ponp oquuugopdynd £ Hg(NOs),-h 0,170 -
momypp: UGnhyh wnbpp pmGuinp tiG, npuwGg hine wluwwnbihu wewmp t
qqm)7 1hG:

UGnhyh Ghinpwnny whnpnuwip jwiGnpt6 Yhpunymd t pwywG L mbju-
GhywYywl eptipmyd pnphn hnGGtpp npnptim hwdwp: Uju tnulwyp budk-
dwwnwd wpdbwpwsunhwuwGh htivn mGh wiG wnwybympymGp, np mhnpmip
Juphih b uwnwpt) ppm Showywipmy, npnydwl mnnuyh tnuiwy t L sh
oquuqnpoymui wpdwph pwllwpdtp wpbuywpwn:

£2nphn hnGGupp stpymphGhwpwnnh monypny whwnpbihu mompmu
Jupnn b6 wnwewGwy wwppbp YnduybpuGlp. HgCl', HgCly, HgCly, HgCL™:
Upwlghg wibGwywymbp HgCl-G t, npw hwiwp b nbwighwG qpymd t
htinlyw) hwyjwuwpdwdp.

Hg* + 2CI' = HgCl,
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Npwtu hinh{jwwnnp oquugnpdmd GG Guwwphmiéh Ghwpnwpmuhn
Na,[Fe(CN)sNO), npp Hg?* hnGGhuph htwn qnjuglGmd t uughnwly Guujwop,
yws nhPbGhwppwgne

NH - NHC H,
o=c<
N =NC,H,

npp whinpiwl hwiwpdtpmpjul Ynmy ng" hnGGtph htin wnwowglGm t
unq Juwynyun gnyyGh inonyp (Qud Gunywdp): dupghGhu Yhpwenidp wyikih
hwpdwp t: ShpmuGbp yunwpbihu momjph ppympjniGp whwp t thGh pH
= 1,5-2-h vwhdwGGEpmy, uGnhyh wnh hhnpnjhqp YuGlubm hwiwp: Uhgw-
Jujpp untindmy GG ptdmjphi HNO; wybjuglbiny:

Hg(NO;),-h wluwwnwGpwjhl jnidnypp ywnpwuwmbtim hwiwp wbhu-

Gpywywd Yrtnph Ypw YPomi GG 17 ¢ Hg(NO;), - 0,5H,0, Ynywdpp thn-
fuunpmyd GG 1 | mwpnnmpjudp jwdwG Ympwjh dbe, wybjugimyi 25 Wt -
Juhw wgnunujwi ppmt L dh phy emp: UnG wipnnompjwip mdjbimg htnn
imdmypp 9pny GnupugGmu bG Whbyk Ghyp b qwy fuwnlmyd: Lmdm)ph Gop-
dwimpmip hwunwumy 4G NaCl-h 0,1 ‘U vinwinumn mompnd: Linphny-
Ghph npnynuip L HE(NOs);-h imomph wmhnph hwumwanmip juwwpymy t
GmjG 4Lny:

®nndh p6puwgpp Wwhqinn pnphnh 100 i shqnp imdnyphl w-
Yhuglimd GG 44) 0,2 U wognmunwlwl ppm, 5-10 Lwph nhdphGhijwppwqnbh
1%-ng uyhpnwjhG monyp L luwnlmpnp mhnpmd uGnhyh wnh wluw-
wnwlpuyhG monypny uvhG)lk Yuwwmw-Swinywhwymb gqmyGh bplugp:
LmyG duny inhnpmiGlp jumwpmd b6 L 2-3 wiqud L pum thehG dwjuuh
Juwwwpmd hwgwpyGbpp:

bnwiwyp whnwbh t Guwl ppeihnGtpp npozbim hwdwp, vwiwiG wiu
nbupmy monyph ppympmGp wbtwp t 1hGh 0,15-0,2 L:
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UNUMLELUNLVUQUONME3NML

Puqiwphy dbnwnGph hnGGbp (Gwb dh wpp wGhnGGtp) npnymy b6
whwptiny w)Guhuh ntiwqblwnGtpny, npnGp ppwig htwnn wnwowglmd LG
Ynduytpuwyhl dhwgmpimGhitp: Shnpwywhwijui wwhgmd Yhpunybim
hwiwp Yndupbpuwgnyugiwb nhiwlghwb wbwp t ppwGw wpwq, unbjuhn-
dtinphly L pwlwywugtu ShGsL Ybpy:

UGopquilwluwl nbwgliGubibpp npujtiu YndwybpuwgnjuglnonGbp wpn-
nuwywthwiwi wiwhgmd Yhpumhy 66 ww yunmg: Snghy hnGGeph whun-
pnudp Hg?*-h imomypny hwijwnGh t 1834 puwlubhg, ghwGhn hrGGbph wpdw-
pwywthwywl npnymdp’ 1851 pywjwlhg L wyiG: Uwlw)l wGuyhnhy ph-
vhwjmy Yndubpuwgnyugiwb nbwlyghwlbph Yhpwnmdp vhd qupqugmu
wyptg L vnwguy mbuwljwld hhdGwynpmd huwnnmy nwup YnnpnhGughnG
dhwgmpmGGbph’ jubjuwnGbph bwjnGugnpdmdhg htinn: bpuwnmughG wp-
wh dhwgmpmG t vnwgymy, Gpp GnjG {hquGnh Gpym L wytith nnGnpwjhG
judptp YnnpnhGwgymy hi dtwnwnh hnGh Ynndhg: Gpb YnnpnhGuwghnG Ywwh
wnwowgiwlp Jwubwigmy t kipym noiopwjhG fumdp wwpotGwyng ubw-
mnwqgnyuglnng (hqulrn, wujw wyi Ynsimd b phabGunwnwhG, tptip nninpw-
JhG judpny thqulnp' wphnbGuunnwghG L wyG:

h wmwppipmpymG wuwpq Yoy bpuwgnjugiwl nhwighwbbph, npnGp
Ywpnn b6 pGpwGwy showlywg shwgmpymGGtph wnwowgiwip, jubjwunw-
qnyugiwl nbwyghwGbpG pGpwimd 46 qnpoGwyuiGnpht dkY thoyny: Liw-
(wwhy phwgblwnGbph pwuhG b6 Wwnjwimy YnduybpunGltp pnhwémp
wljwdp dhwgmpymGGhpp, npnp wlwihwnhy phihwymd L hwnfuugtu
wnhunpwywhwiwG wGwihgqod dmunp GG qnpdty 2Gnphhy Cwpgtlpwhuh L
wwibtpnGtph w)luwnwlpitph: Upwlp puqiwwihGupuqiwyuppniwp-
pmGhp b6 Ywyd npwGg wntpp, npnlip dbununlitph hnGGtph htwn wnwugwg-
Gmd GG JuiymG Ynduytpubhp:

Uju pwpph dshwgmpimGGtphg pwjl Yhpwnmy niGh tphtGnhwshGunbwn-
pwpwgwhiwppmb (E1SL).

HOOC-CH, CH,-COOH
™\ N.CH,CH,-N <

HOOC-CH, / CH,-COOH

Uw pmj; pwnwhhiG ppm t. pK, = 2,0; pK; = 2,67; pK; = 6,16; pKy =
10.26:

QwunmwinmGibph wju wpdbplhpp gnyyg b6 wunhu, np wnwehG bpynt
wuwmhGwGh nhungmip wtnh t mGhkGnu Jwwn wybth htgn, pul htwnwqu nh-
ungmiGbpp:
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EASL-G L hwiwwwwnwuhuwb hnGGpp gpujuimpypui dbe hmdl;x;u
ibpywjwugynd GG YpSww duny htwmlyuy Yhpy. HY, H Y H Y, HY L Y*:
Uju hnGGLphg Wbyl m dtyh wniwynipymbp imontjpnid wjwjiwlGwynpgud t
pH-h wpdtpGbpny. hwitdwwmwpwp mdtn ppywjhi dhewywypmd' pH =
0~2,5 (3,0) qtpwiynnud t HyY™ 8up, pH = 3,0-6,0° H,Y* 4alp, pH = 6-10 qb-
pulnnu £ HY* &Lp L dhwyG pH > 10-hg qpwlynnn dlp Y* Yh6wyG t: HY
alp opmd phy t moymd, wyn wwwndwnny yhpunmd GG npu Gpyntnuiyu-
fwd Guwunphmiwlw6 wnp' Na,H,Y - 2H,0, npp Yngynud & YnduptipunG I11 :

YUndwtpunf IIl-p, djntu YnduypunGGeph Giwd, puqiwphy dtwnwnGh-
ph YwwhnGGhph htn wpwowgGmy b wiqm)G Jud wiiywl qnGuwynmjwd
imdtih GhpynduytpuwhG (fubpuwnwihG) wntp: Usnwnh uwmbnip winw-
Juwmu t Ywppopuly fudptph opwohGbGtphl, dhwdwiwlwy YnnpnhGughnb
Juwwny Juuptny wqnunh wnndGnph htin.

HOOCC CH,COON
PN N—CH, cH g CH2C00Na oy —o

NaOOCCH, CHLOOH
0OCCH, CH,COONa
- N—CH, CH ;=N
== 1 NaooceH,” S T CH,c00 A
" Me

UGYywh dhwmwnh YwwhnGh (hgphg, YndutipuitpG wowewlimy bl
Me™: E2SL = 1: 1 dnjwyhG hwpwpbpmpjwip: Unwowgwd Yuduybpuwh
dhwgmpymGGbpp 2un uymG G6: Unjmuwy 2-md plpdwd 6 wyn Ynduy-
1tpultiphg dh pwGhuh yumiimpjw6 hwunwnmGibpp:

Ugynuwly 2.

UtinwnGuph YnduytipuGtph juymmpywmG hwunmwnnGGepp
(20°C, hnGwlwi mdp 0,1)

Guunhnlp | 1g Kyey YGuwunhnGp | 1gKyey Yuunhnlp | 1gKmey
Ag' 732 Mn?* 13,79 Zn* 16,50
se 8,63 Fe* 14,33 Ni¥" | 18,62
Mg* 8,69 A" 16,13 Cu* | 18,80
Ca* 10,70 cd 16,46 Fe** | 25,10
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UndwjjtpunGwsunhmpywub mpnpiwl Ynptipp yunmgmd b6 wpughuGh-
ph wnwGgph Ypw YupgGbimy UmiwibipunG I -h ymomyph dwhiudwd dwyw-
(8 huy opphGwwnGbph wowGgph Yypw pMe = - Ig[Me™]: “Lwlunpn pwdhGG-
poud pGGwpYyyYwd mhnpdwG Yoptiph Giw6 wju phypmd nupdjwy hwdwpdb-
pmpjul Yhwmd GHuwmnynd t pMe-h pnhypwdél thnthntumpymG, npp Ywiu-
Ywd Yndyjbpup juymGmpjmGhg L dhewywjph pH-hg Ywpnn t pGngpyty
pMe-h wwpptip wnhpmypGlp: C6n npmy, nppwl fuynil t wnwgwgwd Yndy-
tbpup, wjGpwl wybih ppmt (momypmd Juplith t juwnwpb) nhnpmdp: Uju-
whu, bpb mompmd C°y, = 0,1 Uny/], wujw mhmpdwﬁ + 0,1% ujuwp sh qb-
pwquxﬁgqnui tpb whwpnuiGhpp Ywwnwpymd &6 Mg?*-h hwiwp pH = 8,5-13,
huy Fe**-h hunfwp pH = 1-9,5 whpnt jpma:

Shnpdw6 Jbpedwytinp npnybim hwdwp jhpuwnmd 46 pGnhjunnnpGtp:
Upw(p dhd dwuwdp opquGwlwb Gympbp GG, npnGp wnhnpnn dtunwnh
hnGGGph htitn wnwpwglmy L6 gmGwynp Ynduy tipulitp:

Wyu bnwGwyh hGnhywnnpltpp pGnhwlmp winiGny Ynyynud b6 dhww-
nwuhinhyunanpGp: bGnhjwwnph nipmd hwinbu gum bhwdwp dhnw-
nwhinhjwwnnph Yyndwtpup qoiyGp whiwnp b wwpptp hGh hGnhyunnph qoyy-
Ghg, hul YuymbimpymGp thopp 1h6h Gm)6 dbwmwnh YnduybpunGh hbwn wow-
swgnwd Ynuyikpuh Juwymbmpmbhg: UhwmwnwhinhjuwmnpGbpp pwdwG-
ynid b6 Gpym fudph: UnwohG fudph dbe Gy b6 wyG hGnhjwwmnpbbpp, n-
pnGp gmyG smGhG, huy dtwnwn hnGGtpp htitn wnwewgpwd YnduytipuGtph
qm)Gp wylpwaG ty hGwnkGuhy st: UpwGghg kG nnnwGhn hnGGbpp, npnip Fe''-
b htwn wnwowglimy 6 Jupy !llp qnijGh Ynduy tpultp, vwihghjwppmb L uny-
$nuwhghjwppmG, npnGp Fe'* hnGGhph htwn wnwewgGmd 4G Yupdpuw-tw-
GmzwlwqnijG YonduybpulGbp b wjl: Upwlp vwhiwGuihwy pyny 4G L fu-
pnn bG npwbu hGnhhwwnp oqunuugnpdyty npnywyh hnGGhp whunpbihu m-
pwbwwnmy hGnhjunnnpbbtp La):

bnypnpng fudph dhe dwnlmy L6 opquGwywb Ghplywniptpp, npnlp ni-
itG nhunn wpnwhwynwd Jun qm)G: Gnfjuwgntiny dtinwnh hoGGtph htin
upwlp wnwowglimd bG YnduybpuwjhG dhwgmpymGGtp, npnGg qmyGp
wwpptip t hGghjwwnph quuyGhg: Uyu hGnhjwwapGbpp hwdwiu Ynpimd b6
dbnwnuppniwjhG hanhywwnnplbp:

Uybtph quy6 hdwuwnny ybpehGGaphu dhe Ywpbih t judpunnpty Sbhunu-
nuhnhijwwmnpGhph tpynt fudptpd ty:

Utnwnuwppniwjhi hGnhyuwwnnpGipp puqiwnbiunwn thqubnitp G6 L
dbuwnGbph hnGGeph htwn wowewglGmy kG, npubu Ywend, JaY jubpwn 1:1
unjwjhG hwpwpbpmpjwudp:

hinhywwnph gmjGh thothnfunpjwG whpmypp, ywhijwd pMe-hg, npnp-
ymd t pMe = pKjgy © t 1 pwlwélny (hwitdwnty ppjw-hhiGw)hG hGnh-
YwwnpGph htwn).npunbin  Kpey * -p hGnhywwunph Ynduybpuh nbwy Yujm-
(ntpjwl hwuwnunnmG6 t (hwgh weGhm] hnhjwnnph ypnnnGugnidp):
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UtinwnwppndwjhG hGnhywwnnph qnyGh wigiwé whpmypp plngpymy
t pMe-h tipym dhwynp: hanhyuwnnph qmjGh hnhnfumpjwG whpmjph nbnp
pMe-h uwlnnuymd npoyynd t Yndujtipuh Keg,™-h wpdtpny: Lwéh np Ytp-
ohlp uhjwd t imomjpnd pH-h wpdtiphg, www pH-h tinhntump)m(p Yuw-
pnn t wnwy phpt) gnyyGh wigdiwld wmhpmyph wknwywpd: Uknwnuppnidu-
JpG hGnhywwmnpGph Ghpuwympjuip whwpmiGbp junwpbihu whap t
ijwwnh mGbGw), np hwSwhu npwip mib6 Gwb ppyw-hhiGwjhG hGnhywwn-
ph bwnympymGGup: Npwbugh hGnhywwnnph gnyGh hnhnjumpymGp Show-
Ywjph pH-h thntinjumpywl wpnymbp 3ihGh, YndybpunGuywhwywé bnw-
Gwyny nhupmiGip juwwwptijhu Showjwjipp unynpuwpwp pmptpwijuGug-
Gnud LG, npuGny JuGlutym) momypmd pH-h Yupmy thmhnjunipjm Gp:

Npybu dbunwnwppniwjhG hGnhiwwmnpGbph Ghpywjwgnighy dwlinpw-
Gwip Ephoppnd ubk T (ppninglf uk ET -OO0) —h htin: UgnGhpy t, npp ww-
pnGuymi t - N=N - wgnjumup.

H OH
N20,S g‘._ Q
NO,

Upw6 hwdwuunwupnoG wGhnGp tph GywGwykGp Er*, www pw-
Gwdlp Ypdww Juptih t gpby NaHEr :

Uju, pGyuybu Gwl dymu dhwnwnuppniwhl hGnhjwwnpGlpp, shwdw-
dwlwy ppyw-bhiGwhG hGnhjwwnnpGbp bG: Ephoppnd ul T —h hwdwp gn-
Jjmpjwl dLbpl bG. HEr - Yupdhp, pH ~h whpnypp 0 - 6,3, HE” - Yw-
wnywn(tpyGuqm)G), pH -h whpnypp 6,3~ 11,2, Er* - qtnGwGwpGow-
qnyyf, pH -h whpnypp 2 11,2: UnwnGbph dbd dwup tphnppnd ul T-h htan
wnwowgimd t uwpdhp gniyGh Yndwbpulbp: Fpw hwiwp b w)l nputiu G-
wnwnuppniwjhG hGghjuwwmnp ogunwgnpdmd kG pH 2 7, npwntin ghpwlynmd
L hGnhYywinnph bplGugniy HEr dlp: ShupdwG YupgGwlitnmy nbwyghwi
Yupbih t GiphuwywgGh wyuugbu.

MEr + HY* = HE* + MY?*
Yupdhp bpyGwqn,Q
(Ywwnijwn)

Umptipuhnp (wopwmpwppyh winGhmiwywl wnp) apybu hGnhyw-
wnp oqunwqnpdymi t Yuyghmi hnlGupp npnpbihu.
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ShunpnuiGhpp Yunmupnd bG pH 2 12, qmyGh thathnfanpymGp updh-
nhg Yuwujnwdw Goywlugm)i:

GNUML rRUNLU2UOULU L ShSHUTUL AU UGB L

Nunuih whopmd: Ugkh pwi 25 mwppbp dtuwnGbph hnGGlp juwpb-
th t npnpty £RSL-n mnnuih wpwnpdundp dhunwnuppniwjh hinhunnph
Ghpyuwympjunip (dwglughmy, uighmy, winpnGghmd, purphmd, ufuinhmy,
wnhwnwi, ghpynGhmy, dnthprbG, dwiqué, tpjup, Ynpuyn, mpwb, b wyb):
Nunugh mhnpdwl tquwlp Yhpummd 66, tpt dkwmwnh hnfp EESL-h
htw \hnjuwgnnid &t wpwgq L hGwpwynap t whupiwG YupeGuytnp npmpby
hwiwwwunwuuwb hnhjwwnpny: Gpb mnwih mhwpmd hGwpunp st h-
nwywlwglt), wwyw wiwhqp hwdw Yuwwnwpmy b6 ubigntyh tn wmhwp-
dwl Yund nmpu dniwl quGwyitpny:

Uytgnigh bwn npnpiwG qwlwy: Uju bnuGwyny npoymd 66 w)b ju-
wnpnGGbpp, npnp £9-S£-h hbhn wnwgwgimy b6 Jwwn juymb YndupbtpuGhp,
pwjg hGwpwynp st pGupb; hwdwwywuwehowG hghjuwnnp Ywd nbhwyghwG
pipwimd t nubnun, Ywd b mhupiwé hwdwp wGhpuwdtyn pH-h wwl n-
pnynn dtwnwnh hnG6G wnwewglmy t hhnpopuhnh jwd hhiGwjhG wnbph
Guumjwop: Ujuughuh nbwpbpmd wlwihqynn mdnyphG wybjpuglmy bl
E1SL-h unwlGnupn monyp wytgmyny, wlhpwdtynmpyui nbwypmy
uwywumd b6 npny dwdwlwy L tppnppnd ul T-h Ghpuympyunip wjtigmyp
wmhunpmy b6 Juwqltqhmih vuubpupn mdntypay:

“apu SpiwG mwGwy (Yud nbnwlwihsh whepdwl tnutwy):

MGh tpym nwppbpwy: UnwehG wwppbpwih nbujpmd npnzynn hméh
1monyphG wybpuglnud b@ wwywe Jumb Swqlhghmih YnduibpunGun:
Lapwind t hofuwlwliiwG nhwlghw, wnuwewlmy t wibh Yuymd Ynduy-
lbpu L jmomp b6 wigGmy npnyynn hnGhG bwdwpdbp pwiwympjudp dwg-
itqhmuh hnGGbn, npoGp b whupmd b £9-SL-ny.

Me™ + MgY> = MeY“ ™ + Mg®
Mg® + HY* = MgY* + 2H'
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Uyuybu jwwnmwpmid GG Yuighmdp, juwwph, uGghyh L wp hpGGph n-
pnymd: GpYynopn wwppbpwyh nhwypmd npnynn hnlp uyqpmd Gunkglny
b6 ndJwpwimd dhwgnipjwl dlny: Npwybu GuntglGnn pGwnpowd b6 wyGwyhup
hnG, npp bwpdwp t YnduybpunGuwymhwliuwi whnpdwd hwiwp: UGwhqG
wyjwpnmd 46 Juwd Guajwoph dbe npnpbyny GunbtglGnn hnGp jwd by
Guunnwdpl wisuntimg htinn jprdnypaud WGwgwd npw unjkigndp:

OphGwy, $nudpww hnGibpp Gunbglmd uG MgNHPO, -h dlny,
Gunyjwdpp pwdwlmy GG monyphg, mdnd ppuh dhe L YymiutpunGww-
thwlwl whnpdwdp npoymd GG puomyp wligwd Swqlbqhmy hnGGhpp, Yl
k1 wGwihqp uptph b wjwpaby Guwndwoph pudwinuihg hbnn mdmypmuy
dGwgwd Swglibghntd hnGGbph wybigmyh YnduytpunGny wnhwnpdwdp:

©pyw-hhiGwjhG mhnpiwG tqubwy: Apnpainn dbwwn hnGh jhqnp (m-
onyphl wybjpugmd b6 £-SL wybigminy.

Me* + HY* = MY* + 2H',

nphg htwin mdnyp wlgwd opwdhG hnGGbpp whwpmd 4G hhiph
unwinupn montjpay ppyw-hhiGwhG hGnhjwwnph Gepliuwmipjwdp:

Ujdu pnynp dbwwnGbph huwdwp huwjynGh 66 npnydwG Yndupbpunbuyw-
thwljwG bnuGwylp: Lwlh np EASL-G wnwewgimt t ubjuwnbep Yw-
wnhnGGbph 4k dwuh htun, pynud t, np wjl péwmpnnuijwé nbwqbGu 3t: bpw-
Julmd wyn thnhuwuqnbgmpymGp hGwpunnp t nupdGhy pGwpanuywG Jup-
quynptiny Showywijph pH-p L 1mémphG wybpugGyny pnnwpynn nbhw-
gbGwGhp, npnfip pGupnnwpwp hofuwgnms b6 npny)dwbp fowGqupan hnG-
Gph hbwn, wowewgGtiny junhwuquig Yuymb Yaduybpultn:

L0k LVYKUUVNI UNCSNFOSBUL NLNCNRT

UuwunmwGpwihG jnednypp YndugbpunG I-p 0,1 U fwd 0,05 U 1ot-
onypa t: 0,05 L dbY thnp MmdNYp Wwwpwuwtim hwiwp Yool b6 9,3000
q wypbwwpwwn, mdmyd &G pnpwd 9pmy L GnupwgGmy ShGsk 1 | dwywy:
Uwnwgywd jmdnyph mhnpp hwunwnmd b6 juighnuh jud dwqiGtqhmdhp
wnh hwpnGh YnGgbGupughwih momypny: Npwbu hGohjwwnp oguwgnp-
omd b6 tphnppnd ul T-G L dmpbpupnp: UpwGg momjpGhpp wGlijwymG G,
npw hwidwp b hGnhjuwunnpGopp oguwgopdmy GG whin Jhéwymy: hingh-
Jwwnpp GoaupwgGhym bwdwp wyé 1 @ 200 hwpwpbpmpjudp fuwelmd GG
apLt wlwnwppbp Gymph, ophGwy, NaCl-h jud KCl-h hbw: JownGmpnp hw-
Yyuw(gh vty jwy wpnpmd b6 L wmhtnpnidhg wnwy wyn, luwnimpnhg 20-30 dq
1gmu G ymoOmyph ube:

®npdh pbpwgpp Mhubony dhpglnd bl whwihqynn gnhg wb-
pw(, np Gpw dbe wwpmGwyyh dmn 0,5 dghqpui-hwiwpdup Ca®* L Mg*,
ujuhGpG whwpdwi Yypw dSwhuuyh 0,05 L indupbpunG III-h 10 §) jmomyp:
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Jbpgywd Ginp Gnupmuglmd 46 popwd 9pm| dhGyl 100 ¥ Swyuy b wygb-
fwglmy kG 5 ¥ winGhwluhG pmdlipuwyhé jpwelimpn: Uytlwugimd L6 20-
30 dq hGnhjuwwnp, (wy fuwnGmd &G ShGsl monlh, nphg htnnn YnduybpunG
III-h imonmyypny whwpmyd Gl wlwihqynn gmpp GhG;k ghGmywpdhp qmyip
nuniw Juiw tpuiqny jwuymjpn: Shopdwb Jipgmyd YndwtipunG III-h yoi-
onypp wyihiwglimyd 46 JupmGhpm), dh;u qoyGh Ywpdpwymb bpwGgp wd-
ponempjwdp wGhbnwbw: Shinpmup YpyGmd b6 W 2-3 wlqud L puwn th-
ohG Swjuup Juwwwpmd 6 hw)ywpyGhpp: Lpp Ynywmnmpymip wpwwhw)-
wmd b6 1 | opnud wyupmGwiyon Ca?*-h L Mg®*-h Shihgpwi-bwdwpdtpGh-
poy: Uju mpunpdwdp npoyod 66 Juyghnudh L dwqGhqhnudh gmbwpp: fodb-
1m 9ph wlwihq Ywwnwptyhu dnpwyhg YapgGmu 46 100 ) 9mp L thopdp Y-
wmnwpmd Ybpp Glupuqpdud duny:

Ynduy ipunGwyunhwljwl iqubwyny Yupbih ¢ npopty ny Shw)G Yuy-
ghmih L dwqlbqhmdh plnhwGmp pwGwlyp, wil gpubig jmpwpwlyymph
wuwpn GwympjniGp: pw hwiwp Ytpp Guwpwgpywd dluny wmpnpnuiGhpt
wlbjmg htiwnn 9ph Gop pwdhGibpmyd npnymd bG Ca®"-p npwbu pGnhljunnnp
oquwgnpdtiint Umplipupmp:

Yuighmih npnydwl hudwp 25,00 § htiwnwgnnynn (monyphG wybjng-
Gmy &G NaOH-h 2 L monyphg 6-8 ¥, dmpbpupn-Gunphnush pinphn snp
lvwnGmpnhg w)Gpwb, WhGyl (momjpp GbpYyyh YwpnuqoG, nphg htann
wmpwnpmd 6 YndwbpunG -0y WhGsL mom)ph gniylp qunbw Yuuumu-dw-
imwlhwgm)G: Uwqlitiqhmih Ypw dwhiuwjwd YndwibpunGh moémph dw-
Yuwyp npnymy 4G tphoppmd ub T-ny whwnpdwG dwihuudwd Swjwihg hwbhny
Ca®*-h whnpiwG Ypw dSwiuugwd Swup:

LUrsLL L LR ILER

1. h*G; wwydwGGbph whnp b pwyjwpwph Gunfwopwgnjugiwi nbiwy-
ghw( whnpwywhwiwl wiuhqmd jhpuenybim hwdwp:

2. Qwyjwplbp L yuamgkp NH,SCN-h 0,1 U mdnypny 0,1 L AgNOs-h
wmhwnpdwG Ynpp:

3. Vunyjwdpwgnjugiwl tnuiwyny nhnpouiGhp Yunwpbihu h*Gy -
qnponGGtphg t ywhuwd whwpdw6 Yoph pohsph dudmpymbn:

4. &inphnGuph wpowpwswhwwi whnpiw6 dwdwGwly hGsh® Ypw t
hhdGywd npwbu hnhjwwnp K,CrO-h Yhpunmdp:
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5.CI'k J hnGGtp u;wpm(iwl.]mll mont)phG wybpugphy b AgNO;-h -
omyp: Unbtphg npp’ AgCl (LU ~ 107%) pb Ag) (LU = 10™%) yGuwp wnweh
htpphG: UnwehG hbpphG Guwnnny wGhnGh np® YnGgGupwghwyh nhugpnud
Yuluh Gunt) bpypnpnp, bpb bpym wihnGGhph bjwyhG YnGgbGnpughwGtpp
0,01 umA bé:

Mww. 10 iny/j —h nhuypmud:

6. Updwpp Unph tnuGwyny npnybihu hGyuhuhG® wytnp t 1hGh whwp-
dw@ Ynpp:

7. hGym*d £ YujwGnid wpdowph nopuGwywthwiw npnydwa topymp:
0p°G t wyu tnwGwyh hGohjwwepp: Goanuiwywhwywli whopmdiGepG he-
° b6 Junnwpmy ppgwhG Showywjpned:

8. hGaybu® t \hnfuymd AgCl-h swulGhyGhph thgpp pinphph 1momjpp
wpdwph Ghupuwnny wmpwphjhu: bul wpnpdw6 hwijwnwy Jwpgh nbw-
pmu”: hG® t hontitjunpwywd Yuwnp:

9. hGsh® ypw & hpiGywd wnunppghnG hGnhjunnpGiph gnponnmpm-
Gp: RG6GwpYLp nw nplk ophGwlyny:

10. £w6h® maynu wpdwp t wwpmbwymd hwdwdnywopp, tpt gpu
0,3000 g-p wgnunwljwl ppymi motymg htwin uinwgywd 1mdmjph wmhwnp-
w6 Ypw dwhuuyty t 0,1000 b NHSCN-h 23,80 ) imom)p:

Munn. 85,63%:

11. 2wbh*® gpuy BaCl, t wjwpmGulynd 250 ¥ jmonypmy, bph npw
25,00 vj-hG 40,00 §; 0,1000 U AgNO;-h 1nomyp wybjwglhimg htmn tn
whwnpiwG Ypw dwhuuyby t 0,0980 U NHSCN-h 15,00 0) jmomp:

M. 2,714 q:

12. Ubpdbph whunwhwGhy Gyniph dbe $npiwinbbhnh npnzdwl bwdwp
npw 35,0000 g-p papby b L whgwnyjwd pnpiwinthhnp epwihG quinpahGuph
htin hunjwpb; b6 500 d)-ng sunhdwl Ynppugh dhe L Gnupwgpby opmy Shash
Ghyp: Unwgywd 1odmjphg Ytpgpt) G 25,00 4 L dpwyty 0,1210 M KCN-h
30 o momypny: Chpwgh) t htwlyw nbhwlghwE.

K' + CH,0 +CN = KOCH,CN (ywihmih ghwGbhnpht)

KCN-h wybjgmip htinwglihm hwdwp wybjugpty 66 0,1000 L AgNO;-
h 40,00 iy ymdmyp.
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2CN + 2Ag" = Ag[Ag(CN:LlL

Shpnpuwinmd Ag'-h wybigmyp whwnpbm Ypw dwhugb t 0,1340 L
NH,SCN-h 16,10 v} imomp: dwyt CH,O-h mnynuuw;hG wwpniGwympymbp
Guiniymu:

Munn. 21,5%:

13. Uhwj6 BaCl, L KBr wwpmGwynn 0,2240 g Gimyp Unph inwGulny
wnhnpbthu dwhuuty £ 0,1000 ‘U AgNOs-h 41,20 ) momyp: dwpyby jmpw-
pwGyymn Shwgmpjwl wnynuw;hG wpniGwympymGp Gimymu:

Muwuwn. 32,4% BaCl; L 67,6% KBr:
14, hG*y kG YndWuybpunGGbpp L hGsh® hwdwp GG Yhpwnymy:

15. hG®y hwwinpjudp b6 odnjwd Ynduybpunbwywhmpymbmy Yh-
pwnynn hGnhyunnpGpp:

16. EDSL-h imonypp uwinpuwuwmbi b6 3,8500 q dwpptwd L ynpugyusd
Na,H,Y - 2H,0-G \motyny 9ph npnwyh dSwyjwimd L GnupwgGlymy ShGsk 1 |
{wyt) vnwugywd ymom)ph injupmpmifp, tpb ndYwd Gympp wwpmGw-
my t funGwymipjwuG 0,3% wybigml:

M. 0,0103 U

17. 24 dwiju pGpugpmd hwyjwpwd dbqp Gnupwgpty GG dhGk 2 y:
Uwnwgywd jmonyph 10 §-p pmdpbpwluwGuglitinmg htunn (pH = 10) mhuph)
bl 0,00347 U EASL-h mdompny: Swhuwty t 26,80 ¥;: bpypnpn wliqud
nupdjuy Ytpgpby GG 10 § momyp, Ca*-p Guwntgphy b6 CaC,Ofh dlmy,
Guunjwopp ppymd ndtnig hbwnn whwpty 46 EXSL-h GoryG ymonypny:
Owjuuyly k 11,60 i) imomp:

CaymGhny, np dwglhghmih Gopdw) wwpnGuynpymbp 15-300 dq L,
huy YwighmshGp' 50- 400 dq, npnyb), pb wpnynp wlwihqynn Gim6 pGYamd
t wyn whpnyph dbe:

Muwn. 322 dq Ca L 257 dq Mg:

18. 25,00 4| Gimymd wwpmGuwiynn wpowp hnGGbpp Yhpwoby b6 ghw-
Gpnwjhl Yndwjhipuh ymonyphG wytyugGhym} 0,0800 U Ni(CN)*-h 30 4.

Ni(CN)X + 2Ag" = 2[Ag(CN),] + Ni*'
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Lmom)p wGgwd Ni*-hnGGuph whnpdw ypw dwjuuyl t 0,0240 U
ENSL-h 43,70 §) jmomyp: dwpyby wpdwph hnGGhph YnGgbGunpughwt wlw-
thqynn Gimmy:

Muwn. 0,0839 U:

19. QwpwmwjhG vwwph Ginyp ywpmbwymd t 7,58% Na,0 L 9,93%
K;0: hiywhuhG® t AgNO; -h jntonyph Gopdwimpymbp, tpt 0,1500 q Giini-
2hg unwgywd K,0 -h L Na;O -h6 hwiwujwwnwuhiuG pinphnGhph gnuiwpp
wmhwpbim hwdwp Swjuuydby t 22,71 4) wjn monyphg:

Mww: 0,03005 L:

20. 90% wpdowp wwpmGwynn wpdwph ppudh Swywpwsuhwjwb w-
Gwihgh bwdwp ybpgyt) t 0,5000q Yrnywdp: hGsujhuh GopdwmpimG wtanp
t mGtGw Yunhmdh onquGhnh momjpp, nputhugh wlwihgh hwiwn wjny -
om)phg dwhauyh 50,00 Uy

M. 0,8339L:

21. 2,0000 g hwiph hwiwwwwwujuwG phihwlwd dywymihg htumn
umgyty t KCl -h L NaCl -h juwnimpn, nph 6hywm Yhop bwiwuwp t
0,25558 g-h: Uyn pinphnGphg pinp hnGp GunbgGhim: hwiwp wybjugpt; GG
35,00 v 0,1000 L AgNO;-h |monyp, nph wybkigniyp whwmpbim hwdwp
dwhuuyty t 0,92 ¥ 0,02000 KSCN -h jmomyp: dwpyt; Yuwhmih wmnynuw)jhG
wuwpm Gwlimpymbp hbumwqnunynn hwGpmad:

MNuwn. 6,36%:
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